Professional « Innovation - Efficiency

HUACHENG HYDRAULIC

MECHINERY

HOSE FITTINGS

ZHEJIANG HUACHENG HYDRAULIC MECHINERY CO.,LTD.

Add.:No.137 Jiangdong Road Diankou town Zhuji City Zhejiang, China
Tel:+86-575-87618971

Fax:+86-575-87066777

Http://www.zjshihui.com

: . ZHEJIANG HUACHENG HYDRAULIC MECHINERY CO.,LTD.
Email:admin @ zjshihui.com



o ¥
ZHEJIANG HUACHENG HYDRAULIC MECHINRY 2
Zhejiang Huacheng Hydraulic Mechinery Co.,ltd. located in Dia ' '3
which is well known as “South Hardware City” in China with amazing « nents.It’
near Xiaoshan Intl.Airport to the north and Ningbo port to the east,wil . the .
transportation,the econnomy is developing rapidly. -
We are specialized in hydraulic fittings with more than ten years ma

experience in this field.The main products we are dealing with are hydra

fittings,all kKinds of adaptors and fittings.flange.and so on.

We have a group of professional and well-educated engineers and staffs with excellent
occupational ethics,excellent occupational skills and collaborative spirits.In order to
improve the quality.We introduced and imported many advanced machine such as CNC
machine,multi-spindle automatic machine,turret lathe,electroheating tube blending
machine and many other machines from Taiwan,France,Finland,Japan etc.Now our
products are very popular in many countries such as Iran,Arab,India,Brazil,Russia and
many other countries.

“Quality-frist,Integrity—based,Customer—-foremost,Service—Best” as our mission,we
are one of the first companies who got the approval of ISO9001:2008 quality system.

We will consistently cooperate with vast customers basing on superior products and
best service and price.Warmly welcome frequent and new customers to call us or visit our

company and negotiate with us for the sincere cooperation and bright future!




H Model Index

SAE 100 AT / EM 853 95N

One Wire Braid Hose
(SAE 100 R1AT-EN 853 1SN)

P04

Two Wire Braid Hose
(SAE 100 R2AT-EN 853 2SN}

P04

H Model Index

Py e

43P Four Wire Spiral Hose
(GB/T 10544 4SP-EN 856 4SP)

P0OS

45H Four Wire Spiral Hose
(GB/T 10544 4SH-EN 856 4SH)

POS

Hose Hose Wire Spiral Hose Wire Spiral Hose
(GB/T 10544 R12-SAE 100 R12-EN 856 R12) (GB/T 10544 R13-SAE 100 R13-EN 856 R13)
P06 POB
Wire Spiral Hose Two Polyster Braid Hose
(GB/T 10544 R15-SAE 100 R15) (SAE 100 R7-EN 855 R7)
PO7 Po7
One Wire Braid-Textile Cover Hose ﬁ
(SAE 100 R&) PTFE Hose
P08 PO8
00110 00110-A 00200 00210 03310 00400
PO P09 P10 P10 P11 P11
T 1R Y
Ferrule Ferrule
00401 00402 00403 01400 00018 00TFO
Pi2 P12 P13 P13 P14 P14
00500 00421 00621
P15 Pi5 Pi6
Swaged Hose . ﬁ}
g Metric Flat Seal

Fitting

10311 20211
P17 P18

20241 20291
P19 P20

Swaged Hose
Fitting

%ﬁmmd

10411 20411 20411C 20441 20491, 20492
P21 P22 P23 P24 P25
Metric 24° Cone
O-fing Seal L.T.
,r//j'_uumT!
|
'a'-.
20491C
P26
}‘:jj{j,ﬂ_llll.llLL:l
20511 20511C
P28 P29
Metric 24° Cone
O-ing Seal H.T.
Tf;ﬁ,m
[}
53
20591C
P32
="
Metric 60° Cone w ié
Seal
10611 20611 20691
P32 P33 P33
W‘ =
Metric 74° Cone
Seal 20741 20791
P36 P37
Metric Male 90° ﬁm
Cone Seal 10811L
P37

Metric Female

Multiseal 20111 20144 20191
P38 P39 P40
m—ry =~  Com
] it B
Metric Standpipe
50011 50041 50091 51011
P41 P42 P43 P44




H Model Index

Swaged Hose
Fitting

H Model Index

Metric Standpipe
51091 NL. NS RL. RS
Pds P46 P47
BSP Male Lo
O-ring Seal P
P48

Pt [t

12611 12611A 22611 22611D 22611D-SM
P49 P50 P51 P52 P52
BSP 60° Cone
Seal
w |f o
2 T
22641 22691 22691K
P53 P54 P55
; gamm— 1 fr— 1 ,quuLuIJJ_l (‘_',._ ]
BSP Female % @ jg I g é =)
Multiseal 22111 22141 22191 22211 22241 22291
P56 P57 P58 P59 PEO P80
BSPT Male
13011-SP
P61
C—mand o ERA,
L W s
ORFS Flat Seal
14211 24291 24211
P62 P63 P64
NPT MALE ;
15611
P65
SAE Male With ]_]Huuumd-
O-ring

16011
P66

JIC 74° Cone

i L[]

16711L
P&&

™ [ me

26741 26791 26711D
P70 P71 P72

Seal

26711D-SM 26791K
P72 P73
SAE 90° Cone @ ) W Q
Seal 17811 27811 27891
P73 P74 P74
NPSM Female W’
[
60° Cone 21611
P75

Swaged Hose | SAE Flange

~ o8
o §

Fittin
g L.T. 87391-H FL. FS
P77 P77
SAE Flange
H.T. 87611 87641 87691
P78 P78 P79
\(*"uu—-
JIS Metric 60° W %‘ =
Cone 18611 28611 28691
P79 P80 P&1
= e
JIS GAS 60° W gﬁlﬁm e
Cone 19611 29611 29641 29691
P81 Pa2 Pa2 P83
o <= (™
JIS Flange 4
as111 88141 88191
P84 P84 P84




H Model Index

Metric Female
Watrewash Inserts

20011-3T
P85

H Model Index

Interlock Hose
Fitting

JIS GAS
60° Cone 20613-W
Pos
I ﬁ:ﬁiﬁb
SAE Flange
el 87343 87393
Pag P99
e
SAE Flange ‘l;(_l
HeE 87613 87643 87693
P100 P100 P101
I
= = 7
9000PSI o :
Flange
87913 87943 87993
P101 P102 P102
1 ; _” ' l
Double Connector
90013
P103

Banjo
700M 70011 71011 710M 7208 72011
Pas P86 Pa7 Pas Pas P&S
Swaged Hose
Fitting
- =
BTl Conmgomn ] o]
Connector apoii apoi2
P30 P90
SAE Staplelok
Male
e | Ll /4"“"]
Metric 24° Cone @JAJIIJ”L L @ 4
O-ring Seal H.T.
20513-W 20543-W 20593-W
P92 P93 P93
]::mm_m /j.u‘;m
oo B
British
12613 13013-SP 22613-W 22693-W
Po4 Pa4 Po4 P95
%_‘
I H Wt
NPT Male
15613
P95
Interlock Hose
Fitting
Cl[ |0 -
NPSM60° Cone
21613-W
PO5
[ iim I| e
ORFS Flat Seal i; fﬁ
24213-W 24243-W 24293-W
PO6 PO6 PO6
JIC 74° Cone L [--~“ﬁ”'i“‘—]
Seal 26713-W 26793-W 26713D-W
Pa7 Pa7 Pa7

15618 16718 20418D 20518D 22618D 24218D
Pi04 Pi05 P105 P106 P107 Pi07
Reusable Hose | Reusable Hose
Fitting Fitting
= e m— =l e
gﬂ_w — Fo—l i 2 7 | ]
T8 - TR T—— 1L JdL X
267180 87318D 873980 876980 00518
Pi08 P108 P109 P109 P110
» e -
12610 12610A 13010-SP 15610 16710 17810
P111 P111 P111 Pi12 P112 P113
Plug-in Hose | Plug-in Hose
Fitting Fitting
l .’ EE ! E [ E[ _: ] %}.uu 1
22610 26710 27810 22690K 26790K
P13 Pi14 P14 P115 P115
Rotary Hose | Rotary Hose [jﬁ ]
Fitting Fitting 15611SW-5
P116




H Hose Assembly

How To Order Hose Assembly

Fitting1 Ferrule Hose Spring Guard Ferrule Fitting2

- — ——— e e

I N1 — =

Overall Length

As the above fig,the hydraulic hose assembly consists of hose. fitting1. fitting2 and ferrule.The fitting1 maybe
the same or different as the fitting2.They can be straight or elbow. The spring guard may not be used.

Hose Assembly Part Number:

LI/ Ixl_IxL__J [__J/[_}RS
Fitting 1 Part Number Spring Guard
Natural Bending Direction
Fitting 1 Part Number
Hose Part Number Displacement Angle

Overall Length

Example 1 : 22641-08-08/22691-12-08X1T08X1000V90/SSX+RS;

Without displacement angle, natural bending direction or spring guard,these part number may be omitted.

Example 2 : The assembly with two fittings of the same part number is called out with only one fitting part number.
22691-08-08X1T08X1000V90°

ZHEJIANG HUACHENG HYDRAULIC MECHINERY CO.,LTD.

H Hose Assembly

How To Measure Assembly

The overall lengteh of the hose assembly is measured to the sealing surface of straight fittings or to the

centreline of elbow fittings.As the following:

Length over nipples

H ]

iy .

Length between centre line of S.P. and

end of nipple

Length between centre line of angle

and banjo

e

L

Length between S.P. and nipple ends

e

Length between male nipple and centre

of angle

=

L
-

Length between male nipple and centre

of female nipple

S
o

Length Tolerance For Hose Assembly

Length of Hose Assembly (mm)

The Tolerance Of Nominal Diameter Hose Assembly Length As Follows

<25 25<Hose DN<50 >50
=630 +7/mm +12mm
_ s —4mm +25mm
630<Assembly Length <1250 +12mm +20mm -6mm
-4mm -6mm
1250<Assembly Length<2500 | +20mm +25mm
—-6mm —-6mm
+1.5%
2500<Assembly Length=< 8000 ke
+3%
>8000 iy

ZHEJIANG HUACHENG HYDRAULIC MECHINERY CO. LTD.

01

02




H Hose Assembly

Hose Active Working Pressure-Working Life

Percentage of service life cycle

100
90 T
80 T | _ |

1 As shown,when active working pressure is 1.25
70 times recommended working pressure,the hose
60 T working life is only half of it under working in

recommended working pressure
50
40 T
30
20 71
el IYE L
100 200300 400 500600
150

Active Working Pressure

(%)

Recommended Wbrking Pressure

Store Conditions of the Assembly

* |f possible,the storing temperature range is within 0~35%C.During storing,temperature should not exceed 50C.

* The storing areas can not place equipments which can produce ozone.For example mercury vapour
lamp. highvoltage
electric device and other equipments which can produce spark or set out electricity.
* Can not be placed with erosive products or exposed over gasvolatile of these products.
Far away from heat source and equipments which ban produce electric field or magnetic field.
* Avoid sunshine or strong artificial light soure.
* Avoid to touch the sharp objects or the ground.
* Can not be piled up too high.
* Guarantee against rodent attacking.
* Observe the rule of "“Firstin,then first out” .

ZHEJIANG HUACHENG HYDRAULIC MECHINERY CO.,LTD.

H Hydraulic Hose

SAE 100 R1AT / EN 853 1SN

Inner Tube:Oil Resistant Synthetic Rubber
Reinforcement:A Single Wire Braid Reinforcement
Cover:0il And Weather Resistant Synthetic
Temperature Range:-40TC~+100T
Insert:xxxx1-xx—xx Series

One Wire Braid Hose (SAE 100 R1AT/EN8S53 1SN)

HOSE PART DN HOSE SIZE HOSE I.D. | HOSE O.D. | MINBURST PERS. MAX.W.P. MIN.BEND.RAD.
NO. FERRULE
mm DASH in mm mm MPa MPa mm
1SN-03 5 -03 3/16 4.8 11.8 82.7 20.7 89 00110-03A
1SN-04 6 -04 1/4 6.4 13.4 75.8 19.0 102 00110-04A
1SN -05 8 -05 5/16 7.9 15.0 68.9 17.2 114 00110-05A
1SN -06 10 -06 3/8 9.5 17.4 62.0 155 127 00110-06A
1SN -08 12 -08 1/2 127 20.6 55.2 13.8 178 00110-08A
1SN -10 16 -10 5/8 15.9 23.7 41.4 10.3 203 00110-10A
1SN -12 20 -12 3/4 19.0 27.7 34.5 8.6 241 00110-12A
1SN -16 25 -16 1 25.4 35.6 27.6 6.9 305 00110-16A
1SN -20 32 -20 1.1/4 31.8 43.5 17.2 4.3 419 00110-20
1SN —24 40 -24 1.1/2 a8.1 50.6 13.8 3.4 508 00110-24
1SN -32 50 -32 2 50.8 64.0 10.3 2.6 635 00110-32
Two Wire Braid Hose (SAE 100 R2AT/EN853 2SN)
SAE 100 R2AT / EN 853 2SN
Inner Tube:Oil Resistant Synthetic Rubber
Reinforcement:Two Braids Of Wire Reinforcement
Cover:0il And Weather Resistant Synthetic
Temperature Range:-40C~+100T
Insert:xxxx1-xx—xx Series
HOSE PART DN HOSE SIZE HOSE I.D. | HOSE 0.D. | MINBURST PERS. MAX.W.P. MIN.BEND.RAD.
NO. FERRULE
mm DASH in mm mm MPa MPa mm
25N-03 5 -03 3/16 4.8 13.4 137.9 34.5 B89 03310-03
25N-04 6 -04 1/4 6.4 1 137.9 S455 102 03310-04
25N-05 8 -05 5/16 7.9 16.7 117.2 29.3 114 03310-05
25N-06 10 -06 3/8 9.5 19.1 110.3 27.6 127 03310-06
2SN-08 12 -08 112 12.7 22.2 96.5 241 178 03310-08
28N-10 16 -10 5/8 15.9 25.4 75.8 19.0 203 03310-10
2SN-12 20 -12 3/4 19.0 29.3 62.0 15.5 241 03310-12
25N-16 25 -16 1 25.4 38.1 55.2 13.8 305 03310-16
25N-20 32 -20 1.1/4 31.8 48.3 44.8 11.2 419 00200-20
2SN-24 40 -24 1.1/2 38.1 54.6 34.5 8.6 508 00200-24
25N-32 50 -32 2 50.8 67.4 31.0 7.8 635 00200-32

ZHEJIANG HUACHENG HYDRAULIC MECHINERY CO. LTD.

03

04




H Hydraulic Hose

Wire Spiral Hose (GB/T 10544 4SP—EN 856 4SP)

SAE 4SP / EN 856

Inner Tube:Oil Resistant Synthetic Rubber
Reinforcement:4 Wire Sprials Reinforcement
Cover:0il And Weather Resistant Synthetic
Temperature Range:-40C~+100TC
Insert:xxxx2-xx—-xx Series

HOSE PART DN HOSE SIZE HOSE I.D. | HOSE O.D. | MINBURST PERS. MAX.W.P. MINBENDRAD. | oo o
i mm DASH in mm mm MPa MPa mm
45P-04 6 -04 1/4 6.4 17.9 180 45.0 150 00400-04
45P-06 10 -06 3/8 9.5 21.4 178 44.5 180 00400-06
4SP-08 12 -08 12 12.7 246 166 415 230 00400-08
48P-10 16 -10 5/8 159 28.2 140 35.0 250 00400-10
4SP-12 20 -12 3/4 19.0 32.2 140 35.0 300 00400-12
45P-16 25 -16 1 25.4 39.7 112 28.0 340 00400-16
4SP-20 32 -20 1.1/4 31.8 50.8 84 21.0 460 00400-20
4S5P-24 40 -24 1.1/2 38.1 57.2 74 18.5 560 00400-24
45P-32 50 -32 2 50.8 69.8 66 16.5 660 00400-32
Wire Spiral Hose (GB/T 10544 4SH—EN 856 4SH)
SAE 4SH / EN 856
Inner Tube:Oil Resistant Synthetic Rubber
Reinforcement:4 Wire Sprials Reinforcement
Cover:0il And Weather Resistant Synthetic
Temperature Range:-40T~+100T
Insert:xxxx2-xx-xx Series
HOSE PART DN HOSE SIZE HOSE I.D. | HOSE O.D. | MINBURST PERS. MAX.W.P. MIN.BENDRAD. | oo o
NO.
mm DASH in mm mm MPa MPa mm
45H-12 19 -12 3/4 19.0 32.2 168 42 280 00400-12
4SH-16 25 -16 i 25.4 38.7 152 38 340 00400-16
4SH-20 32 -20 1.1/4 31.8 45.5 130 32.5 460 00401-20
45H-24 40 -24 1142 38.1 53.5 116 29 560 00401-24
45H-32 50 -32 2 50.8 68.1 100 25 700 00401-32

ZHEJIANG HUACHENG HYDRAULIC MECHINERY CO.,LTD.

H Hydraulic Hose

Wire Spiral Hose (GB/T 10544 R12—SAE 100 R12—EN 856 R12)

S — e

y Ty -
SAE 100 R12/EN 856 ( i
s o R Kl il %

 —————e il

Inner Tube:Oil Resistant Synthetic Rubber
Reinforcement:4 Wire Sprials Reinforcement
Cover:0il And Weather Resistant Synthetic
Temperature Range:-40T~+121T
Insert:xxxx2-xx—xx Series

HOSE PART DN HOSE SIZE HOSE I.D. | HOSE ©.D. | MINBURST PERS. MAX.W.P. MIN.BEND.RAD.
NO. FERRULE
mm DASH in mm mm MPa MPa mm

R12-06 10 -06 3/8 9.5 20.3 110.3 27.6 127 00400-06
R12-08 12 -08 1/2 = 23.8 110.3 27.6 178 00400-08
R12-10 16 -10 5/8 15.9 27.4 110.3 27.6 203 00400-10
R12-12 20 -12 3/4 19.0 30.7 110.3 27.6 241 00400-12
R12-16 25 -16 1 25.4 38.0 110.3 27.6 305 00400-16
R12-20 32 -20 1.1/4 31.8 47.0 82.7 20.7 419 01400-20
R12-24 40 -24 1.1/2 38.1 53.5 69.0 17.2 508 01400-24
R12-32 50 -32 2 50.8 66.7 69.0 17.2 635 00401-32

Wire Spiral Hose (GB/T 10544 R13—SAE 100 R13—EN 856 R13)

. SAE100R13

Inner Tube:Oil Resistant Synthetic Rubber

Reinforcement:Multiple Steel Sprials Reinforcement

Cover:0il And Weather Resistant Synthetic

Temperature Range:-40TC~+121T

Insert:xxxx3-xx-xx Series

HOSE PART DN HOSE SIZE HOSE I.D. | HOSE O.D. | MINBURST PERS. MAX.W.P. MIN.BEND.RAD.
NO. FERRULE
mm DASH in mm mm MPa MPa mm

R13-12 20 -12 3/4 19.0 32.1 137.9 34.5 241 00621-12
R13-16 25 -16 1 25.4 38.7 137.9 34.5 305 00621-16
R13-20 32 -20 1.1/4 31.8 49.8 137.9 345 419 00621-20
R13-24 40 -24 1.1/2 38.1 T 137.9 34.5 508 00621-24
R13-32 50 -32 2 50.8 71.8 137.9 34.5 635 00621-32

ZHEJIANG HUACHENG HYDRAULIC MECHINERY CO. LTD.

05

06




H Hydraulic Hose

Wire Spiral Hose (GB/T 10544 R15—SAE 100 R15)

SAE 100R15

Inner Tube:Oil Resistant Synthetic Rubber
Reinforcement:Multiple Steel Sprials Reinforcement
Cover:0il And Weather Resistant Synthetic
Temperature Range:-40C~+121T
Insert:xxxx3-xx-xx Series

HOSE PART DN HOSE SIZE HOSE I.D. | HOSE O.D. | MINBURST PERS. MAX.W.P MIN.BEND.RAD.
NO. FERRULE
mm DASH in mm mm MPa MPa mm

R15-06 10 -06 3/8 9.5 20.6 168 42 130 00621-06(R15)
R15-08 12 -08 1/2 = 23.8 168 42 180 00621-08(R15)
R15-12 20 -12 3/4 19.0 31.6 168 42 280 00621-12(R15)
R15-18 25 -16 1 25.4 38.6 168 42 300 00621-16(R15)
R15-20 32 -20 1.1/4 31.8 49.6 168 42 400 00621-20(R15)
R15-24 40 -24 1.2 38.1 56.5 168 42 500 00621-24{R15)

Two Polyster Braid Hose (SAE 100 R7-EN 855 R7)

Inner Tube:Thermoplastic Polyester

Reinforcement:Two High Tenacity Polyester Braids Reinforcement

Cover:0il,Fuel,Weather,Ozone And Abrasion Resistant Thermoplastic Polyurethane.

Temperature Range:-40TC~+93T

Insert:xxxx1-xx-xx Series

HOSE PART DN HOSE SIZE HOSE ID. | HOSE 0.D. | MINBURST PERS, MAX.W.P. MIN.BEND.RAD.
NO FERRULE
) mm DASH in mm mm MPa MPa mm

R7-03 5 -03 3/16 4.8 9.5 82.7 20.7 40 00018-03
R7-04 6 -04 1/4 6.4 11.9 75.8 19.0 50 00018-04
R7-05 8 -05 5/16 7.9 14.3 68.9 g s 60 00018-05
R7-06 10 —06 3/8 9.5 16.5 62.0 15.5 75 00018-06
R7-08 12 -08 1/2 12.7 20.4 55.2 13.8 95 00018-08

ZHEJIANG HUACHENG HYDRAULIC MECHINERY CO.,LTD.

H Hydraulic Hose

One Wire Braid-Textile Cover Hose (SAE 100 R6)

SAE 100 R6/EN 854

Inner Tube:Qil Resistant Synthetic Rubber
Reinforcement:One Textile Braid
Cover:One Textile Braid Embedded With Synthetic Rubber
Temperature Range:-40C~+100T
Insert:xxxx8-xx—-xx Series

HOSE PART DN HOSE SIZE HOSE I.D. | HOSE 0.D. | MIN.BURST PERS. MAX.W.P. MIN.BEND.RAD.
NO FERRULE
} mm DASH in mm mm MPa MPa mm

R6-04 6 —04 1/4 6.4 12.7 2.8 11.2 64 00518-04
R6-05 8 -05 5/16 7.9 14.3 2.8 11.2 76 00518-05
R6-06 10 —-06 3/8 9.5 15.9 2.8 11.2 76 00518-06
R6-08 12 —08 1/2 1277 10.8 2.8 11.2 102 00518-08
R6-10 16 -10 5/8 15.9 23.0 2.4 9.6 127 00518-10
R6-12 20 Bl 3/4 19 26.0 = 8.4 152 00518-12
R6-16 25 -16 1 25.4 325 1.3 5.2 230 00518-16

PTFE Hose

Inner Tube:PTFE

Cover:A Single Braid OF Stainless Steel

Temperature Range:-54C~+204TC

Insert:xxxx1-xx—xx Series
HOSE ;AF{T HOSE I.D. HOSE 0.D. MINBURST PERS. MAX.W.P. MIN.BEND.RAD. =

mm mm MPa MPa mm

HGW3051 5.1 8 79.3 26.4 63 00TF0-03
HGW3067 6.7 9 67.2 224 76 00TFO-04
HGW3084 8.4 11 62.1 20.7 101 00TF0-05
HGW1106 9.5 2k 69.0 23.0 127 00TFO-06
HGW3134 13.4 16.5 48.3 16.1 152 00TF0-08
HGW3166 16.6 20 34.5 11.0 178 00TF0-10
HGW3198 19.8 23 31.0 10.3 203 00TFO-12
HGW3261 26.1 29.5 24.1 8.0 305 00TF0-16

ZHEJIANG HUACHENG HYDRAULIC MECHINERY CO. LTD.

o7

08




H Ferrule

L

I

00110

FERRULE FOR SAE 100R1AT/EN 853 1SN HOSE

H Ferrule

PART NO. HOSE BORE DIMENSIONS

DN DASH L
00110-20 32 20 59
00110-24 40 24 74
00110-32 50 32 78

L
‘il i ‘ﬂ i I l 00110-A
FERRULE FOR SAE 100R1AT/EN 853 1SN HOSE
HOSE BORE DIMENSIONS

PART NO. DN DASH L
00110-03A 5 03 23
00110-04A 6 04 30.5
00110-05A 8 05 30
00110-06A 10 06 32
00110-08A 12 08 34
00110-10A 16 10 37
00110-12A 20 12 42
00110-16A 25 16 51

ZHEJIANG HUACHENG HYDRAULIC MECHINERY CO.,LTD.

L
sy ~
00200
= FERRULE FOR SAE 100R2AT/EN 853 2SN HOSE
HOSE BORE DIMENSIONS
PART NO.
DN DASH L
00200-20 32 20 59
00200-24 40 24 74
00200-32 50 32 78
L
#i
m 00210
| FERRULE FOR SAE 100R2AT/DIN20022 2SN HOSE
HOSE BORE DIMENSIONS
PART NO. = T 3
00210-03 5 03 27
00210-04 6 04 30
00210-05 8 05 31
00210-06 10 06 32
00210-08 12 08 34
00210-10 16 10 37
00210-12 20 12 43
00210-16 25 16 50
00210-20 32 20 59
00210-24 40 24 74
00210-32 50 32 78

Don't recommend for engineering machine

ZHEJIANG HUACHENG HYDRAULIC MECHINERY CO.,LTD.

09

10




H Ferrule

H Ferrule

L

T

00401

FERRULE FOR 4SH. R12/32 HOSE

L
ﬁz 03310
FERRULE FOR SAE 100R2AT/EN 853 2SN HOSE
G HOSE BORE DIMENSIONS
; DN DASH L
03310-03 5 03 23
03310-04 6 04 30.5
03310-05 8 05 30
03310-06 10 06 32
03310-08 12 08 34
03310-10 16 10 37
03310-12 19 12 42
03310-16 25 16 51
L
j1j" 00400
e FERRULE FOR 4SP. 4SH/12-16. R12/06-16 HOSE
HOSE BORE DIMENSIONS
PART NO. = =T 3
00400-04 04 375
00400-06 10 06 39
00400-08 12 08 41
00400-10 16 10 43
00400-12 20 12 51
00400-16 25 16 61.5
00400-20 32 20 67.5
00400-24 40 24 75
00400-32 50 32 79

HOSE BORE DIMENSIONS
Bl B2, DN DASH L
00401-20 32 20 67.5
00401-24 40 24 75
00401-32 50 32 79

L

00402

FERRULE FOR SAE 100R9AT-R12, EN

856-4SP/04-16 HOSE

HOSE BORE DIMENSIONS
Egillat DN DASH I=
00402-04 6 04 30
00402-06 10 06 33
00402-08 12 08 34
00402-10 16 10 39
00402-12 20 12 40
00402-16 25 16 5il
00402-20 32 20 60
00402-24 40 24 70
00402-32 50 32 72

ZHEJIANG HUACHENG HYDRAULIC MECHINERY CO.,LTD.

ZHEJIANG HUACHENG HYDRAULIC MECHINERY CO. LTD.

1

12




H Ferrule H Ferrule

L
00403 ___[__"ﬂlnjm";_ 00018

FERRULE FOR EN 856-4SP HOSE FERRULE FOR SAE 100R7 HOSE
HOSE BORE DIMENSIONS HOSE BORE DIMENSIONS

Eailis DN DASH £ CARTE DN DASH L
00403-20 32 20 60 00018-03 5 03 24
00403-24 40 24 70 00018-04 6 04 29
00403-32 50 32 72 00018-05 8 05 31
Note: Please consult distributor for crimping parameter. 00018-06 10 06 31
00018-08 12 08 34

00018-10 16 10 36

00018-12 20 12 43

L L

01400 1]“ 00TFO

FERRULE FOR R12/20-24 HOSE FERRULE FOR TEFLON HOSE

HOSE BORE DIMENSIONS HOSE BORE DIMENSIONS

RARTHS: DN DASH L FARTING. DN DASH =

01400-20 32 20 67.5 O0TFO-03 4 03 2700

01400-24 38 24 75 00TF0-04 6 04 30.7
00TFO0-05 8 05 30.6
00TF0-06 10 06 321
00TFO0-08 12 08 34.3
00TFO0-10 16 10 37
00TFO-12 20 12 42.8
00TFO-14 22 14 42.7
00TFO-16 25 16 50.8

ZHEJIANG HUACHENG HYDRAULIC MECHINERY CO.,LTD. ZHEJIANG HUACHENG HYDRAULIC MECHINERY CO.,LTD.

13 14



H Ferrule

00621

INTERLOCK FERRULE FOR

GB/T 10544 R13/SAE 100R13/EN 856 R13 HOSE

HOSE BORE DIMENSIONS
PART NO. DN DASH 3
00621-12 20 12 53
00621-16 25 15 66
00621-20 32 20 88.5
00621-24 40 24 102
00621-32 50 32 108

L
00500
| i FERRULE FOR SAE 100R5 HOSE
HOSE BORE DIMENSIONS
PART NO.
DN DASH SAE DASH L
00500-03 4 03 04 226
00500-04 6 04 05 25.7
00500-05 8 05 06 22.4
00500-07 i 07 08 26.2
00500-08 12 08 10 27.7
00500-10 16 10 12 29.7
00500-14 22 14 16 33.5
00500-18 28 18 20 42.7
00500-22 35 22 24 47.0
00500-29 46 29 3= 50.8
00500-38 60 38 40 63.0
L
R = 00421

a

INTERLOCK FERRULE FOR DIN20023 4SH HOSE

HOSE BORE DIMENSIONS
PART NO. DN DASH L
00421-20 32 20 88
00421-24 40 24 102
00421-32 50 32 108

Note: 4SH-12, —-16 hose crimping to use 00621-12, 00621-16 ferrule accordingly.

ZHEJIANG HUACHENG HYDRAULIC MECHINERY CO.,LTD.

ZHEJIANG HUACHENG HYDRAULIC MECHINERY CO. LTD.

15

16




H Swaged Hose Fitting H Swaged Hose Fitting

e 10311

m L = = o
JEQW 0-RING METRIC MALE FLAT SEAT s METRIC FEMALE FLAT SEAT
1 20211 20211-T

HOSE BORE DIMENSIONS HOSE BORE DIMENSIONS

PART NO. THREAD E =T T m = = PART NO. THREAD E BN T . = o

10311-12-04 M12X1.25 6 04 225 10 14 20211-10-02 M10X1 4 02 14 6 14

10311-14-04 M14X1.5 6 04 2315 11 17 20211-12-03 M12X1 .25 5 03 14 8 17

ifati=ie 0d pAibn & b L G i 17 20211-14-04 M14X1.5 6 04 15.5 8.5 19
10311-16-05 M16X1.5 8 05 235 11 17

10311-16-06 M16X1.5 10 06 23.5 11 17 Sl et MESALS 2 B3 a9 8 i

10311-18-06 M18X1.5 10 06 235 11 19 20211-16-04 M16X1.5 6 04 iz 8 ee

10311-22-05 M22X1.5 8 05 o7 12 22 20211-16-05 M16X1.5 8 05 16.5 8 22

10311-22-06 M22X1.5 10 06 26 12 22 20211-16-06 M16X1.5 10 06 16.5 8 22

10311-22-08 M22X1.5 12 08 26.5 12 22 20211-18-05T M18X1 5 8 05 175 8 o4
10311-27-10 M27X1.5 16 10 315 13 27

10311-30-12 M30X1.5 20 12 33.5 14 32 Sesilgian il s L - L = =

10311-36-12 M36X2 20 12 a5 g 16 a8 20211-20-06T M20X1.5 10 06 16 10 24

10311-36-14 M36X2 20 14 355 16 38 20211-20-08 M20X1.5 12 08 18.5 10 27

10311-39-16 M39X2 25 16 39 16 M 20211-22-06T M22X1.5 10 06 16 10 27

10311-45-20 M45Xx2 32 20 44.5 20 46 20211-22-08 M22X1.5 12 08 18.5 10 27

BEI=hasea i o 3 Al - 5 20211-22-10 M22X1.5 16 10 19.5 10 27
10311-64-32 M64X2 50 32 52.5 27 65

20211-24-08T M24X1.5 12 08 16.5 11 30

Note: 1.For use with braided hoses. 2.If use with spiral hoses,hose fitting series number is 10312-xx-xx. 20211-24-10 M24X1.5 16 10 20.5 10.5 30

20211-27-08T M27X1.5 12 08 185 10 32

20211-27-10T M27X1.5 16 10 19.5 10 32

20211-30-12 M30X1.5 20 12 21.5 11 36

20211-33-14 M33X2 22 14 21.5 13 41

20211-36-12T M36X2 20 12 20 13 41

20211-36-14T M36X2 22 14 20 13 41

20211-39-16T M39X2 25 16 23.5 13 46

20211-42-20 M42X2 32 20 26 15 50

20211-45-20T M45X2 32 20 25 15 55

20211-52-24T M52X2 40 24 25 17 60

20211-60-28T M6B0X2 45 28 26 20 70

20211-64-32T M6B4X2 50 32 26 23 75

Note: 1.For use with braided hoses. 2.If use with spiral hoses, hose fitting series number is 20212-xx—xXx.

ZHEJIANG HUACHENG HYDRAULIC MECHINERY CO.,LTD. ZHEJIANG HUACHENG HYDRAULIC MECHINERY CO. LTD.

17 18



H Swaged Hose Fitting H Swaged Hose Fitting

A

=Rt
< 52
30° METRIC FEMALE FLAT SEAT
20231-T
S TLREAD E HOSE BORE DIMENSIONS
DN DASH A & B S2
20231-22-08 M22X1.5 12 08 63.3 10 15 27 20291-T 90° METRIC FEMALE ELAT SEAT
20231-27-10T M27X1.5 16 10 73.7 10 15.1 32
e L LB L ]
' . DN DASH A C H S2
2ueai=as-18] tdeXa 3 16 e 19 158 45 20291-12-02 M12X1.25 4 02 26.5 8 30.5 2
20231-45-20T M45X2 32 20 102.8 15 20 55 202911904 V12X 25 . 04 20 5 - .
20231-52-24T M52X2 40 24 116.2 17 21.8 60
20291-14-04 M14X1.5 6 04 30 8.5 34 19
Note: 1.For use with braided hoses. 2.If use with spiral hoses, hose fitting series number is 20232—-XX-XxX. 20291-14-05 M14X1.5 8 05 33 85 37 19
20291-16-04 M16X1.5 6 04 30 8 35 22
20291-16-05 M16X1.5 8 05 34 8 38 22
20291-16-06 M16X1.5 10 06 35.3 8 40.3 22
20291-18-05T M18X1.5 8 05 33 8 39 24
45° METRIC FEMALE FLAT SEAT 20291-18-06 M18X1.5 10 06 35.75 8 41.3 24
20241-T 20291-22-08 M22X1.5 12 08 41 10 48 27
PART NO. THREAD E SLRE Bb e IMEN- IO 20291-22-10 M22X1.5 16 10 57.5 10 53 27
20241-14-04 M14X1.5 Dgl ngH 4:5 8?5 1 :.5 183 el M24x1.5 e 08 4 5 R0 30
20241-14-05 M14X1.5 8 05 42.7 8.5 19.3 19 e ) i ° . 30 = = =
20241-16-05 M16X1.5 8 05 44.4 8.5 20 22 Selattntl Maiin i< o & il i e
20241-18-06 M18X1.5 10 06 45.7 8 214 | 24 Ebentes Ol il e i e i i =4
20241-22-08 M22X1.5 12 08 58.9 | 10 24 o S0 1e i e i ohie i e L
20241-27-10T M27X1.5 16 10 686 | 10 | 243 | 32 i e = 14 SiEs = Be 1
20241-30-12 M30X1.5 20 12 78.1 11 30 36 20291-36-14T M36X2 22 14 7.2 13 61 41
20241-36-12T M36X2 20 12 75 13 27.5 41 20291-36-16 M36X2 25 16 76.7 13 70 41
20241-36-14T M36X2 29 14 77.3 13 27 41 20291-39-16T M39X2 25 16 76.7 13 67.5 46
20241-36-16 M3BX2 o5 16 85 7 13 31.5 a1 20291-42-20 M42X2 32 20 91.5 15 82.5 50
20241-39-16T M39X2 25 16 83.9 13 29.7 46 20291-45-20T M45X2 32 20 915 15 78.5 55
20241-42-20W M42X2 32 20 95.9 15 35.2 50 20291-52-20T M52X2 32 20 91.5 17 78.5 60
20241-45-20T M45X2 32 20 94.5 15 33.8 55 20291-52-24T M52X2 40 24 109.4 17 92 60
20241-52-20T M52X2 32 20 94.5 17 33.8 60 20291-60-28T M60X2 45 28 119.9 20 106.5 70
20241-52-24T M52X2 40 24 108.5 17 37.7 60 20291-64-32T M64X2 50 32 130.95 23 113.3 75
20241-60-28T MB0X2 45 28 118.7 20 43.6 70
20241-64-32T MB4X2 50 30 1278 o3 45 6 75 Note: 1.For use with braided hoses. 2.If use with spiral hoses, hose fitting series number is 20292 -xx—xx.
Note: 1.For use with braided hoses. 2.If use with spiral hoses,hose fitting series number is 20242-xx—xx.

ZHEJIANG HUACHENG HYDRAULIC MECHINERY CO.,LTD. ZHEJIANG HUACHENG HYDRAULIC MECHINERY CO. LTD.

19 20



H Swaged Hose Fitting H Swaged Hose Fitting

C A
A R
TH{ - ;__, AT =
% i o . 7S | | I
10411 £ ke R T
METRIC MALE 24° CONE SEATL.T. 2 \s2 METRIC FEMALE 24° CONE
ISO 84341-1--DIN 3861 20411 20411-T O-RING L.T.ISO 1251-2--DIN3865
HOSE BORE DIMENSIONS HOSE BORE DIMENSIONS
PART NO. THREAD E . SAsn | TUBE O.D. - = = PART NO. | THREAD E == o TUBEO.D.| ORING . G =
10411-12-04 | M12X1.5 6 04 6 20.5 10 12 20411-12-04 | M12X1.5 6 04 6 004.5x1.5| 26 1 17
10411-14-04 | M14X1.5 6 04 8 20.5 10 14 20411-14-04 | M14X1.5 6 04 8 006.5x1.5| 275 | 2 19
10411-14-05 | M14X1.5 8 05 8 21.5 10 14 20411-14-06 | M14X1.5 10 06 8 006.5x1.5|275| 2 19
10411-16-04 | M16X1.5 6 04 10 225 11 17 20411-16-04 | M16X1.5 6 04 10 |008.0x1.5| 28 | 2 | 22
10411-16-05 | M16X1.5 8 05 10 22.5 11 17 20411-16-05 | M16X1.5 8 05 10 008.0x1.5| 28 2 22
10411-16-06 | M16X1.5 10 06 10 225 11 b 20411-16-06 | M16X1.5 10 06 10 008.0x1.5| 28 2 22
10411-18-05 | M18X1.5 8 05 12 23.5 11 19 20411-18-05T| M18X1.5 8 05 12 010.0x1.5| 245 1.5 | 22
10411-18-06 | M18X1.5 10 06 12 215 11 19 20411-18-06 | M18X1.5 10 06 12 010.0x1.5| 29 | 25 | 24
10411-22-06 | M22X1.5 10 06 15 24.5 12 24 20411-18-08 | M18X1.5 12 08 12 010.0x1.5( 295 | 2.5 | 24
10411-22-08 M22X1.5 12 08 15 26 12 24 20411-22-05T| M22X1.5 8 05 15 012.0x2.0| 26.5| 3 27
10411-26-08 M26X1.5 12 08 18 26.5 12 27 20411-22-06T| M22X1.5 10 06 15 012.0x2.0| 26.5 3 27
10411-26-10 M26X1.5 16 10 18 27 12 27 20411-22-08 | M22X1.5 12 08 15 012.0x2.0| 32 | 2.5 | 27
10411-27-10 | M27X1.5 16 10 18 32 14 30 20411-26-10 | M26X1.5 16 10 18 015.0x2.0| 345 | 2.5 | 32
10411-30-10 M30X2 16 10 22 29 14 32 20411-26-12 | M26X1.5 20 12 18 015.0x2.0| 35 | 2.5 | 32
10411-30-12 M30X2 20 12 22 29 14 32 20411-30-10T| M30X2 16 10 22 020.0%x2.0| 31 | 3.8 | 36
10411-36-16 M36X2 25 16 28 31.5 14 38 20411-30-12 | M30X2 20 12 22 020.0x2.0| 39 4 36
10411-45-20 M45x2 32 20 35 36 16 46 20411-36-12T| M36X2 20 12 28 026.0x2.0| 33 | 4.5 | 46
10411-52-24 M52X2 40 24 42 38 16 55 20411-36-14T| M36X2 22 14 28 026.0x2.0| 33 | 45 | 46
Note: 1.For use with braided hoses. 2.If use with spiral hoses,hose fitting series number is 10412-xx-xx. 20411-45-16T M45X2 25 16 35 032.0x2.5| 37 4 55
20411-45-20T| M45X2 32 20 35 032.0x2.5| 37.5| 4 55
20411-52-20T| M52X2 32 20 42 038.0x2.5|385| 4 60
20411-52-24T| M52X2 40 24 42 038.0x2.5| 38.5| 4 60
Note: 1.For use with braided hoses. 2.lf use with spiral hoses,hose fitting series number is 20412-xx-xx.
ZHEJIANG HUACHENG HYDRAULIC MECHINERY CO.,LTD. ZHEJIANG HUACHENG HYDRAULIC MECHINERY CO.,LTD.

21 22



H Swaged Hose Fitting H Swaged Hose Fitting

C A C A c A .
ARN—-_ - Bre /,;L
m( ) . L@ ; _
=N - e g
L 82 METRIC FEMALE 24° MULTISEAL 82 45° METRIC FEMALE 24° CONE
20411C 20411C-T L.T.DIN 3868 20441-T 0-RING L.T.ISO 12151-2--DIN3865
PART NO THREAD E LE LSS TUBE O.D Sl i PART NO THREAD E ot TUBE O.D. O RING ZLISL e

- DN DASH = A G S : DN DASH A | C H | s2
20411C=12-04 | M12x 1.5 6 04 6 19.5 35 17 20441-14-04 | M14x1.5 6 04 8 006.5x1.5|44.1| 2 | 22| 19
20411C-14-04 | M14 x 1.5 = 04 8 20.5 Qs 19 20441-16-05 | M16x 1.5 8 05 10 008.0x1.5 2 22
20411C-16-04 | M16 x 1.5 6 04 10 21 3.5 29 20441-16-06 | M16x 1.5 10 06 10 008.0x1.5 2 22
20411C-16-05 | M16 x 1.5 8 05 10 21 35 29 20441-18-05T| M18x 1.5 8 05 12 010.0x 1.5 s i) 22
20411C-16-06 | M16x 1.5 10 06 10 21 35 29 20441-18-06 | M18x 1.5 10 06 12 010.0x1.5 2.5 24
20411C-18-06 | M18x 1.5 10 06 12 29§ 3 24 20441-22-05T| M22x 1.5 8 05 1i5 012.0x2.0 3 27
20411C-22-06T| M22x 1.5 10 06 15 23 5 45 27 20441-22-06T| M22x 1.5 10 06 15 012.0x2.0 3 27
20411C-22-08 | M22x 1.5 12 08 15 24 45 27 20441-22-08 | M22x 1.5 12 08 15 012:0x2.0 2:5 2
20411C-26-10 | M26 x 1.5 16 10 18 27 4 32 20441-26-08T| M26 x 1.5 12 08 18 015.0x2.0 2.1 32
20411C-30-10T| M30x?2 16 10 29 5615 7 26 20441-26-10 | M26x 1.5 16 10 18 015.0x2.0 2.5 32
20411C-30-12 | M30x?2 20 12 20 27 7 36 20441-26-12 | M26x 1.5 20 12 18 015.0x2.0 2.5 32
20411C-30-14 | M30 x 2 ) 14 20 27 74 36 20441-30-10T| M30x2 16 10 22 020.0x2.0 3.8 36
20411C-36-16 | M36 x 2 o5 16 28 29 6.5 41 20441-30-12 | M30x2 20 12 22 020.0x2.0 4 36
20411C-45-20T| M45 x 2 32 20 35 33 7 G 20441-36-12T| M36 x 2 20 12 28 026.0x2.0 4.5 46
20411C-52-24T| M52 x2 40 24 42 34 8 60 20441-36-14T| M36 x 2 22 14 28 026.0x2.0 4.5 46
20441-45-20T| M45x2 32 20 35 032.0x2.5 4 55
Note: 1.For use with braided hoses. 2.If use with spiral hoses,hose fitting series number is 20412C—-xx—xx. 20441-52-20T| M52 x 2 32 20 42 038.0x2.5 4 60
20441-52-24T| M52x2 40 24 42 038.0x2.5 < 60
Note: 1.For use with braided hoses. 2.If use with spiral hoses,hose fitting series number is 20442-xx-xx.

ZHEJIANG HUACHENG HYDRAULIC MECHINERY CO.,LTD. ZHEJIANG HUACHENG HYDRAULIC MECHINERY CO. LTD.

23 24



H Swaged Hose Fitting

90° METRIC FEMALE 24° CONE O-RING

L.T.ISO 12151-2--DIN3865

H Swaged Hose Fitting

T T

20491-T

HOSE BORE DIMENSIONS

PART NO. THREAD E DN DASH TUBE O.D. O RING C 52
20491-12-03 | M12x 1.5 5 03 6 004.5x1.5 1 17
20491-12-04 | M12x1.5 6 04 6 004.5x1.5 1 117
20491-14-04 | M14x 1.5 6 04 8 006.5x1.5 2 19
20491-16-04 | M16x 1.5 6 04 10 008.0x1.5 2 22
20491-16-05 | M16x 1.5 8 05 10 008.0x 1.5 2 22
20491-16-06 | M16x 1.5 10 06 10 008.0x 1.5 2 22
20491-18-05T| M18x 1.5 8 05 12 010.0x1.5 1.5 22
20491-18-06 | M18x 1.5 10 06 12 010.0x1.5 2.5 24
20491-22-06T| M22 x 1.5 10 06 15 012.0x2.0 3 27
20491-22-08 | M22x 1.5 ilet 08 15 012.0x2.0 2.5 27
20491-26-08T| M26 x 1.5 12 08 18 015.0x 2.0 2.1 32
20491-26-10 | M26 x 1.5 16 10 18 015.0x2.0 2.5 32
20491-26-12 | M26 x 1.5 20 12 18 015.0x 2.0 2.5 32
20491-30-10T| M30x2 16 10 22 020.0x 2.0 3.8 36
20491-30-12 | M30x2 20 12 22 020.0x2.0 4 36
20491-36-12T| M36x 2 20 12 28 026.0x 2.0 4.5 46
20491-36-14T| M36x 2 22 14 28 026.0x2.0 4.5 46
20491-45-16T| M45x2 25 16 35 032.0x 2.5 4 55
20491-45-20T| M45x2 32 20 35 032.0x2.5 4 556
20491-52-20T| M52x 2 32 20 42 038.0x2.5 4 60
20491-52-24T| Mb2x2 40 24 42 038.0x2.5 4 60

| o _,,_152 90° METRIC FEMALE 24° MULTISEAL
| L.T. DIN 3868
20491C 20491C-T
HOSE BORE DIMENSIONS
PART NO. THREAD E N DASH TUBE O.D. A c v >
20491C-14-04 | M14 x1.5 6 04 8 30 3.5 39.5 19
20491C-16-04 | M16x 1.5 6 04 10 30 35 40 22
20491C-16-05 | M16 x 1.5 8 05 10 33 3.5 43 22
20491C-16-06 | M16x 1.5 10 06 10 35.25 3.5 45.2 22
20491C-18-06 | M18x 1.5 10 06 12 35.25 3 47.25 24
20491C-22-08 | M22x 1.5 12 08 5 41 4.5 53 2l
20491C-26-10 | M26x 1.5 16 10 18 56.5 4 60 32
20491C-30-12 | M30x 2 20 2 a2 65.5 7 68.5 36
20491C-36-12T| M36x 2 20 12 28 65.5 6.5 67.5 41

Note: 1.For use with braided hoses. 2.If use with spiral hoses,hose fitting series number is 20492C—xX—XX.

Note: 1.For use with braided hoses. 2.If use with spiral hoses,hose fitting series number is 20492-xx—xx.

ZHEJIANG HUACHENG HYDRAULIC MECHINERY CO.,LTD.

ZHEJIANG HUACHENG HYDRAULIC MECHINERY CO. LTD.

25

26



H Swaged Hose Fitting H Swaged Hose Fitting

A C A i—
—T ?i%d /M fji %‘%}l}}llll/'ll’l----.-.-.-n.-_ f* \#7\‘ > orlp e =

) [P0 | g = Jal b

P : l

ul 10511 )

1 METRIC MALE 24° CONE SEAT H.T. s METRIC FEMALE24° CONE O-RING
1ISO-84341--DIN 3861 20511 20511-T L.T. 1SO12151-2-DIN 3865
HOSE BORE DIMENSIONS HOSE BORE DIMENSIONS
PART NO. THREAD E DN DASH TUBE O.D. X C 51 PART NO. THREAD E DN DASH TUBE O.D. O RING Y C 52
10511-14-04 | M14x1.5 6 04 6 241 12 14 20511-14-04 | M16x 1.5 6 04 6 004.5X1.5| 29 125 19
10511-16-04 | M168x 1.5 6 04 8 26.5 12 17 20511-16-04 | M16x 1.5 6 04 8 006.5X1.5| 29 55 22
10511-18-04 Mi8x1.5 6 04 10 26.5 12 19 20511-16-05 | M16x 1.5 8 05 8 006.5X1.5 29 1.5 22
10511-20-05 | M20x 1.5 8 05 12 o7 12 2l2. 20511-18-04T| M18x 1.5 6 04 10 BO8.0X4 5825 581105 22
10511-20-06 | M20x 1.5 10 06 12 28.5 12 09 20511-18-06 | M18x 1.5 10 06 10 008.0X1.5| 29 2 24
10511-22-05 M22 x1.5 8 05 14 30.5 14 24 20511-20-06T| M20x 1.5 10 06 i & 010.0X1.5| 26.5| 2.5 24
10511-22-06 M22x 1.5 10 06 14 30.5 14 24 20511-20-08 | M20x 1.5 12 08 12 010.0X1.5| 315 | 2.5 27
10511-22-08 M22x 1.5 12 08 14 31 14 24 20511-22-06T| M22x 1.5 10 06 14 Q11.0X2.0| 26.5 3 27
10511-24-08 M24 x 1.5 12 08 16 315 14 27 20511-22-08 | M22x 1.5 12 08 14 011.0X2.0| 31.5| 2.5 27
10511-30-10 M30 x 2 16 10 20 36 16 32 20511-24-06T| M24x 1.5 10 06 16 013.0X2.0 27 3 30
10511-30-12 M30 x 2 20 12 20 36 16 32 20511-24-08T| M24 x1.5 12 08 16 013.0X2.0 | 27.5 3 30
10511-36-12 M36 x 2 20 12 25 40.5 18 41 20511-30-10T| M30x2 16 10 20 016.3X2.4 33 25 36
10511-36-16 M36 x 2 25 16 25 41,5 18 38 20511-30-12 M30 x 2 20 12 20 016.3X2.4 39 3 36
10511-42-16 M42 x 2 25 16 30 44 20 46 20511-36-12T| M3B6x 2 20 12 25 020.3X2.4 35 3.2 46
10511-42-20 M42 x 2 32 20 30 45 20 46 20511-36-14T| M36 x 2 22 14 25 020.3X2.4 34 3.2 46
10511-52-20 M52 x 2 32 20 38 50 22 55 20511-42-12T| M42 x 2 20 12 30 025.3X2.4 | 37.5| 3.9 50
. . . . . . . 20511-42-16T| M42 x 2 25 16 30 025.3X2.4| 38,5 | 3.9 50
Note: 1.For use with braided hoses. 2.If use with spiral hoses,hose fitting series number is 10512-xx—xx.

20511-52-20T| M52 x2 32 20 38 B33.3xX2.4 | 415 | 4.5 60
20511-52-24T| M52 x 2 40 24 38 033.3X2.4| 415 | 4.5 60
Note: 1.For use with braided hoses. 2.lf use with spiral hoses,hose fitting series number is 20512-xx—xx.

ZHEJIANG HUACHENG HYDRAULIC MECHINERY CO.,LTD. ZHEJIANG HUACHENG HYDRAULIC MECHINERY CO. LTD.

27 28



H Swaged Hose Fitting

. |

H Swaged Hose Fitting

45° METRIC FEMALE 24° CONE
O-RING H.T. 1ISO12151-2-DIN 3865

K&z 82
METRIC FEMALE 24° MULTISEAL H.T.
20511C 20511C-T
HOSE BORE DIMENSIONS
PARTNO. |THREAD E o Sasy | TUBE OD. e = o
20511C-18-04T[M18x 1.5 6 04 10 21 3 22
20511C-20-05T| M20 x 1.5 8 05 12 21.5 4.5 24
20511C-20-06T|M20 x 1.5 10 06 12 21.5 4.5 24
20511C-22-06T|M22x 1.5 10 06 14 21.6 4.5 27
20511C-24-08T[M24 x 1.5 12 08 16 23 5 30
20511C-30-10T| M30x2 16 10 20 26.5 7 36
20511C-36-12T| M36x 2 20 12 25 27 6.5 41
20511C-42-16T| M42x 2 25 16 30 29.5 9 50
20511C-52-20T| M52 x 2 32 20 38 34 8 60

Note: 1.For use with braided hoses. 2.If use with spiral hoses,hose fitting series number is 20512C-xx-xx.

ZHEJIANG HUACHENG HYDRAULIC MECHINERY CO.,LTD.

20541 20541-T
HOSE BORE DIMENSIONS
PART NO. THREAD E DN DASH TUBE O.D. O RING C So
20541-14-04 | M14x 1.5 6 04 6 004.5x1.5 1.5 19
20541-16-04 | M16x 1.5 6 04 8 006.5x1.5 1.5 22
20541-16-05 | M16x 1.5 8 05 8 006.5x 1.5 1.5 22
20541-18-04T | M18x 1.5 6 04 10 008.0x1.5 1.5 22
20541-18-06 | M18x 1.5 10 06 10 008.0x1.5 2 24
20541-20-06T | M20 x 1.5 10 06 12 010.0x1.5 2.5 24
20541-20-08 | M20x 1.5 2 08 12 010.0x1.5 2.5 27
20541-22-06T | M22x 1.5 10 06 14 011.0x2.0 3 27
20541-22-08 | M22x 1.5 12 08 14 011.0x2.0 pral 27
20541-24-08T | M24 x 1.5 12 08 16 013.0x 2.0 3 30
20541-30-10T | M30x 2 16 10 20 016.3x2.4 2.5 36
20541-30-12 | M30x2 20 12 20 016.3x2.4 3 36
20541-36-12T | M36 x 2 20 12 25 020.3x2.4 3.2 46
20541-36-14T | M36x 2 22 14 25 020.3x2.4 3.2 46
20541-42-16T | M42x 2 25 16 30 025.3x2.4 3.9 50
20541-52-20T | M52 x 2 32 20 38 033.3x2.4 4.5 60
20541-52-24T | M52 x 2 40 24 38 033.3x2.4 4.5 60
Note: 1.For use with braided hoses. 2.If use with spiral hoses,hose fitting series number is 20542-xx-xx.

ZHEJIANG HUACHENG HYDRAULIC MECHINERY CO. LTD.

29

30



H Swaged Hose Fitting

H Swaged Hose Fitting

A

45° METRIC FEMALE 24° MULTISEAL H.T.
20541C 20541C-T
HOSE BORE DIMENSIONS
PARTNO.  |THREAD E o SAtH | MBEDD = c - =
20541C-16-04 [ M16 x 1.5 6 04 8 44.8 3 | 227 | 19
20541C-18-04T| M18x 1.5 6 04 10 43.7 a | 21re| ez
20541C-20-06T| M20 x 1.5 10 06 12 48.9 | 45 | 246 | 24
20541C-24-08T| M24 x 1.5 12 08 16 61.4 | 25 | 26,5 | 30

Note: 1.For use with braided hoses. 2.If use with spiral hoses,hose fitting series number is 20542C—-xx—xx.

90° METRIC FEMALE 24° CONE O-RING H.T.
1ISO12151.2-DIN 3865

e
I 90° METRIC FEMALE 24° MULTISEAL H.T.
20591C 20591C-T
HOSE BORE DIMENSIONS

PART NO. THREAD E DN DASH TUBE O.D. A C H S2
20591C-16-04 | M16x 1.5 6 04 8 30 3 40 22
20591C-18-04T| M18x 1.5 6 04 10 30 3 38.5 22
20591C-20-05T| M20 x 1.5 8 05 12 33 4.5 42 24
20591C-20-06T| M20x 1.5 10 06 12 353 4.5 HERT 24
20591C-22-06T| M22x 1.5 10 06 14 35.3 4.5 44.7 27
20591C-24-08T| M24 x 1.5 12 08 16 41 B 52 30
20591C-30-10T| M30x2 16 10 20 56.5 7 56.5 36
20591C-36-12T| M36x2 20 2 25 65.5 6.5 66.5 41
20591C-42-16T| M42x 2 25 16 30 78 9 73.5 50
20591C-52-20T] M52x2 32 20 38 93 8 87.5 60

Note: 1.For use with braided hoses. 2.If use with spiral hoses,hose fitting series number is 20592C—-xx—xx.

C
f’“w%n _——

20591 20591-T
HOSE BORE DIMENSIONS
PART NO. THREAD E = s TUBE O.D. O RING C 5o
20591-14-04 | M16x 1.5 6 04 6 004.5x1.5 1.5 19
20591-16-04 | M16x 1.5 6 04 8 006.5x 1.5 1.5 22
20591-16-05 | M16x 1.5 8 05 8 006.5x1.5 1.5 22
20591-18-05T | M18x 1.5 8 05 10 008.0x1.5 1.5 22
20591-18-06 | M18 x 1.5 10 06 10 008.0x1.5 2 24
20591-20-06T | M20x 1.5 10 06 12 010.0x1.5 20 24
20591-20-08 | M20x 1.5 12 08 12 010.0x1.5 2.5 27
20591-22-06T | M22x 1.5 10 06 14 011.0x2.0 3 27
20591-22-08 | M22x 1.5 12 08 14 011.0x 2.0 2.5 27
20591-24-08T | M24 x 1.5 12 08 16 013.0x2.0 3 30
20591-24-10 | M24x 1.5 16 10 16 013.0x2.0 2.5 30
20591-30-10T | M30x 2 16 10 20 016.3x2.4 2l 36
20591-30-12 | M30x 2 20 12 20 016.3x 2.4 3 36
20591-36-12T | M36x 2 20 12 25 020.3x2.4 3.2 46
20591-36-14T | M36 x 2 22 14 25 020.3x2.4 3.2 46
20591-42-16T | M42x2 25 16 30 025.3x2.4 3.9 50
20591-52-20T | M52 x 2 32 20 38 033.3x2.4 4.5 60
20591-52-24T | M52 x 2 40 24 38 033.3x2.4 4.5 60
Note: 1.For use with braided hoses. 2.If use with spiral hoses,hose fitting series number is 20592-xx-xx.

10611
8ICJ METRIC MALE 60° CONE SEAT WITH BONDED SEAL
HOSE BORE DIMENSIONS

PART NO. THREAD E = = " = =
10611-14-04 M14x1.5 6 04 23.5 11 19
10611-14-06 M14x 1.5 10 06 25 11 19
10611-16-04 M16x 1.5 6 04 27.5 12 22
10611-16-05 M16x 1.5 8 05 27.5 12 22
10611-18-06 M18x 1.5 10 06 29.5 12 24
10611-22-06 M22x 1.5 10 06 30.5 14 27
10611-22-08 M22 x 1.5 12 08 31 14 27
10611-24-10 M24 x 1.5 16 10 35 14 30
10611-26-10 M26 x 1.5 16 10 35 16 32
10611-27-10D M27 x 1.5 16 10 35 16 32
10611-27-10 M27 x 2 16 10 37 18 32
10611-30-12D M30 x 1.5 20 12 38 18 36
10611-30-12 M30 x 2 20 12 38 18 36
10611-33-16 M33 x 2 25 16 43 20 46
10611-42-20 M42 x 2 32 20 46 20 50
10611-45-20 M45 x 2 32 20 46 20 55
10611-48-24 M48 x 2 40 24 46 20 55
10611-52-24 M52 x 2 40 24 46 20 60

ZHEJIANG HUACHENG HYDRAULIC MECHINERY CO.,LTD.

Note: 1.For use with braided hoses. 2.If use with spiral hoses,hose fitting series numberis 10612-xx—xx.

ZHEJIANG HUACHENG HYDRAULIC MECHINERY CO. LTD.

31

32




H Swaged Hose Fitting H Swaged Hose Fitting

C A

]|

METRIC MALE 60° CONE SEAT 10711

\52 82 :'rl>é
20611 20611-T U HHUJLMUUJ— GB METRIC MALE 74° CONE SEAT
ARG R HOSE BORE DIMENSIONS \S1
; DN DASH A C S2
HOSE BORE DIMENSIONS
20611-14-04 M14 x1.5 6 04 18 5.5 19 PART NO. THREAD E
20611-16-05 M16x 1.5 8 05 19 5.5 22 DN DASH A Cc S
20611-16-06 M16x 1.5 10 06 19 5.5 22 10711-10-02 M10 x 1 4 02 23 12.5 14
20611-18-06 M18x 1.5 10 06 20 b5 24 10711-10-03 M10 x 1 5 03 03 125 14
20611-20-08 M20x 1.5 12 08 22 6.5 27
20611-22-08 M22 x 1.5 12 08 2o 5 6 57 10711-12-03 M12x 1.5 5 03 26.5 15.7 14
20611-24-10 M24 x 1.5 16 10 24.5 6.5 30 10711-12-03C M12x 1.25 5 03 24.5 14 14
20611-26-10 M26 x 1.5 16 10 25.5 6 32 10711-14-04 M14x1.5 6 04 30.5 18 17
SNt AN TS T = > = . . 10711-14-06 M14x 1.5 10 06 30.5 18 17
- - * .
20611-30-10D M30 x 1.5 16 10 26.5 6 36 10711=16-05 MiGx1:5 8 05 31.5 19 17
20611-30-12D M30x 1.5 20 12 26.5 6 36 10711-16-06 M16x 1.5 10 06 31.5 19 17
20611-30-12 M30 x 2 20 12 26.5 6 36 10711-18-06 M18 x 1.5 10 06 31.5 19 19
2215)0661111 _3396_1166T mgg b g gg 1 g gg 2'2 j:_., 10711-22-08 M22 x 1.5 12 08 35 19.5 22
- - x .
50611-45-20T M45 x 2 30 20 31 85 55 10711-24-08 M24 x 1.5 12 08 37 20 24
20611-52-24T M52 x 2 40 24 32 10 60 10711-27-10 M27 x 1.5 16 10 385 20.5 27
. : : : - i ; 10711-30-12 M30 x 1.5 20 12 42.5 23 32
Note: 1.For use with braided hoses. 2.If use with spiral hoses,hose fitting series number is 20612-xx-xx. x
10711-30-12E M30 x 2 20 12 45.5 26 32
10711-33-12 M33 x 2 20 12 45 26 36
10711-36-14 M36 x 2 22 14 45 26 38
10711-39-16 M39 x 2 25 16 48 27.5 41
10711-42-20 M42 x 2 32 20 b 28.5 46
90° METRIC MALE 60° CONE SEAT 10711-45-20 M45 x 2 32 20 52 28.5 46
o
20691-T Note: 1.For use with braided hoses. 2.If use with spiral hoses,hose fitting series number is 10712-xx-xx.
BART NG TREANE HOSE BORE DIMENSIONS
: DN DASH A C H S2
20691-14-04 M14x1.5 6 04 30 T 37 19
20691-16-05 M16x 1.5 8 05 33 5.5 40.5 22
20691-18-06 M18 x 1.5 10 06 35.3 5.5 43.8 24
20691-22-08 M22x 1.5 12 08 41 6 [P 2
20691-27-10DT M27 x 1.5 16 10 56 6 55 32
20691-30-12D M30x 1.5 20 12 66.2 6 68.5 36
20691-36-16 M36 x 2 25 16 78 6.5 76.5 41
20691-36-14T M36 x 2 22 14 ifin2 55 67.5 41
20691-39-16T M39 x 2 25 16 76.7 6.5 74 46
20691-45-20T M45 x 2 32 20 g5 8.5 85 55
20691-52-24T M52 x 2 40 24 109.4 10 99 60
Note: 1.For use with braided hoses. 2.If use with spiral hoses,hose fitting series number is 20692-xx-xx.

ZHEJIANG HUACHENG HYDRAULIC MECHINERY CO.,LTD. ZHEJIANG HUACHENG HYDRAULIC MECHINERY CO. LTD.

33 34



H Swaged Hose Fitting

A

-~

\\\\!

i ST

LY

H Swaged Hose Fitting

20741
45° GB METRIC FEMALE 74° CONE SEAT

= GB METRIC FEMALE 74° CONE SEAT
20711 20711-T
HOSE BORE DIMENSIONS

PART NO. THREAD E DN DASH A C )
20711-10-02 M10X1 o 02 14 7.5 14
20711-12-03C M12X1.25 5 03 14 9 17
20711-12-03 M12X1.5 5 03 14 10 17
20711-12-04 M12X1.5 6 04 14.5 10 17
20711-14-04 M14X1.5 6 04 15.5 8.5 19
20711-14-05 M14X1.5 8 05 15.5 8.5 19
20711-14-06 M14X1.5 10 06 15.5 8.5 19
20711-16-04 M16X1.5 6 04 16.5 8 22
20711-16-05 M16X1.5 8 05 16.5 8 22
20711-16-06 M16X1.5 10 06 16 8 22
20711-18-05T M18X1.5 8 05 16 8 22
20711-18-06 M18X1.5 10 06 17.5 10 24
20711-20-06T M20X1.5 10 06 16 10 24
20711-20-08 M20X1.5 12 08 18.5 10 27
20711-22-06T M22X1.5 10 06 16 10 27
20711-22-08 M22X1.5 12 08 18.5 10 27
20711-22-10 M22X1.5 16 10 19.5 10 27
20711-24-08T M24X1.5 12 08 16.5 il 30
20711-27-08T M27X1.5 12 08 18.5 11 32
20711-27-10T M27X1.5 16 10 19.5 1 32
20711-27-12 M27X1.5 20 12 21.5 11 32
20711-30-10T M30X1.5 16 10 18.5 1 36
20711-30-12 M30X1.5 20 12 21.5 11 36
20711-33-10T M33X2 16 10 20 13 41
20711-33-12T M33X2 20 12 20 13 41
20711-33-14 M33X2 22 14 21.5 13 41
20711-36-12T M36X2 20 12 20 14 41
20711-36-14T M36X2 22 14 20 14 4
20711-36-16 M36X2 25 16 23 14 41
20711-39-16T M39X2 25 16 23.5 14 46
20711-42-16T M42X2 25 16 23.5 15 50
20711-42-20 M42X2 32 20 26 15 50
20711-45-20T M45X2 32 20 25 15 55
20711-52-24T M52X2 40 24 25 i 60

HOSE BORE DIMENSIONS

PART NO. THREAD E DN DASH A C H So
20741-14-04 M14x 1.5 6 04 40.5 8.5 18.5 19
20741-16-05 M16x 1.5 8 05 44.4 8 20 22
20741-18-06 M18x 1.5 10 06 45.7 14 21.4 24
20741-22-08 M22 x 1.5 12 08 58.9 10 24 2.
20741-27-10 M27 x 1.5 16 10 70.7 11 26.4 32
20741-30-12 M30x 1.5 20 12 78.1 11 30 36
20741-33-12 M33 x 2 20 12 77.4 13 30 41
20741-33-16 M33 x 2 25 16 85 13 30.8 41
20741-36-14 M36 x 2 22 14 79.8 14 29.6 41
20741-36-16 M36 x 2 25 16 857 14 315 41
20741-39-16 M39 x 2 25 16 86.1 14 31.8 46
20741-45-20W M45 x 2 32 20 97 i:5 36.2 b5
20741-52-24W M52 x 2 40 24 115.3 17 40.9 60

Note: 1.For use with braided hoses. 2.If use with spiral hoses,hose fitting series number is 20742-xx—-xx.

Note: 1.For use with braided hoses. 2.If use with spiral hoses,hose fitting series number is 20712-xx—XXx.

ZHEJIANG HUACHENG HYDRAULIC MECHINERY CO.,LTD.

ZHEJIANG HUACHENG HYDRAULIC MECHINERY CO. LTD.

35

36




H Swaged Hose Fitting H Swaged Hose Fitting

C. A
20791 ‘+
90° GB METRIC FEMALE 74° CONE SEAT _
82 's2 METRIC FEMALE MULTISEAT
— T HOSE BORE DIMENSIONS 20111 20111-T
' DN DASH A c H S2 HOSE BORE DIMENSIONS
20791-12-04C | M12x1.25 6 04 30 9 33.5 17 FASEND, SHREADLE DN DASH A c s2
20791-12-04 M12x 1.5 6 04 30 10 33.5 17 20111-10-03 M10X1 5 03 18 25 14
20791-14-04 M14 x1.5 6 04 30 8.5 34 19 20111-10-04 M10X1 6 04 18 25 14
20791-16-04 M16x 1.5 6 04 30 8 35 22 20111-12-04 M12X1.5 6 04 18.5 4 17
20791-16-05 M16 x 1.5 8 05 34 8 38 22 20111-12-05 M12X1.5 8 05 18.5 4 17
20791-18-06 M18 x 1.5 10 06 35.3 10 41.3 24 20111-14-04 M14X1.5 6 04 19.5 45 19
20791-22-08 | M22x1.5 12 08 41 10 48 27 20111-14-05 M14X1.5 8 05 19.5 45 19
20791-22-10 | M22x1.5 16 10 56 10 52.5 27 20111-16-04 M16X1.5 6 04 19.5 45 22
20791-27-10 M27 x 1.5 16 10 56 11 54 32 50111-16-05 M16X1.5 8 05 20 45 50
20791-30-12 M30 x 1.5 20 12 66.2 11 63.5 36 50111-16-06 M16X1.5 10 06 20 45 00
20791-33-12 M33 x 2 20 12 65.5 13 63.5 41 20111=18-08T M18X1.5 8 05 215 4 o4
20791-33-16 M33x 2 25 16 76.7 13 69 41 20111-18-06 MA18X1.5 10 06 21 5 4 o4
20791-36-12 M36 x 2 20 12 65.5 14 63.5 41 20111-18-08 M18X1.5 12 08 2 4 55
;g;gl‘gg'lg ::gg "2 ig ]g ;135 1: 3‘;': :; 20111-20-06T M20X1.5 10 06 20.5 55 24
s ;5 ;ow orrE a 5 = o & '5 - 85 o 20111-20-08 M20X1.5 12 08 23 5.5 27
= = X g
e e b T
20791-52-20W M52 x 2 32 20 93 17 84.5 60 2200111111 2222 Oc?aT ﬂzzil z :g gg 22335 : 27
20791-52-24W M52 x 2 40 24 110.7 17 96.5 60 B . :
20111-22-10 M22X1.5 16 10 24.5 5 27
Note: 1.For use with braided hoses. 2.If use with spiral hoses,hose fitting series number is 20792-xx—XX. 20111-24-08T M24X1.5 12 08 22 55 30
7 s 20111-24-10 M24X1.5 16 10 26 5 30
c s D 20111-27-08DT M27X1.5 12 08 23 5.5 32
e Y. e = f : = 20111-27-10DT M27X1.5 16 10 23.5 5.5 32
ﬂ}I_UUUUUUUJ—' Wﬂm‘]ﬂj 20111-27-12D M27X1.5 20 12 26 5.5 32
1 s METRIC MALE 90° CONE SEAT 20111-27-10T M27X2 16 10 23.5 7 32
10811L 10811L-LN 20111-30-12D M30X1.5 20 12 26.5 6 36
I EADE HOSE BORE DIMENSIONS 20111-30-12 M30X2 20 12 26.5 7 36
X 20111-36-12T M36X2 20 12 26 = 41
DN DASH A & 51 S2
20111-36-14T M36X2 22 14 26 7 41
10811L-12-04 M12X1.5 6 04 46 34 17 17 ST o p > o = 7
10811L-12-04A M12X1 6 04 44,5 | 32.5 17 17 e '
10811L-14-04 M14X1.5 6 04 46 | 34 | 17 | 19 e ) Mas2 e 16 285 Y o
10811L-14-06 M14X1.5 10 06 46.5 34 17 19 20111-42-16T M42X2 25 16 30 8.5 50
10811L-16-04 M16X1.5 6 04 46.5 34 19 22 20111-45-20T M45X2 32 20 31.5 8.5 55
10811L-16-06 M16X1.5 10 06 46.5 34 22 22 20111-52-20T M52X2 32 20 33 9 60
10811L-20-06 M20X1.5 10 6 5T 40 27 27 50111-52-24T M52X2 40 54 33 9 60
10811L-20-08 M20X1.5 12 08 575 | 40 27 a7 20111-64-32T M64X2 50 30 35 14 75
10811L-22-08 M22X1.5 12 08 62.5 | 45 27 27
Note: When need to order item with lock nut, please add. LN after the item No... For example, 10811L—12-04LN. Note: 1.For use with braided hoses. 2.If use with spiral hoses, hose fitting series number is 201 12—xx—xx.

ZHEJIANG HUACHENG HYDRAULIC MECHINERY CO.,LTD. ZHEJIANG HUACHENG HYDRAULIC MECHINERY CO. LTD.

37 38



H Swaged Hose Fitting H Swaged Hose Fitting

20141 20141-T 45° METRIC FEMALE MULTISEAT 20191-T 90° METRIC FEMALE MULTISEAT
HOSE BORE DIMENSIONS HOSE BORE DIMENSIONS
PART NO. THREAD E = T = = o = PART NO. THREAD E 5N SASH A c m =
20141-10-03 M10X1 5 03 411 25 20.7 14 20191-10-03 M1 0X1 5 03 o7 o5 355 14
20141-10-04 M10X1 6 04 43.2 25 21.5 14 50191-12-04 M12X15 6 04 30 4 375 17
20141-12-03 M12X1.5 5 03 40.9 4 21.2 17 20181-14-04 M14X1.5 a 04 30 i a8 18
20141-12-04 M12X1.5 6 04 43 4 22 17
20141-14-04 M14X1.5 6 04 43.4 45 213 19 ERiEISURe M 8 8 & e L L
20141-14-05 M14X1.5 8 05 455 45 222 19 20191-16-04 M16X1.5 6 04 30 4.5 38.5 19
20141-16-04 M16X1.5 6 04 437 45 21.4 22 20191-16-05 M16X1.5 8 05 33 4.5 41.5 22
20141-16-05 M16X1.5 8 05 45.8 45 22.5 22 20191-16-06 M16X1.5 10 06 35.3 4.5 43.8 22
20141-16-06 M16X1.5 10 06 47.4 45 24.1 22 20191-18-05T M18X1.5 8 05 33 4 43 24
20141-18-05T M18X1.5 8 05 46.8 4 22.6 24 20191-18-06 M18X1.5 10 06 35.3 4 453 24
20141-18-06 M18X1.5 10 06 48.5 4 24.2 24 20191-18-08 M18X1.5 12 08 405 4 50.5 24
ATt MIEATS i% £ e d Bl i 20191-20-06T M20X1.5 10 06 35.3 5.5 44.8 24
20141-20-06T M20X1.5 10 06 48.2 5.5 23.9 27 R e 55 = a5 = = 57
20141-20-08 M20X1.5 12 08 62.1 5.5 27.2 27
20141-22-06T M22X1.5 10 06 58.4 5 25.7 27 20191:22:00T M2EX1.5 10 06 3.6 3 76.8 27
20141-22-08 M22X1.5 12 08 62.1 5 27.2 27 20191-22-08 M22X1.5 12 08 41 5 52.5 27
20141-24-08T M24X1.5 12 08 61.1 5.5 26.1 30 20191-24-08T M24X1.5 12 08 41 5.5 51 30
20141-24-10 M24X1.5 16 10 75.4 5 29.6 30 20191-24-10 M24X1.5 16 10 58 5 58.5 30
20141-27-10DT M27X1.5 16 10 74.4 5.5 29.6 32 20191-27-10DT M27X1.5 16 10 56 5.5 55.5 32
20141-27-10T M27X2 16 10 74.4 ] 29.6 32 20191-27-10T M27X2 16 10 56 55 555 32
2014130:5120 Ma0X15 20 ie 03 8 83.5 = 20191-30-12D |  M30X1.5 20 12 67.5 6 68.5 36
20141-30-12 M30X2 20 12 80.9 6 335 36 50191-30-12 M30X2 20 12 675 6 68.5 6
20141-36-14T M36X2 22 14 83 7 32.64 41 B A P 56 5 g 4 Ea pr
20141-39-16T M39X2 25 16 88.2 7 33.95 46
20141-45-20T M45X2 32 20 99.1 8.5 38.4 55 eigiese=1AT Magxe s L ez I B 4]
20141-52-24T M52X2 40 24 114.1 9 434 60 20191-39-16T M39X2 25 16 76.7 ’ 73.5 46
20191-45-20T M45X2 32 20 91.5 8.5 85 55
Note: 1.For use with braided hoses. 2.If use with spiral hoses, hose fitting series number is 20142-xx-xx. 50191-50_24T M52X2 40 o4 109 4 9 100 60
20191-64-32T M64X2 50 32 131.75 14 122.3 75
Note: 1.For use with braided hoses. 2.If use with spiral hoses, hose fitting series number is 20192—xx—xx.

ZHEJIANG HUACHENG HYDRAULIC MECHINERY CO.,LTD. ZHEJIANG HUACHENG HYDRAULIC MECHINERY CO. LTD.

39 40



H Swaged Hose Fitting

!

I T et e,

50011
METRIC STANDPIPE DIN2353

H Swaged Hose Fitting

50041
45° METRIC STANDPIPE STRAIGHT DIN2353

PART NO. TUBE O.D. HOSE BORE DIMENSIONS NOTE

DN DASH A C

50011-06-03 6 5 03 28.5 22

50011-06-04 6 04 29 22

50011-10-05 10 8 05 31 23

50011-10-06 10 10 06 32 23

50011-12-06 12 10 06 33.5 23

50011-12-08 12 12 08 33 23

50011-15-06 15 10 06 35.5 25

50011-15-08 15 12 08 35.5 25 ;

50011-18-08 18 12 08 36.5 26 L<86rios

50011-18-10 18 16 10 41 26

50011-22-10 22 16 10 44 28

50011-22-12 22 20 12 44 28

50011-22-16 22 25 16 46 28

50011-28-16 28 25 16 47 30

50011-35-20 35 32 20 56 36

50011-42-24 42 40 24 62 40

50011-08-04 8 6 04 31 24

50011-08-05 8 8 05 33 24

50011-08-06 8 10 06 33 24

50011-10-04 10 6 04 35 26

50011-12-04 12 6 04 34.5 26

50011-12-05 12 8 05 35.5 26

50011-14-06 14 10 06 39.5 29

50011-14-08 14 12 08 40 29

50011-14-12 14 20 12 455 29

50011-16-08 16 12 08 41 30 S-series

50011-16-10 16 16 10 45.5 30

50011-20-10 20 16 10 52.5 36

50011-20-12 20 20 12 52.5 36

50011-25-12 25 20 12 56 40

50011-25-16 25 25 16 57 40

50011-30-16 30 25 16 63 4

50011-30-20 30 32 20 64 44

50011-38-16 38 25 16 69 50

50011-38-20 38 32 20 70 50

T . HOSE BORE DIMENSIONS o
DN DASH A (& 1
50041-06-03 6 5 03 47.8 22 27.5
50041-06-04 6 6 04 52.2 22 30.1
50041-08-05 8 8 05 55.7 24 32.4
50041-08-06 8 10 06 57.9 24 33.1
50041-10-05 10 8 05 54 23 30.6
50041-10-06 10 10 06 56.1 23 31.3
50041-12-06 12 10 06 58.5 23 34.5
50041-12-08 12 12 08 72.4 23 37.4
50041-15-06 15 10 06 59.3 25 34.5 .
L-series
50041-15-08 15 12 08 70.6 25 35.7
50041-18-08 18 12 08 73.4 26 38.5
50041-18-10 18 16 10 84.6 26 39.8
50041-22-10 22 16 10 87.1 28 42.3
50041-22-12 22 20 12 93.3 28 45.9
50041-22-16 22 25 16 100.9 28 46.7
50041-28-16 28 25 16 103.7 30 49.5
50041-35-20 35 32 20 118.5 36 57.8
50041-08-04 8 6 04 53.6 24 31.5
50041-10-04 10 6 04 54 26 31.9
50041-12-04 12 6 04 57.1 26 35.1
50041-12-05 12 8 05 59.2 26 35.9
50041-14-06 14 10 06 61.6 29 37.3
50041-14-08 14 12 08 73.8 29 38.8
50041-14-12 14 20 12 91.9 29 43.8
50041-16-08 16 12 08 76.6 30 41.7
50041-16-10 16 16 10 87.8 30 43 S-series
50041-20-10 20 16 10 92.8 36 48
50041-20-12 20 20 12 100.7 36 52.6
50041-25-12 25 20 12 101.8 40 54.4
50041-25-16 25 25 16 109.4 40 55.2
50041-30-16 30 25 16 113.6 44 59.4
50041-30-20 30 32 20 124.2 44 63.5
50041-38-16 38 25 16 117.9 50 63.6
50041-38-20 38 32 20 128.4 50 67.7

Note: 1.For use with braided hoses.

2.If use with spiral hoses, hose fitting series number is 50042—xx—xx.

Note: 1.For use with braided hoses.

2.1f use with spiral hoses, hose fitting series number is 50012-xx-xx.

ZHEJIANG HUACHENG HYDRAULIC MECHINERY CO.,LTD.

ZHEJIANG HUACHENG HYDRAULIC MECHINERY CO. LTD.

41

42




H Swaged Hose Fitting

—

D

[
|
!

50091
90° METRIC STANDPIPE DIN235

H Swaged Hose Fitting

lm@ >10m1
GB METRIC STANDPIPE

HOSE BORE DIMENSIONS
PART NO. TUBE O.D. DN DASH A c m NOTE
50091-06-03 6 05 03 26.5 22 42.5
50091-06-04 6 6 04 30 22 45.5
50091-08-05 8 8 05 33 24 50.5
50091-08-06 8 10 06 35.3 24 52.8
50091-10-05 10 8 05 33 23 49.5
50091-10-06 10 10 06 35.3 23 51.8
50091-12-06 12 10 06 35.3 23 53.8
50091-12-08 qh 12 08 41 23 59
50091-15-06 15 10 06 35.3 25 53.8 L-series
50091-15-08 £l 12 08 41 25 59
50091-18-08 18 12 08 41 26 60
50091-18-10 18 16 10 56.5 26 64.5
50091-22-10 22 16 10 56.5 28 66.5
50091-22-12 22 20 12 65.5 28 76
50091-22-16 22 25 16 76.7 28 81.5
50091-28-16 28 25 16 T e 30 83.5
50091-35-20 35 32 20 93 36 100.5
50091-08-04 8 6 04 30 24 475
50091-10-04 10 6 04 30 26 49.5
50091-12-04 12 6 04 30 26 49.5
50091-12-05 12 8 05 33 26 525
50091-14-06 14 10 06 35.3 29 57.8
50091-14-08 14 12 08 41 29 63
50091-16-08 16 12 08 41 30 64
50091-16-10 16 16 10 56.5 30 68.5 i
S-series
50091-20-10 20 16 18] 56.5 36 74.5
50091-20-12 20 20 12 65.5 36 85
50091-25-12 25 20 12 65.5 40 89
50091-25-16 25 25 16 76.7 40 93.5
50091-30-16 30 20 16 76.7 40 93.5
50091-30-20 30 32 20 91.5 44 108.5
50091-38-16 38 En) 16 TH. 7 50 1155
50091-38-20 38 32 20 91.5 50 114.5

HOSE BORE DIMENSIONS

PART NO. TUBE O.D. DN DASH A C
51011-04-03 4 5 03 27 17
51011-06-03 6 5 03 30.5 19
51011-06-04 6 6 04 31 19
51011-08-04 8 6 04 31 19
51011-08-05 8 8 05 31.5 19
51011-08-06 8 10 06 32 19
51011-10-04 10 6 04 35 22
51011-10-05 10 8 05 35 e
51011-10-06 10 10 06 35 22
51011-12-05 12 8 05 35 22
51011-12-06 12 10 06 35 22
51011-14-06 14 10 06 35 22
51011-14-08 14 12 08 35.5 22
51011-16-06 16 10 06 35 22
51011-16-08 16 i 08 36 22
51011-16-10 16 16 10 36.5 22
51011-16-12 16 20 12 38 22
51011-18-12 18 20 12 41.5 24
51011-22-12 22 20 12 45 28
51011-22-14 22 e 14 45 28
51011-28-16 28 25 16 49 30
51011-34-20 34 32 20 53 33
51011-42-24 42 40 24 b7 35

Note: 1.For use with braided hoses. 2.If use with spiral hoses,hose fitting series number is 51012-xx—xx.

Note: 1.For use with braided hoses. 2.If use with spiral hoses,hose fitting series number is 50092-xx-xx.

ZHEJIANG HUACHENG HYDRAULIC MECHINERY CO.,LTD.

ZHEJIANG HUACHENG HYDRAULIC MECHINERY CO. LTD.

43

44




H Swaged Hose Fitting

51091
90° GB METRIC STANDPIPE

H Swaged Hose Fitting

HOSE BORE DIMENSIONS

PART NO. TUBE O.D. DN DASH A c H
51091-06-04 6 6 04 30.5 19 42.5
51091-06-06 6 10 06 35.3 19 47.8
51091-08-04 8 6 04 30 19 42.5
51091-08-05 8 8 05 33 19 45.5
51091-10-04 10 6 04 30 22 45.5
51091-10-06 10 10 06 35.8 22 50.8
51091-12-06 12 10 06 35.3 22 50.8
51091-12-08 12 12 08 41 22 56
51091-14-06 14 10 06 35.3 22 50.8
51091-14-08 14 12 08 41 22 56
51091-15-10 15 16 10 56.5 26 64.5
51091-16-08 16 12 08 42 22 56
51091-16-10 16 16 10 56.5 22 60.5
51091-18-10 18 16 10 56.5 24 62.5
51091-18-12 18 20 12 64.9 24 72
51091-22-14 22 22 14 12 28 77
51091-28-16 28 25 16 76.7 30 83.5
51091-34-20 34 32 20 91.5 33 97.5
51091-42-24 42 40 24 109.4 35 113

Note: 1.For use with braided hoses. 2.If use with spiral hoses,hose fitting series number is 51092-xx-xx.

NL
NS
RETAINING NUTS
) W
THREAD DIMENSIONS PN BAR
PART NO. = TUBE 0.D. B ; = vl
NL—12 M12x 1.5 6 14.5 6 14
NL-14 M14x 1.5 8 145 8 17
NL-16 M16 x 1.5 10 155 10 19
NL-18 M18x 1.5 12 155 12 22
NL-22 M22 x 1.5 15 17 15 27 ,
NL-26 M26 x 1.5 18 18 18 32 S
NL-30 M30 x 2 22 20 22 36
NL-36 M36 x 2 28 21 28 41
NL-45 M45 x 2 35 24 35 50
NL-52 M52 x 2 42 24 42 60
NS-14 M14x 1.5 6 16.5 6 17
NS-16 M16x 1.5 8 16.5 8 19
NS-18 M18 x 1.5 10 175 10 22
NS-20 M20 x 1.5 12 175 12 24
NS-22 M22 x 1.5 14 20.5 14 o7 :
S-series
NS-24 M24 x 1.5 16 20.5 16 30
NS-30 M30 x 2 20 24 20 36
NS-36 M36 x 2 25 27 25 46
NS-42 M42 x 2 30 29 30 50
NS-52 M52 x 2 38 32.5 38 60

ZHEJIANG HUACHENG HYDRAULIC MECHINERY CO.,LTD.

ZHEJIANG HUACHENG HYDRAULIC MECHINERY CO. LTD.

45

46




H Swaged Hose Fitting H Swaged Hose Fitting

72
A
LA
a RL = == 12211
RS [ /b
| BSP MALE O-RING SEAL
b CUTTING RING
BART MO TUBE O.D. DIMENSIONS PN BAR — —— HOSE BORE 0 RING DIMENSIONS

' D | | MPa ' DN DASH AN A g S1
RL-06 6 12211-04-04 | G1/4"x 19 6 04 0111 23.5 11 19
RL-08 8 : 12211-04-06 | G1/4"x 19 10 06 o111 23.5 11 19

the same as S-series
RL-10 10 12211-06-06 | G3/8"x 19 10 06 0113 26.5 12 22
RL-12 12 12211-08-04 | G1/2"x 14 6 04 0115 33.5 14 27
RL-15 15 | JeEEs 12211-08-06 | G1/2"x 14 10 06 0115 33.5 14 o7
RL-18 18 12211-08-08 | G1/2"x 14 12 08 0115 34 14 27
RL-22 22 12211-10-10 | G5/8"x 14 16 10 0910 36 15.5 30
RL-28 28 12211-12-10 | G3/4"x 14 16 10 0119 33.5 15.5 32
RL-35 35 12211-12-12 | G3/4"x 14 20 12 0119 38 15.5 32
RL-42 42 12211-12-16 | G3/4"x 14 25 16 0119 36 15.5 32
RS-06 6 12211-16-16 | G1"x 11 25 16 0217 44.5 18.5 41
RS-08 8 12211-20-20 | G1.1/4" x 11 32 20 0222 46 20 50
RS-10 10
RS_12 12 Note: 1.For use with braided hoses. 2.If use with spiral hoses,hose fitting series number is 12212-xx—xx.
RS-14 14 .
S-series
RS-16 16
RS-20 20
RS-25 25
RS-30 30
RS-38 38
ZHEJIANG HUACHENG HYDRAULIC MECHINERY CO.,LTD. ZHEJIANG HUACHENG HYDRAULIC MECHINERY CO.,LTD.

47 48



H Swaged Hose Fitting H Swaged Hose Fitting

A A
C C
(R - 12611 Ui 2 rreerrezem 12611A
an ;LHMJUUUULJ BSP MALE 60° CONE SEAT el | [Il]l]lj_[[j BSP MALE DOUBLE USE FOR 60° CONE
T w e H{ SEAT OR BONDED SEAL
HOSE BORE DIMENSIONS HOSE BORE DIMENSIONS

PART NO. THREAD E = T = = = PART NO. THREAD E = T = - o

12611-02-03 G1/8"x 28 5 03 22 10 12 12611A-02-03 | G1/8"x28 5 03 22 10 14

12611-04-04 Gl ixie 6 g 258 i= L 12611A-04-04 | G1/4"x19 6 04 24.5 12 19

1261 t=3B8=03 a3/8 10 i 08 20 18 17 12611A-04-05 | G1/4"x 19 8 05 24.5 12 19

12611-06-06 G3/8"x19 10 06 27.5 13.5 i T e = = p= o =

12611-06-08 G3/8"x 19 13 08 26.5 13.5 19 TR [ B . - e N
12611-08-06 G1/2"x 14 10 06 30.5 16 22

3961 120B=08 pew— e o8 31 16 55 12611A-06-08 | G3/8"x 19 12 08 28.5 135 22

12611-10-08 G5/8"x 14 i3 08 32.5 17.5 24 12611A-08-06 | G1/2"x14 10 06 33 16 27

19611=10=10 G5/8"x 14 16 10 33.5 17.5 24 12611A-08-08 | G1/2"x 14 12 08 33.5 16 27

12611-12-08 G3/4"x 14 i 08 35.5 18.5 27 12611A-08-10 | G1/2"x 14 16 10 32 16 27

12611-12-10 G3/4" x 14 16 10 37 18.5 27 12611A-10-08 | G5/8"x 14 12 08 35 17.5 30

12611-12-12 G3/4"x 14 19 12 36.5 18.5 ] 12611A-10-10 | G5/8"x 14 16 10 36 17.5 30

12611-16-12 G1"x 11 20 12 40.5 20.5 36 12611A-12-08 | G3/4"x 14 12 08 36.5 18.5 32

LeCli=10=15 o] == L Ahe | 20R 28 12611A-12-10 | G3/4"x 14 16 10 37.5 18.5 32

12611-20-16 G1.1/4"x 11 25 16 43.5 20.5 46 T e o S T e s S e 5

12611-20-20 G1.1/4"x 11 32 20 44.5 20.5 46 E i e ——— s 5 e e "
12611-24-20 G.1/2"x 11 32 20 49 23 50

T P e T 75 o = in = 12611A-16-16 G1"x 11 25 16 43.5 20.5 41

e —— G2"x 11 = 35 53.5 56 & 65 12611A-20-16 | G1.1/4"x 11 25 16 45.5 20.5 50

12611A-20-20 | G1.1/4"x 11 32 20 46.5 20.5 50

Note: 1.For use with braided hoses. 2.If use with spiral hoses,hose fitting series number is 12612-xx-xx. 12611A-24—24 G.1/2"x 11 40 o4 49 23 55

12611A-32-32 G2"x 11 50 32 54.5 25.5 70

Note: 1.For use with braided hoses. 2.If use with spiral hoses,hose fitting series number is 12612A-xx-xx.

ZHEJIANG HUACHENG HYDRAULIC MECHINERY CO.,LTD. ZHEJIANG HUACHENG HYDRAULIC MECHINERY CO. LTD.

49 50



H Swaged Hose Fitting

I

H Swaged Hose Fitting

g i

22611D
BSP FEMALE 60° CONE DOUBLE HEXAGON

HOSE BORE DIMENSIONS

PART NO. THREAD E DN DASH A C S1 S0
22611D-04-04 G1/4"X19 6 04 23.5 55 19 19
22611D-06-06 G3/8"X19 10 06 26.5 6.3 22 22
22611D-08-08 G1/2"X14 12 08 31 7.5 27 “r
22611D-10-08 G5/8"X14 12 08 31 9.5 30 30
22611D-12-08 G3/4"X14 12 08 31.5 10.9 32 32
22611D-12-12 G3/4"X14 20 12 33.5 10.9 32 32
22611D-16-16 G1"X11 25 16 35.5 11.7 41 41
22611D-20-20 | G1.1/4"X11 32 20 44 11 50 50

Note: 1.For use with braided hoses. 2.If use with spiral hoses,hose fitting series number is 22612D-xx-xx.

22611D-SM
BSP FEMALE 60° CONE DOUBLE HEXAGON

o> | Fl
L]
\S2
22611 22611-T 22611-W
BSP FEMALE 60° CONE
HOSE BORE DIMENSIONS
PART NO. THREAD E oN DASH o~ C 52
22611-02-03 G1/8"X28 5 03 15 5.5 14
22611-02-04 G1/8"X28 6 04 15 5.5 14
22611-04-03 G1/4"X19 5 03 17 5.5 19
22611-04-04 G1/4"X19 6 04 18 5.5 19
22611-04-05 G1/4"X19 8 05 18 5.5 19
22611-04-06 G1/4"X19 10 06 18 5.5 19
22611-06-04 G3/8"X19 6 04 19 6.3 22
22611-06-05 G3/8"X19 8 05 19 6.3 22
22611-06-06 G3/8"X19 10 06 19.5 6.3 22
22611-06-08 G3/8"X19 12 08 19.5 6.3 22
22611-08-06T G1/2"X14 10 06 21 7.5 27
22611-08-08 G1/2"X14 12 08 21.5 7.5 27
22611-10-08 G5/8"X14 12 08 22 9.5 30
22611-10-10 G5/8"X14 16 10 23.5 9.5 30
22611-12-08T G3/4"X14 12 08 22 10.9 32
22611-12-10 G3/4"X14 16 10 24 10.9 32
22611-12-12 G3/4"X14 20 12 24 10.9 32
22611-16-12T G1"X11 20 12 24 11.7 41
22611-16-14 G1"X11 22 14 26 11.7 41
22611-16-16 G1"X11 25 16 27 11.7 41
22611-20-16T | G1.1/4"X11 25 16 27.5 11 50
22611-20-20W | G1.1/4"X11 32 20 30.5 11 50
22611-24-20T | G1.1/2"X11 32 20 32 13 55
22611-24-24W | G1.1/2"X11 40 24 32 13 55
22611-32-24T G2"X11 40 24 30 16 70
22611-32-32W G2"X11 50 32 31.9 16 70
Note: 1.For use with braided hoses. 2.If use with spiral hoses,hose fitting series number is 22612-xx-xx.

HOSE BORE DIMENSIONS

PART NO. THREAD E DN DASH A C Y S2
22611D-04-04SM| G1/4"X19 6 04 23.5 55 14 19
22611D-06-06SM| G3/8"X19 10 06 245 6.3 17 22
22611D-08-08SM| G1/2"X14 12 08 29 7.5 22 27
22611D-10-08SM| G5/8"X14 12 08 29 955 22 30
22611D-12-08SM| G3/4"X14 12 08 31.5 10.9 27 32
22611D-12-128M| G3/4"X14 20 12 33.5 10.9 27 32
22611D-16-16SM| G1"X11 25 16 35.5 11.7 32 41
22611D-20-20SM| G1.1/4"X11 32 20 42 11 41 50

ZHEJIANG HUACHENG HYDRAULIC MECHINERY CO.,LTD.

Note: 1.For use with braided hoses. 2.If use with spiral hoses,hose fitting series number is 22612D-xx-xx.

ZHEJIANG HUACHENG HYDRAULIC MECHINERY CO. LTD.

a1

52




H Swaged Hose Fitting

H Swaged Hose Fitting

22641 22641-W 22641-T
45° BSP FEMALE 60° CONE
HOSE BORE DIMENSIONS

PART NO. THREAD E DN DASH A C H )
22641-04-04 G1/4"X19 6 04 42.3 5.5 20.2 19
22641-06-04 (G3/8"X19 6 04 43.2 6.3 21 22
22641-06-05 G3/8"X19 8 05 45.3 6.3 22 22
22641-06-06 G3/8"X19 10 06 46.9 6.3 226 22
22641-08-06T G1/2"X14 10 06 48.1 7.b 23.9 27
22641-08-08 G1/2"X14 12 08 61.1 s 261 27
22641-10-08 Gb5/8"X14 12 08 61.4 9.5 26.5 30
22641-10-10 G5/8"X14 16 10 72.6 9.5 27.8 30
22641-12-08T G3/4"X14 12 08 61.8 10.9 26.9 32
22641-12-10 G3/4"X14 16 10 73 10.9 28.2 32
22641-12-12 G3/4"X14 20 12 79.2 10.9 31.8 32
22641-16-12T G1"X11 20 12 80.8 17 33.4 41
22641-16-16 G1"X11 25 16 88.4 .7 34.2 4
22641-20-16T | G1.1/4"X11 25 16 85.3 11 31.1 50
22641-20-20W | G1.1/4"X11 32 20 98.8 11 38 50
22641-24-24W [ G1.1/2"X11 40 24 116.8 13 45.5 55
22641-32-32W G2"X11 50 32 135.7 16 52.7 70

Note: 1.For use with braided hoses. 2.If use with spiral hoses,hose fitting series number is 22642-xx-XXx.

ZHEJIANG HUACHENG HYDRAULIC MECHINERY CO.,LTD.

22691-W 22691-T
90° BSP FEMALE 60° CONE
HOSE BORE DIMENSIONS

PART NO. THREAD E DN DASH 7 C H 2
22691-02-03 G1/8"X28 5 03 26.5 5.5 31.5 14
22691-02-04 G1/8"X28 6 04 30 5.5 34.5 14
22691-04-03 G1/4"X19 5 03 26.5 55 33.5 19
22691-04-04 G1/4"X19 6 04 30 5.5 36.5 19
22691-04-05 G1/4"X19 8 05 33 5.5 39.5 19
22691-04-06 G1/4"X19 10 06 30 55 36.5 19
22691-06-04 G3/8"X19 6 04 30 6.3 37.7 22
22691-06-05 G3/8"X19 8 05 33 6.3 40.7 A
22691-06-06 G3/8"X19 10 06 35.3 6.3 43 22
22691-08-06T G1/2"X14 10 06 35.3 7 43.3 27
22691-08-08 G1/2"X14 12 08 4 7.5 51 27
22691-08-10 G1/2"X14 16 10 56.5 7.5 55.5 27
22691-10-08 G5/8"X14 12 08 41 9.5 51.5 30
22691-10-10 G5/8"X14 16 10 56.5 8.5 56 30
22691-12-08T G3/4"X14 12 08 41 10.9 52.1 32
22691-12-10 G3/4"X14 16 10 56.5 10.9 56.6 32
22691-12-12 G3/4"X14 20 12 65.5 10.9 66 32
22691-16-12T G1"X11 20 12 65.5 1kl 68.3 41
22691-16-14 G1"X11 22 14 71.2 11.7 69.3 41
22691-16-16 G1"X11 25 16 76.7 117 73.8 41
22691-20-16T | G1.1/4"X11 25 16 78 11 69.5 50
22691-20-20W | G1.1/4"X11 32 20 91.5 11 84.3 50
22691-24-24W | G1.1/2"X11 40 24 109.4 13 103 85
22691-32-32W G2"X11 50 32 131.8 16 123.3 70

Note: 1.For use with braided hoses. 2.If use with spiral hoses,hose fitting series number is 22692-xx—xx.

ZHEJIANG HUACHENG HYDRAULIC MECHINERY CO. LTD.

53

54




H Swaged Hose Fitting

H Swaged Hose Fitting

j 22691K
E 90° BSP FEMALE 60° CONE COMPACT ELBOW
HOSE BORE DIMENSIONS
PART NO. THREAD E DN DASH A C H S1 Y
22691K-04-04 G1/4"X19 6 04 17.5| 5.5 | 18,5 11 19
22691K-06-04 G3/8"X19 6 04 20 6.8 24 16 22
22691K-06-05 G3/8"X19 8 05 20 6.3 24 16 22
22691K-06-06 G3/8"X19 10 06 20 6.3 24 16 22
22691K-08-06 G1/2"X14 10 06 23 7.5 | 285 19 27
22691K-08-08 G1/2"X14 12 08 2355 |NZ5E28 S 27
22691K-10-10 G5/8"X14 16 10 245| 95 (305 22 30
22691K-12-12 G3/4"X14 20 12 27.5|10.9 | 33 27 32
22691K-16-16 G1"X11 25 16 43 | 11.7 | 38.5| 33 41
Note: 1.For use with braided hoses. 2.If use with spiral hoses,hose fitting series number is 22692K-xx-XXx.

ZHEJIANG HUACHENG HYDRAULIC MECHINERY CO.,LTD.

BSP FEMALE

22111W 22111-T MULTISEAL
HOSE BORE DIMENSIONS

PART NO. THREAD E DN DASH A C 52
22111-02-04 G1/8"X28 6 04 19 2 14
22111-04-03 G1/4"X19 5 03 19 4 19
22111-04-04 G1/4"X19 6 04 19.5 4 19
22111-06-05 G3/8"X19 8 05 20 5 22
22111-06-06 G3/8"X19 10 06 20.5 5 22
22111-06-08 G3/8"X19 12 08 21 5 22
22111-08-06T G1/2"X14 10 06 22.5 6 27
22111-08-08 G1/2"X14 12 08 23 6 27
22111-08-10 G1/2"X14 16 10 24 6 27
22111-10-10 G5/8"X14 16 10 25 8 30
22111-10-12 G5/8"X14 20 12 25 8 30
22111-12-08T G3/4"X14 12 08 25 9.5 BZ
22111-12-10 G3/4"X14 16 10 26 9.5 32
22111-12-12 G3/4"X14 20 12 26 95 i
22111-16-12T G1"X11 20 12 26.5 11 41
22111-16-14 G1"X11 22 14 26.5 17 41
22111-16-16 G1"X11 25 16 28 11 41
22111-20-16T G1.1/4"X11 25 16 27.5 11 50
22111-20-20W G1.1/4"X11 32 20 31.5 10 50
22111-24-24W G1.1/2"X11 40 24 B 11.5 55
22111-32-32W G2"X11 50 32 34 15 70

Note: 1.For use with braided hoses. 2.If use with spiral hoses,hose fitting series number is 22112-xx—xx.

ZHEJIANG HUACHENG HYDRAULIC MECHINERY CO. LTD.

55

56




H Swaged Hose Fitting H Swaged Hose Fitting

22141-T 22141-W 22191-W
45° BSP FEMALE MULTISEAL 90° BSP FEMALE MULTISEAL
HOSE BORE DIMENSIONS HOSE BORE DIMENSIONS
PART NO. THREAD E N I = c v = PART NO. THREAD E 5 oy a S . -
22141-02-04 G1/8"X28 6 04 43.7 2 21.6 14 22191-02-04 | G1/8°X28 6 04 30 2 38.5 14
22141-04-03 | G1/4'X19 5 03 413 4 20.4 19 ecEIRE D D INE a2 5 B 2 i = 18
22141-04-04 |  G1/4"X19 6 04 437 4 216 | 19 EciBlmea | s 418 & O 20 < 285 12
22141-06-05 G3/8"X19 8 05 46.2 5 22.9 22 ESI N0 SleXID 8 05 3 4 415 19
22191-06-05 | G3/8"X19 8 05 33 5 42 22
22141-06-06 G3/8"X19 10 06 48.1 5 23.9 22 T 75 . S g THE o5
22141-06-08 G3/8"X19 12 08 60.4 5 25.4 22 05191-06-08 | G3/8"X19 12 08 41 5 s 00
22141-08-06T G1/2"X14 10 06 42.5 6 18.2 27 29191-08-08 G1/2"X14 12 08 41 6 52 o7
22141-08-08 G1/2"X14 12 08 61.8 6 26.8 27 22191-08-10 | G1/2'X14 16 10 56.5 6 58 27
99141-08-10 G1/2"X14 16 10 73 6 29 o7 22191-10-10 | G5/8"X14 16 10 56.5 8 57.5 30
22141-10-10 G5/8"X14 16 10 73.7 8 28.9 30 22191-10-12 | G5/8"X14 20 12 65.4 8 67 30
22141-10-12 | G5/8'X14 20 12 79.8 8 325 30 e e 12 08 41 9-5 = 32
22141-12-08T G3/4"X14 12 08 63.2 9.5 28.3 32 e2191-12-10 | G3'X14 18 19 28D 28 S e
22141-12-10 | G3/4"X14 16 10 704 | 95 | 208 32 = LR = N - = = i
22191-16-12T G1"X11 20 12 66.2 11 68.5 41
22141-12-12 G3/4"X14 20 12 80.6 9.5 33.2 32 T e 55 o oy r v Py
22141-16-12 G1"X11 20 12 81.6 11 335 41 e — G1%11 o = - i — =
22141-16-14 G1"X11 22 14 83.3 11 33 41 22191-20-16T | G1.1/4"X11 25 16 76.7 10 78 50
22141-16-16 G1"X11 25 16 89.2 11 35 4 22191-20-20W | G1.1/4"X11 32 20 92.3 10 85.3 50
22141-20-16T | G1.1/4"X11 25 16 91.4 9.1 37.1 50 22191-24-24W | G1.1/2"X11 40 24 109.4 1.5 108 55
22141-20-20W | G1.1/4"X11 32 20 102.9 10 41.2 50 22191-32-32W | G2"X11 50 32 133.1 15 123.8 70
22141-24-24W G1.1/2°X11 40 24 119.8 11.5 49 55 Note: 1.For use with braided hoses. 2.1f use with spiral hoses,hose fitting series number is 22192—-xx—xx.
22141-32-32W G2"X11 50 32 137.4 15 53 70
Note: 1.For use with braided hoses. 2.If use with spiral hoses,hose fitting series number is 22142-xx-xx.
ZHEJIANG HUACHENG HYDRAULIC MECHINERY CO.,LTD. ZHEJIANG HUACHENG HYDRAULIC MECHINERY CO. LTD.

57 58



H Swaged Hose Fitting

H Swaged Hose Fitting

22241
45° BSP FEMALE FLAT SEAT

" 22211
BSP FEMALE FLAT SEAT
S2
HOSE BORE DIMENSIONS

PART NO. THREAD E DN SASH A C 52
22211-04-04 G1/4"X19 6 04 15.5 8 19
22211-04-06 G1/4"X19 10 06 15.5 8 19
22211-06-04 G3/8"X19 6 04 17 9 22
22211-06-05 G3/8"X19 8 05 17 9 22
22211-06-06 G3/8"X19 10 06 16.5 9 22
22211-06-08 G3/8"X19 12 08 17.5 9 22
22211-08-08T | G1/2"X14 10 06 18 10.5 o7
22211-08-08 G1/2"X14 12 08 18.5 10.5 27
22211-10-08 G5/8"X14 12 08 20 12 30
22211-10-10 G5/8"X14 16 10 21 12 30
22211-12-08T | G3/4"X14 12 08 20.5 135 32
22211-12-10 G3/4"X14 16 10 21.5 135 32
22211-12-12 G3/4"X14 20 12 21.5 13.5 32
22211-16-12T G1"X11 20 12 21.5 15.5 41
22211-16-16 G1"X11 25 16 23 15.5 41
22211-20-20W | G1.1/4"X11 32 20 26 15.5 50
22211-24-24W | G1.1/2"X11 40 24 27.5 17.5 55
22211-32-32W G2"X11 50 32 30.5 23 70

HOSE BORE DIMENSIONS

PART NO. THREAD E DN DASH X C H 32
22241-04-04 G1/4"X19 6 04 40.9 8 18.8 19
22211-06-06 G3/8"X19 10 06 45.3 2 2 22
22241-08-08 G1/2"X14 12 08 58.9 10.5 24 27
22241-12-12 G3/4"X14 20 12 77.4 13.5 30 32
22241-16-16 G1"X11 25 16 82.7 15.5 31.5 41
22241-20-20W | G1.1/4"X11 32 20 97.3 55 36.6 50

Note: 1.For use with braided hoses. 2.If use with spiral hoses,hose fitting series number is 22242-xx-xx.

Note: 1.For use with braided hoses. 2.If use with spiral hoses,hose fitting series number is 22212-xx-xx.

ZHEJIANG HUACHENG HYDRAULIC MECHINERY CO.,LTD.

= 22291
& 90° BSP FEMALE FLAT SEAT
HOSE BORE DIMENSIONS

PART NO. THREAD E DN DASH A C m So
22291-04-04 G1/4"X19 6 04 30 8 34.5 19
22291-06-06 G3/8"X19 10 06 35.3 9 41.3 22
22290-08-08 G1/2"X14 12 08 4 10.5 48 27
22291-12-12 G3/4"X14 20 12 65.5 13.5 63.5 32
22291-16-16 G1"X11 25 16 76.7 15.5 70 41
22291-20-20W | G1.1/4"X11 32 20 91.5 15.5 82.5 50
22291-24-24W | G1.1/2"X11 40 24 109.4 17.5 98.5 55

Note: 1.For use with braided hoses. 2.If use with spiral hoses,hose fitting series number is 22292-xx-xx.

ZHEJIANG HUACHENG HYDRAULIC MECHINERY CO. LTD.

59

60




H Swaged Hose Fitting

H Swaged Hose Fitting

ORFS MALE O-RING SEAL
ISO 8434-3--SAE J1453

mTF"fEiQ?U]ﬂllﬂlj 14211

C
Ly -
I ——— | 13011-SP
%—Uﬂﬂ—”—' BSPT MALE
HOSE BORE DIMENSIONS

PART NO. THREAD E DN DASH A C 51
13011-02-03SP R1/8"X28 5 03 22 10 12
13011-02-04SP R1/8"X28 6 04 22.5 10 12
13011-04-04SP R1/4"X19 6 04 27 14.5 14
13011-04-05SP R1/4"X19 8 05 25 15.4 14
13011-04-06SP R1/4"X19 10 06 27 14.5 17
13011-06-04SP R3/8"X19 6 04 27.5 15 17
13011-06-05SP R3/8"X19 8 05 26.5 15 17
13011-06-06SP R3/8"X19 10 06 275 5 17
13011-06-085P R3/8"X19 12 08 30 15 19
13011-08-06SP R1/2"X14 10 06 gden 20 22
13011-08-08SP R1/2"X14 12 08 35 20 22
13011-08-10SP R1/2"X14 16 10 38 20 22
13011-08-12SP R1/2"X14 20 12 38 20 27
13011-12-08SP R3/4"X14 12 08 87 20 27
13011-12—-10SP R3/4"X14 16 10 38 20 27
13011-12-12SP R3/4"X14 20 12 38.5 20 27
13011-12-16SP R3/4"X14 25 16 39.5 20 32
13011-16-12SP R1"X11 20 e 44 25.5 36
13011-16-16SP R1"X11 25 16 45 255 36
13011-20-20SP R1.1/4"X11 32 20 49.5 26.5 46
13011-24-24SP R1.1/2"X11 40 24 51.5 26.5 50
13011-32-24SP R2"X11 40 24 57 30 65
13011-32-32SP R2"X11 50 32 57 30 65

HOSE BORE DIMENSIONS

PART NO. THREAD E DN DASH O-RING A B S1
14211-04-04 9/16"X18 6 04 0011 225 | 9.8 | 17
14211-06-04 | 11/16"X16 6 04 0012 24 || 112 | 48
14211-06-06 | 11/16"X16 10 06 0012 24 | 11.2| 19
14211-08-06 | 13/16"X16 10 06 0014 275 | 128 | 48
14211-08-08 | 13/16"X16 12 08 0014 285 | 12.8 | 22
14211-08-10 | 13/16"'X16 16 10 0014 285 | 128 | 22
14211-10-08 1"X14 10 08 0016 325 | 155 | 27
14211-10-10 1"X14 16 10 0016 335 | 155 | 27
14211-12-08 | 1.3/16"X12 12 08 0018 355 | 17 | 32
14211-12-10 | 1.3/16"X12 16 10 0018 36 7 | 82
14211-12-12 | 1.3/16"X12 20 12 0018 36.5| 17 | 32
14211-16-12 | 1.7/16"X12 20 12 0021 37 | 175 | 38
14211-16-16 | 1.7/16"X12 25 16 0021 385 | 17.5 | 38
14211-20-20 | 1.11/16"X12 32 20 0025 415 | 175 | 46
14211-24-24 SRS 40 24 0029 465 | 17.5 | 55

Note: 1.For use with braided hoses. 2.If use with spiral hoses,hose fitting series number is 14212—-xx—xx.

Note: 1.For use with braided hoses. 2.If use with spiral hoses,hose fitting series number is 13012-xx-xxSP.

ZHEJIANG HUACHENG HYDRAULIC MECHINERY CO.,LTD.

ZHEJIANG HUACHENG HYDRAULIC MECHINERY CO. LTD.

61

62




H Swaged Hose Fitting

24291-T

| E

24291W

90° ORFS FEMALE FLAT SEAL ISO 12151-1-SAEJ516

H Swaged Hose Fitting

HOSE BORE DIMENSIONS

PART NO. THREAD E DN DASH A H C 52
24291-04-04 9/16"X18 6 04 30 41 8.5 19
24291-04-05 9/16"X18 8 05 33 e 8.5 19
24291-06-05T 11/16"X16 8 05 33 37.5 10 22
24291-06-06 11/16"X16 10 06 35.3 49.8 10 22
24291-06-08 11/16"X16 12 08 41 55 10 22
24291-08-06T 13/16"X16 10 06 35.3 39.8 11 27
24291-08-08 13/16"X16 12 08 41 57 11 27
24291-08-10 13/16"X16 16 10 56.5 61.5 11 27
24291-10-08T 1"X14 12 08 41 46 13.5 30
24291-10-10 1"X14 16 10 56.5 66 13.5 30
24291-10-12 1"X14 20 12 65.5 75.5 13.5 30
24291-12-10T 1.3/16"X12 16 10 56.5 515 15 36
24291-12-12 1.3/16"X12 20 12 65.5 77 15 36
24291-12-16 1.3/16"X12 25 16 76.7 83.5 15 36
24291-16-12T 1.7/16"X12 20 12 65.5 63 14.8 4
24291-16-14T 1.7/16"X12 22 14 71.2 63 14.8 41
24291-16-16T 1.7116"X12 25 16 76.9 67.5 14.8 4
24291-20-16T 1.11/16"X12 25 16 76.7 67.5 15 50
24291-20-20W 1.11/16"X12 32 20 93 100 15 50
24291-24-20T 2"X12 32 20 91.5 78.5 14.8 60
24291-24-24T 2"X12 40 24 109.4 92 14.8 60

Note: 1.For use with braided hoses. 2.If use with spiral hoses,hose fitting series number is 24292—-xx—-xx.

ZHEJIANG HUACHENG HYDRAULIC MECHINERY CO.,LTD.

C A
o [® e
i E_U_UJJJUJU.L
s}
24211 24211-T 24211W
ORFS FEMALE FLAT SEAL ISO 12151-1-SAEJ516
HOSE BORE DIMENSIONS
PART NO. THREAD E = e - S -
24211-04-04 9/16"x 18 6 04 22.5 8.5 19
24211-04-05 9/16"'X18 8 05 22.5 8.5 19
24211-04-06 9/16°X18 10 06 22.5 8.5 19
24211-06-04T 11/16"X16 6 04 23.5 10 22
24211-06-05T 11/16"X16 8 05 23.5 10 22
24211-06-06 11/16"X16 10 06 25.5 10 22
24211-06-08 11/16"X16 12 08 26 10 22
24211-08-05T 13/16"X16 8 05 25 11 27
24211-08-06T 13/16"X16 10 06 25 11 27
24211-08-08 13/16"X16 12 08 28 11 27
24211-08-10 13/16"X16 16 10 29 11 27
24211-10-08T 1"X14 12 08 29.5 13.5 30
24211-10-10 1"X14 16 10 33 13.5 30
24211-10-12 1"X14 20 12 33.5 13.5 30
24211-12-08T | 1.3/16"X12 12 08 30.5 15 36
24211-12-10T |  1.3/16"X12 16 10 31.5 15 36
24211-12-12 1.3/16"X12 20 12 35 15 36
24211-12-16 1.3/16"X12 25 16 36 15 36
24211-16-12T | 1.7/16"X12 20 12 35 14.8 41
24211-16-14T | 1.7/16"X12 22 14 35 14.8 41
24211-16-16T | 1.7/16"X12 25 16 35 14.8 41
24211-16-20 1.7116"X12 32 20 39.5 14.8 41
24211-20-16T | 1.11/16"X12 25 16 35 15 50
24211-20-20W | 1.11/16"X12 32 20 42.5 15 50
24211-20-24W | 1.11/16"X12 40 24 42.5 15 50
24211-24-20T 2"X12 32 20 36 14.8 60
24211-24-24T 2"X12 40 24 36 14.8 60

Note: 1.For use with braided hoses. 2.If use with spiral hoses,hose fitting series number is 24212-xx-xx.

ZHEJIANG HUACHENG HYDRAULIC MECHINERY CO. LTD.

63

64




H Swaged Hose Fitting H Swaged Hose Fitting

. A —.A
= 2 Mt
| [ll]]lJ]ﬂj 15611 ] — i 16011
= ﬂ[ NPT MALE H SAE MALE WITH O-RING
HOSE BORE DIMENSIONS HOSE BORE DIMENSIONS
PART NO. THREAD E DN DAGH a = = PART NO. THREAD E DN DASH A C St
15611-02-03 Z21/8"x 27 5 03 21.5 10.5 12 16011-04-04 7/16" x 20 6 04 0904 21.5 9.1
15611-02-04 Z1/8"x 27 6 04 22.5 10.5 12 16011-05-04 1/2" x 20 6 04 0905 21.5 9.1
15611-04-03 Z1/4"x18 5 03 27 15 17 16011-06-05 9/16"x 18 8 05 0906 22.5 9.9
15611-04-04 Z1/4"x18 6 04 28 15 17 16011-06-06 9/16" x 18 10 06 0906 22.5 9.9
15611-04-05 Z1/4"x18 8 05 28 15 17 16011-08-06 3/4"x 16 10 06 0908 23.5 11..
15611-04-06 Z1/4"x18 10 06 28 15 17 16011-08-08 3/4"x 16 12 08 0908 24 113
15611-06-04 Z3/8"x 18 6 04 28 16 19 16011-10-08 7/8" x 14 12 08 0910 30 1257
15611-06-05 Z3/8"x 18 8 05 29 16 19 16011-10-10 7/8"x 14 16 10 0910 31 127
15611-06-06 23/8"x18 10 06 29 16 19 16011-12-10 1.1/16"x 12 16 10 0912 34 15.1
15611-06-08 Z3/8"x18 2 08 30.5 16 19 16011-12-12 1 51E S 12 20 12 0912 34 15.1
15611-08-06 Z1/2"x 14 10 06 34 19.5 22 16011-16-16 1.5/16"x 12 25 16 0916 36 151
15611-08-08 Z1/2"x 14 12 08 34.5 19.5 = Note: 1.For use with braided hoses. 2.If use with spiral hoses,hose fitting series number is 16012-xx-xx.
15611-08-10 Z1/2"x 14 16 10 35.5 19.5 22
15611-12-08 Z23/4"x 14 12 08 37.5 19.5 AT
15611-12-10 Z3/4"x14 16 10 37.5 19.5 27
15611-12-12 Z3/4"x 14 20 12 38.5 19.5 27
15611-12-16 23/4"x 14 25 16 39.5 19.5 32
15611-16-10 Zl'x 11 5 16 10 45 255 36
15611-16-12 Z1"%x11.5 20 12 45 25.5 36
15611-16-16 Zilig el =s 25 16 46.5 255 36
15611-20-16 Z1.1/4"x11.5 25 16 49 26.5 46
15611-20-20 Z1.1/4"x11.5 32 20 505 26.5 46
15611-24-24 Z1.1/12"%11.5 40 24 51 27.5 50
15611-32-32 728 <11 5 50 32 55 275 65
Note: 1.For use with braided hoses. 2.If use with spiral hoses,hose fitting series number is 15612-xx-xx.

ZHEJIANG HUACHENG HYDRAULIC MECHINERY CO.,LTD. ZHEJIANG HUACHENG HYDRAULIC MECHINERY CO. LTD.

65 66



H Swaged Hose Fitting

74

>4

=

UL

A

16711

JIC MALE 74° CONE

Swaged Hose Fitting

16711L

JIC MALE 74° CONE

HOSE BORE DIMENSIONS HOSE BORE DIMENSIONS
il et s DN DASH A & St PART NO. THREAD E DN DASH A C S1
16711-04-03 7/16"X20 5 03 26 14 12 16711L-04-04 7/16"X20 6 04 43 30.5 17
16711-04-04 7/16"X20 6 04 26.5 14 12 16711L-05-04 1/2"X20 6 04 43 30.5 19
16711-05-04 1/2"X20 6 04 26.5 14 14 16711L-05-05 1/2"X20 8 05 43 30.5 19
16711-05-05 1/9"%20 8 05 26.5 14 14 16711L-06-04 9/16"X18 6 04 a7 32.5 25
16711-05-06 1/2"X20 10 06 6.5 14 17 16711L-06-05 9/16"X18 8 05 47 32.5 22
16711-06-04 |  9/16"X18 6 04 265 | 14.1 17 16711L-06-06 ] 9/6'X18 10 o8 S i
) 16711L-08-06 3/4"X16 10 06 51 36.5 24
16711-06-05 9/16"X18 8 05 26.5 141 17 T AR 5 o8 =TE S =
16711-06-06 9/16"X18 10 06 26.5 14.1 17 16711L-10-06 7/8"%14 10 06 56.5 40 30
16711-08-06 3/4"X16 10 06 31.5 16.7 22 16711L-10-08 B4 12 08 57 40 30
16711-08-08 3/4"X16 12 08 32 16.7 22 16711L-10-10 7/8"X14 16 10 58 40 30
16711-10-06 7/8"X14 10 06 32 19.3 24 16711L-12-08 1.1/16"X12 12 08 63 44.5 36
16711-10-08 7/8"X14 12 08 34.3 19.3 24 16711L-12-10 1.1/16"X12 16 10 64 44.5 36
16711-10-10 7/8"X14 16 10 35.5 19.3 24 16711L-12-12 1.1/16"X12 20 12 64 44.5 36
16711-12-08 1.1/16"X12 12 08 39 21.9 30 16711L-16-12 1.5/16"X12 20 12 66 44.5 41
16711-12-10 1.1/16"X12 16 10 40 21.9 30 16711L-16-16 1.5/16"X12 25 16 67 44 .5 41
16711-12-12 1.1/16"X12 20 12 40 21.9 30 16711L-20-16 1.5/8"X12 25 16 70.5 45.7 50
16711-12-16 1.1/16"X12 o5 16 41 219 30 16711L-20-20 1.5/8"X12 32 20 71.2 45.7 50
16711-14-10 | 1.3/16"X12 16 10 415 206 32 152 l=ad =2l Lig iz 22 0 L &5 22
16711-14-12 |  1.3/16"X12 20 12 40.6 226 32 Ll LB i £ s = i
16711-16-12 1.5/16"X12 20 12 42.5 23] 36
16711-16-16 1.5/16"X12 25 16 43.5 23.1 36
16711-20-16 1.5/8"X12 25 16 46.5 24.3 46
16711-20-20 1.5/8"X12 32 20 475 24.3 46
16711-24-20 1.7/8"X12 32 20 53 27.5 50
16711-24-24 1.7/8"X12 40 24 53 275 50
16711-32-32 21R'X12 50 32 62 33.9 65
Note: 1.For use with braided hoses. 2.If use with spiral hoses,hose fitting series number is 16712—-xx—xx.
ZHEJIANG HUACHENG HYDRAULIC MECHINERY CO.,LTD. ZHEJIANG HUACHENG HYDRAULIC MECHINERY CO. LTD.
67 68




H Swaged Hose Fitting H Swaged Hose Fitting

C A
A RN
|"f Lol
e 1
\\\ \_ JIC FEMALE 74° CONE SEAT 45° JIC FEMALE 74° CONE SEAT
ks SAE J514 SAE J514
26711-T 26741W
HOSE BORE DIMENSIONS HOSE BORE DIMENSIONS
PART NO. THREAD E DN DASH % C So PART NO. THREAD E DN DASH A C H 5o
26711-04-03 7M16"X20 5 03 14.5 9 15 26741-04-03 7/16"X20 5 03 37.6 9 17.2 15
26711-04-04 7M16"X20 6 04 15 9 15 26741-04-04 7/16"X20 6 04 40.2 9 18.1 15
26711-05-04 1/2"X20 6 04 15.5 9.5 17 26741-05-04 1/2"X20 6 04 40.5 9.5 18.5 17
26711-05-05 1/2"X20 8 05 15.5 9.5 17 26741-05-05 1/2"X20 8 05 427 9.5 19.3 17
26711-05-06 1/2"X20 10 06 15.5 9.5 17 26741-05-06 1/2"X20 10 06 44.6 9.5 20.3 17
26711-06-04 9/16"X18 6 04 155 10.5 19 26741-06-04 9/16"X18 6 04 40.5 10.5 18.5 19
26711-06-05 9/16"X18 8 05 15.5 10.5 19 26741-06-05 9/16"X18 8 05 427 10.5 19.3 19
26711-06-06 9/16"X18 10 06 15.5 10.5 19 26741-06-06 9/16"X18 10 06 44.3 10.5 20 19
26711-06-08 9/16"X18 12 08 16 10.5 19 26741-08-06 3/4"X16 10 06 45.7 11 214 24
26711-08-06 3/4"X16 10 06 17.5 11 24 26741-08-08 3/4"X16 12 08 58.6 11 23.5 24
26711-08-08 3/4"X16 12 08 18 11 24 26741-10-08 7/8"X14 12 08 58.9 13 24 27
26711-08-10 3/4"X16 16 10 19 5 11 24 26741-10-10 7/8"X14 16 10 0 13 25.3 27
26711-10-08 7/8"X14 12 08 18.5 13 27 26741-10-12 7/8"X14 20 12 T4 13 28.9 27
26711-10-10 7/8"X14 16 10 20 13 27 26741-12-08 1.1/16"X12 12 08 60 15 25 32
26711-10-12 7/8"X14 20 12 20 13 27 26741-12-10 1.1/16"X12 16 10 712 15 26.4 32
26711-12-08T 1.1/16"X12 12 08 19 15 32 26741-12-12 1.1/16"X12 20 12 77.4 15 30 32
26711-12-10 1.1/16"X12 16 10 215 15 32 26741-14-12 1.3/16"X12 20 12 77.4 15 30 36
26711-12-12 1.1/16"X12 20 12 21.5 15 32 26741-16-12 1.5/16"X12 20 12 77.4 16 30 41
26711-12-16 1.1/16"X12 o5 16 23 15 32 26741-16-16 1.5/16"X12 25 16 85.7 16 31.5 41
56711-14-12 1.3/16"X12 20 12 215 15 36 26741-20-20W 1.5/8"X12 32 20 96.6 17 35.9 50
26711-16-12T 1 5/16"X12 20 19 18.5 16 41 26741-24-20W 1.7/8"X12 32 20 100.8 20 40.1 55
26711-16-16 1.5/16"X12 o5 16 23 16 41 26741-24-24W 1.7/8"X12 40 24 114.8 20 44 1 55
56711-16-20 1 5/16"X12 35 20 o4 16 a1 26741-32-32W 2.1/2"X12 50 32 135.9 23.5 51.6 75
26711-20-16T 1.5/8"X12 25 16 23 17 50 Note: 1.For use with braided hoses. 2.If use with spiral hoses,hose fitting series number is 26742-xx-xx.
26711-20-20W 1.5/8"X12 32 20 26 17 50
26711-24-20W 1.7/8"X12 32 20 26.5 20 55
26711-24-24W 1.7/8"X12 40 24 26.5 20 55
26711-32-24T 2.1/2"X12 40 24 27 235 75
26711-32-32T 2.1/2"X12 50 32 27 23.5 75
Note: 1.For use with braided hoses. 2.If use with spiral hoses,hose fitting series number is 26712-xx—xx.

ZHEJIANG HUACHENG HYDRAULIC MECHINERY CO.,LTD.

ZHEJIANG HUACHENG HYDRAULIC MECHINERY CO. LTD.

69

70




H Swaged Hose Fitting

ra

90° JIC FEMALE 74° CONE SEAT

H Swaged Hose Fitting

26711D

JIC FEMALE 74° CONE SEAT DOUBLE

HEXAGON SAE J514

HOSE B
PART NO. THREAD E OSE BORE DIMENSIONS
DN DASH A C S1 S2

26711D-04-04 7/16"X20 6 04 20 9 15 15
26711D-05-04 1/2"X20 6 04 20.5 9.5 17 17
26711D-06-04 9/16"X18 6 04 21 10.5 19 19
26711D-06-06 9/16"X18 10 06 21 10.5 19 19
26711D-08-06 3/4"X16 10 06 25 11 24 24
26711D-08-08 3/4"X16 12 08 24.5 11 24 24
26711D-08-10 3/4"X16 16 10 25.5 17 24 24
26711D-10-08 |  7/8'X14 12 08 28 13 o7 27
26711D-10-10 7/8"X14 16 10 29 13 27 27
26711D-12-12 1.1/16"X12 20 12 31.5 15 32 32
26711D-16-12 1.5/16"X12 20 12 33.5 16 41 41
26711D-16-16 1.5/16"X12 25 16 34.5 16 41 41
26711D-16-20 1.5/16"X12 32 20 36.5 16 41 41
26711D-20-20 1.7/16"X12 32 20 39 17 50 50

Note: 1.For use with braided hoses. 2.If use with spiral hoses,hose fitting series number is 26712D-xx-xXx.

Lo SAE J514
26791W
PART N THREAD E HOSE BORE DIMENSIONS

0. DN DASH A C H S2
26791-04-03 7/16"x 20 5 03 26.5 9 30.5 15
26791-04-04 716" % 20 6 04 30 9 a0.9 15
26791-05-04 1/2" % 20 6 04 30 9.5 34 17
26791-05-05 1/2" % 20 8 05 33 9.5 ST il
26791-05-06 1/2" %20 10 06 353 9.5 39.3 17
26791-06-04 9/16"x 18 6 04 30 afin s 34 19
26791-06-05 9/16"x 18 8 05 33 10.5 37 19
26791-06-06 9/16"x 18 10 06 35.3 10.5 39.3 19
26791-06-08 9/16"x 18 12 08 35.8 10.5 39.8 19
26791-08-06 3/4"x 16 10 06 a9 11 41.3 24
26791-08-08 3/4"x 16 12 08 41 11 47 .5 24
26791-08-10 3/4"%x16 16 10 49 11 45 24
26791-10-08 7/8"x14 12 08 41 13 48 27
26791-10-10 7/8"x14 16 10 56 13 Sl 27
26791-10-12 7/8"x14 20 12 64.9 13 62 27
26791-12-08 1.1/16" %12 2 08 41 15 49 .5 S
26791-12-10 1.1/16"x 12 16 10 56 15 54 32
26791-12-12 1.1/16"x 12 20 12 65.5 15 63.5 32
26791-12-16 1.1/16"x12 25 16 T4 15 63.5 32
26791-14-12 1.3/16 <12 20 e 65.5 15 63.5 36
26791-16-12 1.5/16"x 12 20 12 65.5 16 63.5 41
26791-16-16 1.5/16"x12 25 16 TB. 7 16 70 41
26791-20-20W 1.5/8"x12 32 20 91.5 17 80.5 50
26791-24-20W 1.7/8" %12 % 7 20 91.5 20 80.5 S
26791-24-24W 1.7/8"x12 40 24 109.4 20 94 55
26791-32-32W 2.1/2"%x12 50 32 1331 200 121.8 T

74° FJ—H—I] -

26711D-SM
JIC FEMALE 74° CONE SEAT DOUBLE

HEXAGON SAE J514

Note: 1.For use with braided hoses. 2.If use with spiral hoses,hose fitting series number is 26792-xx-xx.

S2 S1
HOSE BORE DIMENSIONS
PART NO. THREAD E

DN DASH A C St S2
26711D-04-04SM 7/16"X20 6 04 20 9 12 15
26711D-05-04SM 1/2"X20 6 04 205 9.5 12 17
26711D-06-04SM 9/16"X18 6 04 21 10.5 14 19
26711D-06-06SM 9/16"X18 10 06 21 10.5 17 19
26711D-08-06SM 3/4"X16 10 06 23 11 19 24
26711D-08-08SM 3/4"X16 12 08 24.5 11 22 24
26711D-08-10SM 3/4"X16 16 10 25.5 11 22 24
26711D-10-08SM 7/8"X14 12 08 24 13 22 27
26711D-10-10SM 7/8"X14 16 10 27 13 22 27
26711D-12-12SM| 1.1/16"X12 20 12 31.5 15 2 32
26711D-16-12SM| 1.5/16"X12 20 12 31.5 16 32 41
26711D-16-16SM| 1.5/16"X12 25 16 32.5 16 32 41
26711D-20-20SM| 1.7/16"X12 32 20 37 17 41 50

ZHEJIANG HUACHENG HYDRAULIC MECHINERY CO.,LTD.

Note: 1.For use with braided hoses. 2.If use with spiral hoses,hose fitting series number is 26712D-xx-xxSM.

ZHEJIANG HUACHENG HYDRAULIC MECHINERY CO. LTD.

71

72




H Swaged Hose Fitting

H Swaged Hose Fitting

27811
SAE FEMALE 90° CONE SEAT

— A
. =
g 26791K
o | % 90° JIC FEMALE 74° CONE
—E SEAT COMPACT ELBOW
BART NO THREAD E HOSE BORE DIMENSIONS
' DN DASH A C H S1 S2
26791K-04-04 7/16"X20 6 04 17.5 9 18 11 15
26791K-06-04 9/16"X18 6 04 2O NIE10S )5 14 19
26791K-06-06 9/16"X18 10 06 20 | 10.5 | 20.5 16 19
26791K-08-06 3/4"X16 10 06 23 i 25 19 24
26791K-08-08 3/4"X16 12 08 23.5| 11 25 22 24
26791K-10-08 7/8"X14 12 08 25 13 27 22 27
26791K-10-10 7/8"X14 16 10 25 13 27 22 27
26791K-12-12 1.1/16"X12 20 12 29 15 31 27 32
26791K-16-16 1.5/16"X12 25 16 43 16 | 34.3 33 41

Note: 1.For use with braided hoses. 2.If use with spiral hoses,hose fitting series number is 26792K-xX-XXx.

S%JL[HMUUUUL[U 17811

HOSE BORE DIMENSIONS

PART NO. THREAD E DN DASH A C o
27811-04-03 7/16"X20 5 03 14 9 15
27811-04-04 7/16"X20 6 04 15 9 15
27811-05-05 1/2"X20 8 05 15.5 9.5 17
27811-06-04 5/8"X18 6 04 17 1] e 22
27811-06-05 5/8"X18 8 05 1 11.3 22
27811-06-06 5/8"X18 10 06 e 15 & 22
27811-08-08 3/4"X16 12 08 18 11 24
27811-10-08 7/8"X14 12 08 18.5 13 27
27811-10-10 7/8"X14 16 10 20 13 27
27811-12-12 1.1/16"X14 20 12 2ia5 14.3 32
Note: 1.For use with braided hoses. 2.If use with spiral hoses,hose fitting series number is 27812-xx—xx.

&

27891
90° SAE FEMALE 90° CONE SEAT SAE J513

2l
A b g

‘s1 SAE MALE 90° CONE SEAT
HOSE BORE DIMENSIONS
PART NO. THREAD E N DASH A C ST
17811-04-04 7/16"X20 6 04 25.5 12.7 12
17811-05-05 1/2"X20 8 05 27 14.2 14
17811-06-06 5/8"X18 10 06 28.5 15.7 17
17811-08-08 3/4"X16 2 08 34 19 22
178711090 7/8"X14 16 10 38.5 22.4 24
17811-12-12 1.1/16"X14 20 12 44 25.4 30

Note: 1.For use with braided hoses. 2.If use with spiral hoses,hose fitting series number is 17812-xx-xx.

ZHEJIANG HUACHENG HYDRAULIC MECHINERY CO.,LTD.

HOSE BORE DIMENSIONS

PART NO. THREAD E DN DASH A C H S2
27891-04-03 7/16"X20 5 03 26.5 9 30.5 15
27891-06-04 5/8"X18 6 04 30 113 36 22
27891-06-05 5/8"X18 8 05 33 11.3 39 22
27891-06-06 5/8"X18 10 06 35305 SN E41 3 1[I 22
27891-10-08 7/8"X14 12 08 a1 13 47 27
27891-10-10 7/8"X14 16 10 56.5 13 515 |27
27891-12-12 1.1/16"X14 20 12 65.5 | 14.3 | 63.5 32

Note: 1.Foruse with braided hoses. 2.If use with spiral hoses,hose fitting series number is 27892—-xx—xXx.

ZHEJIANG HUACHENG HYDRAULIC MECHINERY CO. LTD.

73

74



H Swaged Hose Fitting

H Swaged Hose Fitting

87341

45° SAE FLANGE 3000PSI
ISO 12151-3-~-SAE J516

21611
NPSM FEMALE 60° CONE
HOSE BORE DIMENSIONS
PART NO. THREAD E DN DASH A C S0
21611-04-04 1/4"X18 6 04 18 4.6 19
21611-04-06 1/4"X18 10 06 19 4.6 19
21611-06-04 3/8"X18 6 04 19 6 22
21611-06-05 3/8"X18 8 05 19 6 22
21611-06-06 3/8"X18 10 06 19 6 22
21611-08-08 1/2"X14 12 08 215 T 27
21611-12-10 3/4"X14 16 10 24 8.9 32
21611-12-12 3/4"X14 20 12 24 8.9 32
21611-16-12T 1"X11.5 20 12 25 10.5 41
21611-16-16 1"X11.5 25 16 27 10.5 41
21611-20-20W 1.1/4"X11.5 32 20 295 11.2 50
21611-24-24W 112" X115 40 24 29.5 1l 55

BART NO FLANGE SIZE HOSE BORE DIMENSIONS

; DN DASH A C D H L
87341-08-08 1/2° T2 08 58.2 | 30.2 | 24 | 23.3| 6.73
87341-12-08 3/4" 12 08 58.9 | 38.1| 31.7| 24 | 6.73
87341-12-10 3/4" 16 10 69.6 | 38.1 | 31.7 | 25.3 | 6.73
87341-12-12 3/4" 20 12 76.3 | 38.1| 31.7 | 28.9 | 6.73
87341-16-12 1 20 12 76.3 | 44.4| 38 | 289 8
87341-16-16 Es 25 16 839|444 | 38 | 20.7| 8
87341-16-20 3 80 20 945|444 | 38 | 338 8
87341-20-16 1.1/4" 25 16 85.2 | 50.8| 43 | 29.7| 8
87341-20-20 1.1/4" 32 20 945|508 | 43 | 338 8
87341-24-20 1.1/2" 32 20 95.9 | 60.3| 50 | 352 8
87341-24-24 T " 40 24 109.9| 60.3| 50 | 39.1| 8
87341-32-24 gr 40 24 109.9| 71.4| 62 | 39.1 | 9.53
87341-32-32 2" 50 32 129.3| 71.4| 62 | 46.3 | 9.53

Note: 1.For use with braided hoses. 2.1f use with spiral hoses,hose fitting series number is 21612-xx—xx.

Note: 1.For use with braided hoses.

2.If use with spiral hoses,hose fitting series number is 87342—xx—xx.

87311

SAE FLANGE 3000PSI
ISO 12151-3--SAE J516

HOSE BORE DIMENSIONS

PART NO. FLANGE SIZE DN DASH 2 G 5 5
87311-08-08 1/2" T2 08 46 30.2 24 6.73
87311-12-08 3/4" 138 08 47 38.1 i 7 6.73
87311-12-10 3/4" 16 10 48 38.1 31.7 6.73
87311-12-12 3/4" 20 12 48 38.1 31.7 6.73
87311-12-16 3/4" 25 16 49 38.1 31.7 6.73
87311-16-12 3 20 12 &l 44 .4 38 8
87311-16-16 1+ 25 16 52 44.4 38 8
87311-16-20 1" 32 20 53 44 .4 38 8
87311-20-16 1.1/4" 25 16 57 50.8 43 8
87311-20-20 1.1/4" 32 20 58 50.8 43 8
87311-24-20 14425 32 20 68 60.3 50 8
87311-24-24 a2 40 24 68 60.3 50 8
87311-32-24 2" 40 24 70 71.4 62 9.53
87311-32-32 A 50 32 70 71.4 62 9.53
87311-40-40 2:312° 64 40 76 84.1 74 9.53

87391

90° SAE FLANGE 3000PSI
ISO 12151-3--SAE J516

e T HOSE BORE DIMENSIONS

' DN DASH A C D H L
87391-08-08 1/2" 12 08 41 30.2 24 47 | 6.73
87391-12-08 3/4" jle! 08 41 38.1 ]| 31.7| 48 | 6.73
87391-12-10 3/4" 16 10 56 | 38.1 | 31.7 | 52.5 | 6.73
87391-12-12 3/4" 20 12 66.2 | 38.1 | 31.7 62 | 6.73
87391-12-16 3/4" 25 16 76.7| 38.1| 31.7 | 67.5 | 6.73
87391-16-12 i 20 12 65.5 | 44.4 38 62 8
87391-16-16 i 25 16 76.7 | 44.4 38 | 67.5 8
87391-16-20 1 32 20 91.5 | 44.4 38 | 78.5 8
87391-20-16 1.1/4" 25 16 76.7 | 50.8 43 | 67.5 8
87391-20-20 1.1/4" 32 20 9iES NS08 43 | 78.5 8
87391-20-24 1.1/4" 40 24 107 | 50.8 43 | 78.5 8
87391-24-20 2 32 20 91.5 | 60.3 50 | 80.5 8
87391-24-24 11/2" 40 24 109.4| 60.3 50 94 8
87391-32-24 e 40 24 109.4| 71.4 62 94 | 9.53
87391-32-32 2 50 32 131.8| 71.4 62 |114.3| 9.53
87391-40-32 2L 128 a0 32 131.8] 84.1 [ 74.4 |116.3| 9.53

Note: 1.For use with braided hoses. 2.1f use with spiral hoses,hose fitting series number is 87312-xx-xx.

Note: 1.For use with braided hoses.

2.If use with spiral hoses,hose fitting series number is 87392-xx—xx.

ZHEJIANG HUACHENG HYDRAULIC MECHINERY CO.,LTD.

ZHEJIANG HUACHENG HYDRAULIC MECHINERY CO. LTD.

75

76




H Swaged Hose Fitting

87391-H

90° SAE FLANGE 3000PSI

H Swaged Hose Fitting

PART NO ST HOSE BORE DIMENSIONS
' DN DASH A C D H L
87391-12-12(H90) 3/4" 20 12 65.56138.1| 32 90 |6.73
87391-12-12(H100) 3/4" 20 1|2 65.5|38.1| 32 | 100 | 6.73
87391-12-12(H127) 3/4" 20 12 65.5138.1| 32 | 127 | 6.73
87391-12-12(H150) 3/4" 20 i 65.5|38.1| 32 | 150 | 6.73
87391-16-16(H100) s 25 16 76.7144.4( 38 [ 100 8
87391-16-16(H127) 1" 25 16 76.7|144.4( 38 [ 127 8
87391-16-16(H150) 1" 25 16 76.7144.4( 38 [ 150 8
87391-20-20(H100) 1.1/4" 32 20 91.5150.8( 43 | 100 8
87391-20-20(H127) 1.1/4" 32 20 91.5150.8( 43 [ 127 8
87391-20-20(H150) 1.1/4" 32 20 91.5150.8| 43 | 150 8
87391-24-24(H127) 1.1/2" 40 24 109.4|60.3| 50 | 127 8
FL
FS

SAE SPLIT FLANGE CLAMPS 3000PSI

87611
m——— SAE FLANGE 6000PSI
i ISO 12151-3-SAE J516
HOSE BORE DIMENSIONS
PARTNO. |FLANGE SIZE
DN DASH A & D L
87611-08-08 1/2" 12 08 47 31.7 24 7.75
87611-12-10 3/4" 16 10 50.5 41.3 32 8.76
87611-12-12 3/4" 20 12 51 41.3 32 8.76
87611-16-12 1" 20 12 56 47 .6 38 9.53
87611-16-16 i" 25 16 57 47 .6 38 9.53
87611-16-20 i" 32 20 61 47 .6 38 9.53
87611-20-16 1.1/4" 25 16 65 54 44 10.29
87611-20-20 1.1/4" 32 20 66 54 44 10.29
87611-24-20 1.1/2" 32 20 75 63.5 51 12.57
87611-24-24 1.1/2" 40 24 75 63.5 51 12.57
87611-32-24 2" 40 24 85 79.4 67 12.57
87611-32-32 P 50 32 85 79.4 67 12.57

Note: 1.For use with braided hoses. 2.1f use with spiral hoses,hose fitting series number is 87612-xx—xx.

87641

45° SAE FLANGE 6000PSI
ISO 12151-3-SAE J516

HOSE BORE DIMENSIONS
PART NO. |FLANGE SIZE DN DASH A C D H .
87641-08-08 1/2" 12 08 58.9 31.7 24 24 7.75
87641-08-12 1/2" 20 12 TATL ST 24 29.6 7.75
87641-12-10 3/4" 16 10 72.5 41.3 32 28.2 8.76
87641-12-12 3/4" 20 12 79.2 41.3 32 31.8 8.76
87641-16-16 15 25 16 88.9 47.6 38 34.7 9.53
87641-20-20 1.1/4" 32 20 102.3 54 44 41.5 10.29
87641-24-20 i i 2 32 20 105.8 63.5 51 45.1 12.57
87641-24-24 a2 40 24 119.8 63.5 51 49 12.57
87641-32-24 2" 40 24 125.4 79.4 67 54.7 12.57
87641-32-32 28 50 32 144.8 79.4 67 61.9 12.57

PART NO. |FLANGE SIZE DNENL o e
' A B d h M N MPa
3000PSI
FL-08 1/2" 54 45.6 9 6.2 38.1 Sy M8 x 25
FL-12 3/4" 65 51.8 11 6.2 47 .6 22.2 [IM10x 30| 34.5
FL-16 1" 70 58.4 il Tt 52.4 26.2 [M10x 30
FL-20 1.1/4" 79 72.6 11 7.5 58.7 30.2 [M10x 30| 27.6
FL-24 1.0/2" 94 82.2 13.5 5 69.9 35.7 [M12x 35 20.7
FL-32 o 102 96.4 13.5 9 T 42.9 |[M12 x 35 ’
FL_40 2.1/2° 114 | 1082 | 13.5 9 88.9 | 50.8 [M12x40] 17.2
FL-48 3" 135 130.6 17.5 9 106.4 61.9 [M16x50| 13.8
6000PSI
FS-08 12" 56 47 .2 9 .2 40.5 18.2 M8 x 30
FS-12 3/4" 71 60 il 8.2 50.8 23.8 [M10x 35
FS-16 1" 81 69.6 13.5 9 K7.2 27.8 [M12 x 45 42
FS-20 1.1/4" 95 AT 13.5 . 66.6 31.8 [M12x 45
FS-24 1.1/2" 113 95 17.56 12 79.3 36.5 |[M16 x 55
FS-32 2 133 113.8 22 12 96.8 445 [M20x 70

Note: 1.For use with braided hoses. 2.If use with spiral hoses,hose fitting series number is 87642-xx—XxX.

ZHEJIANG HUACHENG HYDRAULIC MECHINERY CO.,LTD.

ZHEJIANG HUACHENG HYDRAULIC MECHINERY CO. LTD.

77

78




H Swaged Hose Fitting H Swaged Hose Fitting

87691

90° SAE FLANGE 6000PSI
ISO 12151-3--SAE J516

JIS METRIC FEMALE 60° CONE

28611 28611-W
SEAT DOUBLE HEXAGON
PART NO FLANGE SIZE HOSE BORE DIMENSIONS
’ DN DASH A C D H £

87691-08-08 1/2" 12 08 41 7 24 48 7.75 HOSE BORE DIMENSIONS

87691-12-10 3/4" 16 10 56.5 M3 32 56.5 8.76 PART NO. THREAD E ON DASH y c o1 a5
87691-12-12 3/4" 20 12 66.2 41.3 32 66 8.76
87691-16-12 (1 20 12 66.2 47.6 38 69 9.53 28611-12-04 M12x 1.5 6 04 20 9 17 17
87691-16-16 B 25 16 78 47.6 38 74.5 9.53 28611-14-04W M14x1.5 6 04 23 10.5 19 19
87691-16-20 i 32 20 91.5 47.6 38 85.5 9.53 28611-14-06 M14 x 1.5 10 06 21 10.5 19 19
87691-20-16 1.1/4" 25 16 78 54 44 78.5 10.29 28611-16-04 M16x 1.5 6 04 24 10 a2 22
87691-20-20 1.1/4" 32 20 91.5 54 44 89.5 10.29 28611-16-05 M16x 1.5 8 05 24 10 22 22
87691-24-20 1.1/2" 32 20 91.5 63.5 51 94.5 12.57 28611-16-06 Mi6x1.5 10 06 24 10 29 B
87691-24-24 1.4/28 40 24 109.4 63.5 51 108 12.57 28611-18-06 Mi8x 1.5 10 06 24 11.5 24 24
87691-32-24 2" 40 24 109.4 79.4 67 116 12.57 28611-18-08 M18 x 1.5 19 08 045 | 115 | 24 o4
87691-32-32 2 50 32 1318 | 794 67 1363 | 1257 58611-20-08 M20 x 1.5 12 08 285 | 12 27 27
Note: 1.For use with braided hoses. 2.If use with spiral hoses,hose fitting series number is 87692-xx—xx. 28611-22-08 M22 % 1.5 12 08 25.5 14 27 27
28611-24-08 M24 x1.5 12 08 27.5 15 32 32
28611-24-10 M24 x1.5 16 10 28 15 82 e
28611-30-12 M30x 1.5 20 12 28.5 18.3 36 36
28611-33-12 M33x1.5 20 12 31 213 41 41
28611-33-16 M33x 1.5 25 16 32 21.3 41 41
I 28611-36-20 M36x1.5 32 20 89.5 20 46 46
<] 28611-42-24W M42 x 1.5 40 24 36 18.8 55 55
=g 18611
Note: 1.For use with braided hoses. 2.If use with spiral hoses,hose fitting series number is 28612-xx—xx.
JIS METRIC MALE 60° CONE

PART NO THREAD E HOSE BORE DIMENSIONS

' DN DASH A B S1
18611-14-04 Mi14x1.5 6 04 29.5 17 17
18611-16-04 M16 x 1.5 6 04 30.5 18 3l
18611-16-06 M16x 1.5 10 06 30.5 18 17
18611-18-06 M18x 1.5 10 06 30.5 18 19
18611-20-08 M20x 1.5 12 08 35 20 22
18611-22-08 M22x 1.5 12 08 855 20 24
18611-24-10 M24 x 1.5 16 10 39.5 21.5 27
18611-30-12 M30x1.5 20 12 45.5 26 32
18611-33-16 M33x 1.5 25 16 50.5 30 36
18611-36-20 M36 x 1.5 32 20 56.5 Eied 38
18611-42-24 M42 x 1.5 40 24 59.5 36 46

Note: 1.For use with braided hoses. 2.If use with spiral hoses,hose fitting series number is 18612-xx-xx.

ZHEJIANG HUACHENG HYDRAULIC MECHINERY CO.,LTD. ZHEJIANG HUACHENG HYDRAULIC MECHINERY CO. LTD.

79 80



H Swaged Hose Fitting

90° JIS METRIC FEMALE 60° CONE

H Swaged Hose Fitting

A

A

JIS GAS FEMALE 60° CONE SEAT

SEAT DOUBLE HEXAGON
28691-W
ThEE e HOSE BORE DIMENSIONS
PART NO.

DN DASH A C H S1 | s2

28691-14-04W M14 x 1.5 6 04 30 [10.5] 40 [ 19 [ 19
28691-14-06 M14 x 1.5 10 06 35.3 | 10.5 | 43.3| 19 | 19
28691-16-05 M16 x 1.5 8 05 33 | 10 | 44 | 22 | 22
28691-18-06 M18x 1.5 10 06 35.83(11.5|46.3| 24 | 24
28691-22-08 M22 x 1.5 12 08 41 14 | 525 | 27 | 27
28691-24-10 M24 x 1.5 16 10 56 | 15 | 59 | 32 | 32
28691-30-12 M30 x 1.5 20 12 65.5|18.3| 71.5] 36 | 36
28691-33-16 M33 x 1.5 25 16 76.7 [ 21.3 | 76 | 41 | 41
28691-36-20 M36 x 1.5 32 20 93 | 20 | 89 | 46 | 46
28691-42-24W M42 x 1.5 40 24 109.4] 18.8 [ 108 | 55 | 55

Note: 1.For use with braided hoses. 2.If use with spiral hoses,hose fitting series number is 28692-xx—xx.

19611
JIS GAS MALE 60° CONE SEAT

29611 29611-W
HOSE BORE DIMENSIONS

PART NO. THREAD E DN DASH A C ST So
29611-02-03 G1/8"x 28 5 03 20 7 14 14
29611-04-04 G1/4"x 19 6 04 21 8 19 19
29611-04-05 G1/4"x 19 8 05 21 8 19 19
29611-06-04 G3/8"x 19 6 04 23 9 22 22
29611-06-06 G3/8"x 19 10 06 23 9 22 22
29611-08-06 G1/2"x 14 10 06 28 12 27 27
29611-08-08 G1/2"x 14 12 08 26.5 12 27 27
29611-10-10 G5/8"x 14 16 10 30.5 | 11.5 | 30 30
29611-12-10 G3/4"x 14 16 10 30 135 | 32 32
29611-12-12 G3/4"x 14 20 12 30.5 | 135 | 32 32
29611-16-16 G1"x11 25 16 32 16 41 41
29611-20-20W | G1.1/4"x 11 32 20 43 | 18.5 | 50 50
29611-24-24W | G1.1/2"x 11 40 24 43.5 19 55 55
29611-32-32W G2"x 11 50 32 46.5 | 23 70 70

Note: 1.For use with braided hoses. 2.If use with spiral hoses,hose fitting series number is 29612-xx—xx.

PART NO THREAD E HOSE BORE DIMENSIONS
' DN DASH A B S1
19611-04-04 G1/4"x19 6 04 29 16 17
19611-06-06 G3/8"x19 10 06 31 18 19
19611-08-08 G1/2"x14 12 08 35.5 20 22
19611-12-12 G3/4"x 14 20 12 41 22 30
19611-16-16 G1"x 11 25 16 45.5 24 36

45° JIS GAS FEMALE 60° CONE

Note: 1.For use with braided hoses. 2.1f use with spiral hoses,hose fitting series number is 19612-xx-xx.

ZHEJIANG HUACHENG HYDRAULIC MECHINERY CO.,LTD.

29641 29641-W SEAT JIS B8363
0 HOSE BORE DIMENSIONS

ieiiilas HRESUE DN DASH A C H S1 S2
29641-04-04 G1/4"x19 6 04 43.4 8 21.3 19 19
29641-06-06 G3/8"x19 10 06 48.9 9 24.6 22 22
29641-08-08 G1/2"x 14 12 08 62.5 12 27.5 27 27
29641-12-12 G3/4"x 14 20 12 81.3 13.5 33.9 32 32
29641-16-16 G1"x11 25 16 87.3 16 36 41 41
29641-20-20W| G1.1/4"x 11 32 20 107.3 18.5 46.5 50 50
29641-24-24W| G1.1/2"x 11 40 24 122.8 19 50.8 55 55
29641-32-32W G2"x11 50 32 143 23 60 70 70

Note: 1.For use with braided hoses. 2.If use with spiral hoses,hose fitting series number is 29642—-xx—-xx.

ZHEJIANG HUACHENG HYDRAULIC MECHINERY CO. LTD.

81

82




H Swaged Hose Fitting

90° JIS GAS FEMALE 60° CONE SEAT

H Swaged Hose Fitting

A

7 AJ, 88111
N '_]]IDJE JIS FLANGE

HOSE BORE DIMENSIONS
PART NO. FLANGE SIZE DN DASH A C D L
88111-10-08 5/8" 32 08 45 34.2 27.8 4
88111-10-10 5/8" 16 10 45.5 34.2 27.8 (547
88111-10-12 5/8" 20 12 46 34.2 27.8 6.7

29691-W
HOSE BORE DIMENSIONS

PART NO. THREAD E N DASH A C a 51 5
29691-04-04 G1/4"X19 6 04 30 8 38 19 19
29691-04-05 G1/4"X19 8 05 34 8 41 19 19
29691-06-06 G3/8"X19 10 06 35.6 9 45.8 22 22
29691-08-08 G1/2"X14 12 08 41 12 53 27 27
29691-10-10 G5/8"X14 16 10 56.5 11.5 61 30 30
29691-12-12 G3/4"X14 20 12 65.5 13.5 69 32 32
29691-16-16 G1"X11 25 16 76.7 16 76.5 41 41
29691-20-20W| G1.1/4"X11 32 20 a1.5 18.5 92.5 50 50
29691-24-24W| G1.1/2"X11 40 24 109.4 19 110.5 55 55
29691-32-32W G2"X11 50 23 131.8 23 133.8 70 70

Note: 1.For use with braided hoses. 2.1f use with spiral hoses,hose fitting series number is 88112-xx-xx.

88141
45° JIS FLANGE

Note: 1.For use with braided hoses. 2.If use with spiral hoses,hose fitting series number is 29692-xx—-xx.

ZHEJIANG HUACHENG HYDRAULIC MECHINERY CO.,LTD.

HOSE BORE DIMENSIONS

PARTNG,  |FLANGE SIZEI—p 0 DASH A c D H L
88141-10-08 5/8" 12 08 589 | 342 | 278 | 24 | 67
88141-10-10 5/8" 16 10 696 | 342 | 278 | 253 | 6.7
88141-10-12 5/8" 20 12 76.3 | 342 | 278 | 289 | 6.7

Note: 1.For use with braided hoses. 2.If use with spiral hoses,hose fitting series number is 88142-xx—xx.

4 88191
N 90° JIS FLANGE
AR Tl  ANCE cl7e HOSE BORE DIMENSIONS
: DN DASH A C D H L
88191-10-08 5/8" 12 08 41 34.2 27.8 48 6.7
88191-10-10 5/8" 16 10 56 34.2 27.8 il Br
88191-10-12 5/8" 20 12 66.2 34.2 27.8 62 6:7

Note: 1.For use with braided hoses. 2.If use with spiral hoses,hose fitting series number is 88192-xx—xx.

ZHEJIANG HUACHENG HYDRAULIC MECHINERY CO. LTD.

83

84




H Swaged Hose Fitting

20011-ST

METRIC FEMALE WATREWASH INSERTS

H Swaged Hose Fitting

70011
METRIC BANJO DIN7642

HOSE BORE DIMENSIONS
PART NO. THREAD E DN DASH = q D
20011-22-03ST| M22x1.5 o 03 24.5 14 34.5
20011-22-04ST| M22x1.5 6 04 25 14 34.5
20011-22-058T| M22x1.5 8 05 25 14 34.5
20011-22-06ST| M22x1.5 10 06 25 14 34.5

Note: 1.For use with braided hoses.

2.1f use with spiral hoses,hose fitting series number is 20012-xx—xx.

C

’

17

51 —’i

700M

METRIC BOLT DIN 7643

THREAD DIMENSIONS
PART NO. = A 5 C ST
700M-10 M10 x 1 19 4 6 17
700M-12 Mi12x1.5 24 6 6 17
700M-14 M14x1.5 26 8 7 19
700M-16 M16x 1.5 28 9 T 20
700M-18 M18x 1.5 32 11 8 24
700M-22 M22 x 1.5 39 14 9 27
700M-26 M26 x 1.5 45 18 10 32
700M-30 M30 x 1.5 51 22 11 38

HOSE BORE DIMENSIONS

ARSI, BOLT DN DASH A d D H
70011-10-03 M10 x 1 5 03 14.5 10.1 17 10
70011-10-04 M10 x 1 6 04 7 10.1 17 10
70011-12-04 | M12x1.5 6 04 20.5 12.1 20 12
70011-12-05 | M12x1.5 8 05 20.5 12.1 20 12
70011-12-06 | M12x 1.5 10 06 20.5 12.1 20 12
70011-14-04 | M14x 1.5 6 04 19 141 24 14
70011-14-05 | M14x1.5 8 05 19 14.1 24 14
70011-14-06 | M14x1.5 10 06 21 141 24 14
70011-16-04 | M16x 1.5 6 04 20.5 16.1 28 16
70011-16-05 | M16x 1.5 8 05 20.5 16.1 28 16
70011-16-06 | M16x 1.5 10 06 20.5 16.1 28 16
70011-18-04 | M18x 1.5 6 04 23 18.1 32 20
70011-18-05 | M18x 1.5 8 05 24 18.1 32 20
70011-18-06 | M18x 1.5 10 06 24 18.1 32 20
70011-18-08 | M18x 1.5 12 08 24.5 18.1 32 20
70011-22-06 | M22x 1.5 10 06 28.1 22.1 39 25
70011-22-08 | M22x 1.5 12 08 28.5 22.1 39 25
70011-22-10 | M22x1.5 16 10 27.5 22.1 39 25
70011-26-12 | M26x 1.5 20 12 30.5 26.1 46 30
70011-30-16 | M30x 1.5 25 16 37 30.1 54 36
70011-30-20 | M30x 1.5 32 20 41 30.1 54 36

Note: 1.For use with braided hoses. 2.If use with spiral hoses,hose fitting series number is 70012-xx-xx.

ZHEJIANG HUACHENG HYDRAULIC MECHINERY CO.,LTD.

ZHEJIANG HUACHENG HYDRAULIC MECHINERY CO. LTD.

85

86




H Swaged Hose Fitting

51

71011

JB METRIC BANJO

H Swaged Hose Fitting

710M
JB METRIC BOLT

HOSE BORE DIMENSIONS

PART NO. BOLT DN DASH A q D H
71011-06-04 M6 x 1 6 04 16 6 18 12
71011-08-04 M8 x 1 6 04 17 8 20 13
71011-10-04 M10 x 1 6 04 19 10 22 13
71011-10-05 M10 x 1 8 05 19 10 22 13
71011-10-06 M10 x 1 10 06 19 10 22 13
71011-12-06 M12x1.5 10 06 21 12 26 15
71011-14-04 M14x1.5 6 04 20.5 14 28 18
71011-14-05 M14x1.5 8 05 21.5 14 28 18
71011-14-06 M14x1.5 10 06 21.5 14 28 18
71011-14-08 M14x1.5 12 08 22.5 14 28 18
71011-16-05 M16x 1.5 8 05 22.5 16 32 18
71011-16-08 M16x 1.5 12 08 25 16 32 18
71011-18-06 M18x 1.5 10 06 26.5 18 36 22
71011-18-08 M18x 1.5 il 2 08 27 18 36 22
71011-18-10 M18 x 1.5 16 10 27.5 18 36 22
71011-20-06 M20x 1.5 10 06 29.5 20 36 22
71011-20-08 M20x 1.5 12 08 30 20 36 22
71011-22-10 M22 x 1.5 16 10 30.5 22 46 30
71011-22-12 M22 x 1.5 20 12 31 22 46 30
71011-27-10 M27 x 2 16 10 36.5 2 56 36
71011-27-14 M27 x 2 22 14 36 27 56 36
71011-27-16 M33 x 2 25 16 36 27 56 36
71011-33-12 M33 x 2 20 12 43 33 64 50
71011-42-20 M42 x 2 32 20 54 42 78 64

Note: 1.For use with braided hoses. 2.If use with spiral hoses,hose fitting series number is 71012-xx-xx.

DIMENSIONS
PART NO. THREAD E A B C 51
710M-=10 M10 x 1 25 4 6 17
710M-14 M14 x1.5 32 8 7 19
710M-18 M18 x 1.5 38 11 8 24
710M-22 M22x 1.5 48 14 9 30
710M-27 M27 x 2 60 18 10 36
710M-33 M33 x 2 63 22 12 41
710M-42 M42 x 2 85 28 14 55
C. A
. i _:[ﬂ 7208
4 BSP BOLT
PART NO. THREAD DIMENSIONS
E A B & S
720B-02 G1/8"x 28 29.5 4.8 4.8 14
720B-04 G1/4"x 19 285 6 6 19
720B-06 G3/8"x19 38.5 9 7 22
720B-08 G1/2"x 14 44 13 8.5 2
720B-10 G5/8"x 14 48.5 15 10 30
720B-12 G3/4"x 14 56 18 10 P
720B-16 Gi1"x 11 68.5 22 13 41

ZHEJIANG HUACHENG HYDRAULIC MECHINERY CO.,LTD.

ZHEJIANG HUACHENG HYDRAULIC MECHINERY CO. LTD.

87

88




H Swaged Hose Fitting

H Swaged Hose Fitting

A
“% 72011
= =N BSP BANJO
HOSE BORE DIMENSIONS

PARTNC, || THREAD E DN DASH A d D H
72011-02-03 G1/8"x28 5 03 18 9.9 24 16
72011-02-04 G1/8"x28 6 04 185 99 24 16
72011-04-03 G1/4"x19 5 03 19 13.3 24 15
72011-04-04 G1/4"x19 6 04 195 13.3 24 5
72011-04-05 G1/4"x19 8 05 19.5 13.3 24 15
72011-04-06 G1/4"x19 10 06 iy 133 24 5
72011-06-04 G3/8"x19 6 04 22 16.7 29 20
72011-06-05 G3/8"x19 8 05 22 16.7 29 20
72011-06-06 G3/8"x19 10 06 22 16.7 29 20
72011-06-08 G3/8"x19 12 08 23 16.7 29 20
72011-08-05 G1/2"x 14 8 05 27.5 21 38 25
72011-08-06 G1/2"x14 10 06 278 21 38 25
72011-08-08 G1/2"x14 12 08 28 21 38 25
72011-08-10 G1/2"x14 16 10 29 21 38 25
72011-10-10 G5/8"x 14 16 10 28 23 40 27
72011-12-10 G3/4"x 14 16 1.6 32 26.5 48 31
72011-12-12 G3/4"x 14 20 12 32 26.5 48 31
72011-16-08 G1"x 11 12 08 40 33.3 60 42
72011-16-12 G1"x11 20 12 40 33.3 60 42
72011-16-16 G1"x11 25 16 41 33.3 60 42

Note: 1.For use with braided hoses. 2.If use with spiral hoses,hose fitting series number is 72012-xx—XXx.

ZHEJIANG HUACHENG HYDRAULIC MECHINERY CO.,LTD.

L
Y - 90011
|||||||I| JH_I_H || ||||]|| DOUBLE CONNECTOR
HOSE BORE DIMENSIONS

PART NO. DN DASH L

90011-04 6 04 69
90011-05 8 05 69
90011-06 10 06 73
90011-08 12 08 7T
90011-10 16 10 83
90011-12 20 12 93
90011-16 25 16 114
90011-20 32 20 132
90011-24 40 24 162
90011-32 50 32 170

Note:For wire braid hose.
L 90012
e T D
DOUBLE CONNECTOR
HOSE BORE DIMENSIONS

iaiha e DN DASH il

90012-04 6 04 83
90012-05 8 05 87
90012-06 10 06 87
90012-08 12 08 91

90012-10 16 10 97
90012-12 20 12 110
90012-16 25 16 134
90012-20 32 20 153
90012-24 40 24 172
90012-32 50 32 178

Note:For sprial hose.

ZHEJIANG HUACHENG HYDRAULIC MECHINERY CO. LTD.

89

90




H Swaged Hose Fitting H Interlock Hose Fitting

[
,1— W\_rv Trrrn
- I]JIJ[IDIIE 67011 J ] Ses—— 10513
|
SAE STAPLELOK MALE SAE J1467 " HH METRIC MALE 24° CONE SEAT
s1 H.T.FOR SPIRAL HOSE DIN3853
HOSE BORE DIMENSIONS HOSE BORE DIMENSIONS
i PARTNO. | THREAD E TUBE O.D.

PART NO. — o O-RING 7 = G 7 DN DASH A C S
67011-04-04 6 04 006.0X2.0 34 28 | 14.9 | 9.9 It 0 20 e & o i e =
bl b o6 ey - A S n o e 10513-42-16 M42X2 25 16 30 46.4 20 46

SURs 10,0520 : : 10513-52-20 | Ms2X2 32 20 38 52.8 22 55

67011-08-08 12 08 013.0X2.5 36 28 | 239 | 17.9

67011-12-12 20 12 019.0X2.5 | 375 28 | 28.9 | 23.9

67011-16-16 25 16 025.0X2.5 44 33 | 38.8 | 30.9

67011-20-20 32 20 033.0X2.5 44 33 | 45.9 | 37.9

67011-24-24 40 24 040.0X3.0 | 475 | 36.3 | 54.9 | 46.9

67011-32-32 50 32 050.0x3.0 | 475 | 36.3 | 63.9 | 55.9 -

Note: 1.For use with braided hoses. 2.If use with spiral hoses,hose fitting series number is 67012-xx—xx. QNN

SN

METRIC FEMALE 24° CONE H.T.

20513-W 20513-T WITH O-RING DIN3865(CRIMP TYPE)
HOSE BORE DIMENSIONS
PART NO. THREAD E TUBEO.D.| O RING

DN DASH A & S2
20513-30-12W | M30X2 20 12 20 016.3X24 | 30 | 2.5 [ 36
20513-36-12T M36X2 20 12 25 020.3X24 | 385 | 3.5 | 46
20513-36-16W |  M36X2 25 16 25 020.3X2.4 | 319 | 3.2 | 46
20513-42-12T M42X2 20 12 30 025.3X2.4 | 42 | 39 | 50
20513-42-16W | M42X2 25 16 30 025.3X2.4 | 334 | 3.9 | 50
20513-42-20W |  M42Xx2 32 20 30 025.3X2.4 | 388 | 3.9 | 50
20513-52-20T M52X2 32 20 38 033.3X2.4 | 453 | 4.5 | 60
20513-52-24W |  M52X2 40 24 38 033.3%2.4 | 382 | 45 | 60

ZHEJIANG HUACHENG HYDRAULIC MECHINERY CO.,LTD. ZHEJIANG HUACHENG HYDRAULIC MECHINERY CO.,LTD.

a1 92



H Interlock Hose Fitting

45° METRIC FEMALE 24° CONE
H.T. WITH O-RING

H Interlock Hose Fitting

20543-W 20543-T DIN3865(CRIMP TYPE)
PART NO THREAD E HOSE BORE TUBE O.D O RING DIMENSIONS
: DN DASH o A C H s2
20543-36-12T M36X2 20 12 25 020.3X2.4 89.4 3.5 33 46
20543-42-16W| M42X2 25 16 30 025.3X2.4 | 102.3 3.9 35.9 50
20543-52-20T M52X2 32 20 38 033.3X2.4 114.5 4.5 39.4 60

90° METRIC FEMALE 24° CONE

I'.hi
H.T. WITH O-RING
20593-W 20593-T DIN3865(CRIMP TYPE)
PART NO THREAD E hdie b2 TUBE O.D O RING SR Sl

- DN DASH et A C H 82
20593-36-12T M36X2 20 12 25 020.3X2.4 74.5 3.5 67.8 46
20593-36-16W| M36X2 25 16 25 020.3X2.4 88.9 3.2 79:5 46
20593-42-16W| M42X2 25 16 30 025.3X2.4 88.9 3.9 80.5 50
20593-42-20W| M42X2 32 20 30 025.3X2.4 | 105.8 3.9 915 50
20593-52-20T | M52X2 32 20 38 033.3X2.4 | 105.8 4.5 86.5 60
20593-52-24W| M52X2 40 24 38 033.3X24 [ 124.2 4.5 104.5 60

ZHEJIANG HUACHENG HYDRAULIC MECHINERY CO.,LTD.

| C
wly b s 12613
%lf" Iﬂl 1 BSPP MALE 60° CONE SEAT
: Ts1
AT NO CHREAD E HOSE BORE DIMENSIONS
: DN DASH A C S1
12613—-12-12 G3/4"X14 20 12 375 185 30
12613-16-16 G1"X11 25 16 41 20.5 36
12613-20-20 G1.1/4"X11 32 20 453 20.5 46
12613-24-24 | G1.1/2"X11 40 24 49.7 23 50
12613-32-32 G2"X11 50 32 52 255 60
G
\WL 13013-SP
_L ) BSPP MALE
o HOSE BORE DIMENSIONS
PART NO. THREAD E = —w A 5 5y
13013-12-12SP| R3/4"'X14 20 12 38 20 30
13013-16-16SP| R1"X11 o5 16 45.9 255 38
13013-20-20SP| R1.1/4"X11 32 20 51.3 26.5 46
13013-24-24SP| R1.1/2"X11 40 24 53.2 26.5 50
13013-32-32SP| R2"X11 50 32 58.5 30 65
C A
g - 22613-W
W
g > 0 MM BSPP FEMALE 60° CONE
/
‘52
— S—— HOSE BORE DIMENSIONS
: DN DASH A ¥ S2
22613-12-12W G3/4"X14 20 12 27.5 8.7 32
22613-16-16W G 25 16 32.4 10.5 41
22613-20-20W G1.1/4"X11 32 20 35.8 10.1 50
22613-24-24W | G1.1/2"X11 40 24 36.7 12.5 55
22613-32-32W G2"X11 50 32 36.5 16 70

ZHEJIANG HUACHENG HYDRAULIC MECHINERY CO. LTD.

93

94




H Interlock Hose Fitting

H Interlock Hose Fitting

cC. A
22693-W ol an N 24213-W
90° BSPP FEMALE 60° CONE {'f'_ o] J_L ||||| [ || ORFS FEMALE FLAT SEAT ISO
) 12151-1——SAE J516
R E— HOSE BORE DIMENSIONS B ART NG CHREAD E HOSE BORE DIMENSIONS
‘ DN DASH A G H S2 : DN DASH A C S2
22693-12-12W | G3/4"X14 20 12 738 | 8.7 | 67.1 32 24213-12-12W| 1.3/16"X12 20 12 41 15 36
20693-16-16W G1*X11 25 16 91.9 | 105 | 72 41 24213-16-16W| 1.7/16"X12 25 16 44.4 15 41
22693-20-20W | G1.1/4"X11 32 20 1058 | 10.1 | 883 | 50 24213-20-20W| 1.11/16"X12 32 20 47.8 15 50
20693-24-24W | G1.1/2"X11 40 24 1242 | 12.5 | 103 55 24213-24-24W|  2"X12 40 24 48.2 15 60
20693-32-32W G2*X11 50 32 1488 | 16 [ 1233 70
15613 24243-W
NPT MALE 45° ORFS FEMALE FLAT SEAT
T -_— HOSE BORE DIMENSIONS AT O e AntE HOSE BORE DIMENSIONS
' DN DASH A C S1 ' DN DASH A & H S2
15613-12-12 | Z3/4'X14 20 12 37.5 19.5 30 24243-12-12W]| 1.3/16"X12 20 12 97.7 15 42 36
15613-16-16 | Z1'X11.5 25 16 45.9 255 38 24243-16-16W| 1.7/16"X12 25 16 111 15 44.6 41
15613-20-20 [Z1.1/4"X11.5 32 20 51.3 26.5 46 24243-20-20W| 1.11/16"X12 32 20 124 15 49 50
15613-24-24 [Z1.1/2"'X11.5 40 24 54.2 27.5 50 24243-24-24W Coiod & 1. 40 24 138.2 | 14.8 53.6 60
15613-32-32 Z22"%X11.5 50 32 56.5 27.5 65
C A
7 S 21613-W 24293-W
NPSM FEMALE 60° CONE 90° ORFS FEMALE FLAT SEAT ISO
12151-1——SAE J516
HOSE BORE DIMENSIONS
PART NO. THREAD E HOSE BORE DIMENSIONS
DN DASH A C S2 PART NO. THREAD E
21613-12-12W| _3/4'X14 20 12 26.5 9 32 Lok Ll i 2 .
21613-16-16W| 1"X11.5 o5 16 30.4 10.5 41 24293-12-12W]| 1.3/16"'X12 20 12 73.8 15 80.5 36
21613-20-20W/| 1.1/4"X11.5 32 20 32.5 11 50 24293-16-16W 1.7/16"X12 25 16 88.9 15 88.5 41
21613-24-24W/| 1.1/2"'X11.5 40 24 857 14 55 24293-20-20W| 1.11/16"X12 32 20 105.8 15 100 50
21613-32-32W| 2'%11.5 50 32 36.5 16 70 24293-24-24W 2"X12 40 24 1232 | 148 | 1145 60
ZHEJIANG HUACHENG HYDRAULIC MECHINERY CO..LTD. ZHEJIANG HUACHENG HYDRAULIC MECHINERY CO.,LTD.
95 96




H Interlock Hose Fitting H Interlock Hose Fitting

~. C A 54 B A
RN LA O
./ : . 26713-W f | T 29613-W
:‘._ v R o 'SILL," 1 —1
G | o“ l | | LD ’ JIC FEMALE 74° CONE SEAT '1 éﬁ@[ﬂl}_ﬂl[. JIS GAS FEMALE 60° CONE SEAT
\ \
X & '
PART NO e HOSE BORE DIMENSIONS HOSE BORE DIMENSIONS
: DN DASH A c S2 FARTN. | TREAEAD & DN DASH A B S1 S2
26713-12-12W| 1.1/16"X12 20 12 26.5 15 32 29613-12-12W | G3/4"X14 20 12 40 13.5 32 32
26713-16-16W/| 1.5/16"X12 25 16 29.4 16 41 29613-16-16W G1"X11 25 16 44 .4 16 41 41
26713-20-20W| 1.5/8"X12 32 20 32.3 16.1 50 29613-20-20W | G1.1/4"X11 32 20 48.8 18.5 50 50
26713-24-24W| 1.7/8"X12 40 24 35.2 20 60 29613-24-24W | G1.1/2"X11 40 24 49.2 19 55 55
26713-32-32W| 2.1/2"X12 50 32 34.5 23.5 75 29613-32-32W G2"X11 50 32 52 23 70 70

_WIIJII//J,/'/,,I,,..,....._.._

26793-W 87313
90° JIC FEMALE 74° CONE SEAT O s 2 SAE FLANGE 3000PSI
ISO 12151-3--SAE J516
e R E HOSE BORE DIMENSIONS AT NG NGE i HOSE BORE DIMENSIONS
: DN DASH A C H S2 - Al DN DASH A C D L
26793—12-12W | 1.1/16"X12 20 12 73.8 15 64.5 32 873131212 34" 50 12 50 38.1 317 6.73
26793-16-16W | 1.5/16"X12 25 16 88.9 16 725 41 .
26793-20-20W | 1.5/8"X12 32 20 105.8 16.1 815 50 87313-16-12 1 20 12 54 44.4 38 8
26793-24-24W | 1.7/8"X12 40 24 124.2 20 101 55 87313-16-16 1" o5 16 54.4 44.4 38 8
26793-32-32W | 2.1/2"X12 50 32 150.3 23.5 121.3 75 RS TATERET T ” g - R - B
87313-20-20 1.1/4" 32 20 65.8 50.8 43 8
87313-24-20 1.1/2" 32 20 71.8 60.3 50 8
/\_c A 87313-24-24 1.4/2" 40 24 722 60.3 50 8
Ly Wy W
[ 1 — 26713D-W 87313-32-24 2 40 24 742 71.4 62 9.53
87313-32-32 2" 50 32 78.5 71.4 62 9.53
JIC FEMALE 74° CONE SEAT
HOSE BORE DIMENSIONS
PARTNO. | THREAD E = =F = = = =
26713D-12-12W| 1.1/16"X12 20 12 37.5 15 30 32
26713D-16-16W| 1.5/16"X12 25 16 42.4 16 38 41
26713D-20-20W| 1.5/8"X12 32 20 47.3 17 46 50
26713D-24-24W| 1.7/8"X12 40 24 50.2 20 50 60
26713D-32-32W/| 2.1/2"X12 50 32 52 23 5 65 75
ZHEJIANG HUACHENG HYDRAULIC MECHINERY CO..LTD. ZHEJIANG HUACHENG HYDRAULIC MECHINERY CO.,LTD.

a7 98



H Interlock Hose Fitting H Interlock Hose Fitting

A A :
e Cpma
N ) =
= %7 87343 Sl A _ 87613
o 45° SAE FLANGE 3000PSI SAE FLANGE 6000PSI
. . HOSE BORE DIMENSIONS AUV [— HOSE BORE DIMENSIONS
PART NO. |FLANGE SIZE < ST A e = T 1 : T = = o = T
87343—12-12 3/4" 20 12 858 | 381 | 31.7 | 28.9 | 7 87613-12-12 3/4" 20 12 53 413 32 8.76
87393-16-12 1 20 12 85.8 | 444 38 28.9 8 87613—-16-12 1" 20 12 58 476 38 9.53
87343-16-16 T 25 16 96.1 | 44.4 | 38 | 29.7 | 8 ,,
87343-20-16 1.1/4" 25 16 96.1 | 508 | 43 | 297 | 8 £r0la-16-18 ! == 18 B84 pi 88 S
87343-20-20 1.1/4" 32 20 108.8 | 50.8 43 33.8 8 87613-20-16 JaliaE 25 16 67.4 54 44 10.29
87343-24-20 BTy 32 20 1102| 60.3 | 50 | 352 | 8 -
87343-24-24 | 1.1/2" 40 24 |1237| 603 | 50 | 391 | 8 e = = = > “ =
87343-32-24 2" 40 24 1237 71.4 | 62 | 39.1 | 9.53 87613-20-24 1.1/4 40 24 747 54 44 10.29
87343-32-32 2" 50 32 148.3| 714 62 46.3 | 9.53 87613-24-20 1.4/o" 30 20 78.8 63.5 51 12.57
87613-24-24 1.1/2" 40 24 787 63.5 51 12.57
87613-32-24 2" 40 24 91.2 79.4 67 12.57
87613-32-32 2" 50 32 91 79.4 67 1257

= =]
o 87643
=[] ¢ 90° SAE FLANGE 3000PSI
45° SAE FLANGE 6000PSI
HOSE BORE DIMENSIONS HOSE BORE DIMENSIONS
PART NO. |FLANGE SIZE = o A = . v 1 PART NO. |FLANGE SIZE = YT - e 5 v T
87393-15-15 VG 50 > =81 13171 60 - 87643-12-12 3/4" 20 12 88.7 | 41.3 32 31.8 | 876
87393-16-12 1" 20 12 75 | 444 | 38 | 62 8 87643-16-12 1 20 12 90.8 | 476 38 33.2 | 953
87393-16-16 1" 25 16 889 | 444 | 38 | 675 | 8
87393-20-16 1.1/4" 25 16 889 | 50.8 | 43 | 675 | 8 87643-16-16 T8 25 16 101.1 | 476 38 34.7 | 953
87393-20-20 1.1/4" 32 20 105.8| 508 | 43 | 785 | 8
87393-24-20 1.1/2" 32 20 105.8| 603 | 50 | 805 8 87643-20-16 1.1/4" 25 16 103.9 54 44 37.5 | 10.29
g;ggg:%g:gj 1';2 jg gj %g% ??:3 gg gf{ 9-853 87643-20-20 1.1/4" 32 20 116.6 | 54 44 415 | 10.29
87393-32-32 2" 50 32 15031 7141 62 ]114.3] 9.53 87643-24-20 1.1/2" 32 20 120.1 | 63.5 51 45.1 | 12,57
87643-24-24 1.1/2" 40 24 134.6 | 635 51 49 | 1257
87643-32-24 = 40 24 140.2 | 79.4 67 54.7 | 1257
87643-32-32 B 50 32 163.3 | 79.4 67 61.9 | 1257
ZHEJIANG HUACHENG HYDRAULIC MECHINERY CO.,LTD. ZHEJIANG HUACHENG HYDRAULIC MECHINERY CO.,LTD.

99 100



H Interlock Hose Fitting

87693

90° SAE FLANGE 6000PSI

H Interlock Hose Fitting

PART NO. FLANGE SIZE HOSE BORE DIMENSIONS

DN DASH A G D H L
87693-12-12 3/4" 20 12 75 41.3 32 66 8.76
87693-16-12 i 20 12 75 47.6 38 68 9.53
87693-16-16 1+ 25 16 88.9 47.6 38 73.5 9.53
87693-20-16 1.1/4" 25 16 88.9 54 44 78.5 10.29
87693-20-20 1.1/4" 32 20 105.8 54 44 86.5 10.29
87693-24-20 1.1/2* 32 20 105.8 63.5 51 89.5 12.57
87693-24-24 1.1/2" 40 24 124.2 63.5 51 103 12.57
87693-32-24 2 40 24 124.2 79.4 67 103 1267
87693-32-32 2" 50 32 150.3 79.4 67 123.3 12.57

A
L
S
I o 87913
SAE FLANGE 9000PSI
HOSE BORE DIMENSIONS
PART NO., FLANGE SIZE DN DASH A C D L

87913-12-12 3/4" 20 12 58.5 41.3 32 14.3
87913-16-12 1" 20 2 63 47 .6 38 14.3
87913-16-16 E f 25 16 64.4 47.6 38 14.3
87913-20-16 Tl = 25 16 66.8 54 43 1403
87913-20-20 1.1/4" 32 20 73.8 54 43 14.3
87913-24-20 1.1/2" 32 20 80.6 535 51 1Ak e
87913-24-24 1.1/2" 40 24 80.7 63.5 51 14.3

J v 87943
= 45° SAE FLANGE 9000PSI
e Foaiea HOSE BORE DIMENSIONS
DN DASH A £ D H L
87943-12-12 3/4" 20 12 92.6 41.3 32 35.6 14.3
87943-16-12 1| 20 12 93.7 47.6 38 36.7 14.3
87943-16-16 | 25 16 103.9 47.6 38 37.5 14.3
87943-20-16 A 25 16 104.6 54 43 38.2 14.83
87943-20-20 1.1/4" 32 20 117.3 54 43 42.3 14.3
87943-24-20 1.1/2" 32 20 118 63.5 51 43 14.3
87943-24-24 1.1/2* 40 24 132.5 63.5 51 46.9 14.83
87993
90° SAE FLANGE 9000PSI
I T— HOSE BORE DIMENSIONS
DN DASH A G D H L

87993-12-12 3/4" 20 12 75 41.3 32 71.5 14.3
87993-16-12 ik 20 2 T 47.6 38 73 14.3
87993-16-16 1" 25 16 88.9 47.6 38 78.5 14.3
87993-20-16 1.1/4" 25 16 88.9 54 43 795 14.3
87993-20-20 1.1/4" 32 20 105.8 54 43 90.5 14.3
87993-24-20 1L [l 32 20 105.8 653.5 51 g5 14.3
87993-24-24 1.1/2" 40 24 124.2 63.5 51 105 14.3

ZHEJIANG HUACHENG HYDRAULIC MECHINERY CO.,LTD.

ZHEJIANG HUACHENG HYDRAULIC MECHINERY CO. LTD.

101

102




H Interlock Hose Fitting

90013

DOUBLE CONNECTOR

H Reusable Hose Fitting

A

.@%

HOSE BORE DIMENSIONS
EARINS DN DASH L
90013-12 20 12 119
90013-16 25 16 150
90013-20 32 20 194
90013-24 40 24 223
90013-32 50 32 235

ZHEJIANG HUACHENG HYDRAULIC MECHINERY CO.,LTD.

s( | | —-1 15618
U NPT MALE
PART NO. THREAD E HOSE BORE DIMENSIONS

DASH A S1
15618-02-04 Z1/8"X27 04 25.5 12
15618-04-04 Z1/4"X18 04 30 17
15618-04-06 Z1/4"X18 06 31 17
15618-06-05 Z3/8"X18 05 32.9 19
15618-06-06 Z3/8"X18 06 32 19
15618-08-08 Z1/2"X14 08 40.5 22
15618-12-10 Z23/4"X14 10 42.5 30
15618-12-12 Z23/4"X14 12 43 30
15618-16-16 Z1"X11.5 16 46.5 36
15618-20-20 Z1.1/4"X11.5 20 51.5 46
15618-24-24 Z1.1/2"X11.5 24 52.5 50
15618-32-32 ZNWA LN 32 55 65

ZHEJIANG HUACHENG HYDRAULIC MECHINERY CO. LTD.

103

104




H Reusable Hose Fitting H Reusable Hose Fitting

A L. A

g(><\]_| ] 16718 JHJ T METRIC FEMALE 24° CONE O-RING H.T
| ey JIC MALE74° CONE SAE J514 w0
PART NO THREAD E HOOE BUbe TUBE O.D ZNENSIOES
HOSE BORE DIMENSIONS ; DN DASH o e S1 S2
PART NO. THREAD E
DASH A S1 20518D-16-04 | M14x1.5 5 04 8 1.8 14 19
16718-04-04 7/16X20 04 29 12 20518D-16-05 | M16x1.5 6 05 8 1.8 14 19
16718-06-05 9/16"X18 05 31 17 20518D-18-04 | M18x 1.5 5 04 10 1.5 17 22
16718-06-06 9/16"X18 06 32 17 20518D-18-06 M18x 1.5 8 06 10 1.5 17 22
16718-08-06 3/4"X16 06 34.7 22 20518D-20-06 M20x 1.5 8 06 12 2.5 17 24
16718-08-08 3/4"X16 08 38 22 20518D-22-06 | M22x1.5 8 06 14 3 19 27
16718-10-10 7/8"'X14 10 40.5 24 20518D-24-08 | M24x1.5 11 08 16 3 22 | 30
16718-12-12 1.1/16"X12 12 45.5 30 20518D-30-10 | M30x 2 13 10 20 25 | 27 | 36
16718=18-10 1.5/16"X12 16 as 36 20518D-30-12 | M30x 2 16 12 20 25 | 27 | 36
16718-20-20 5/8" 20 49.5 46
1.5/8"X12 20518D-36-12 | M36x2 16 12 25 3.2 | 36 | 41
16718-24-24 1.7/8"X12 24 E5E 50
20518D-36-16 | M36 x 2 22 16 25 32 | 36 41
20518D-42-16 | M42x?2 22 16 30 3.9 | 41 50
20518D-42-20W| M42x2 28 20 30 3.9 | 41 50
20518D-52-20W| M52 x 2 28 20 38 45 | 50 60
20518D-52-24W| M52 x 2 35 24 38 45 | 50 60
20418D
METRIC FEMALE 24° CONE O-RING L.T
HOSE BORE DIMENSIONS
PART NO. THREAD E TUBE O.D.
DN DASH & St S2
20418D-14-04 | M14x1.5 5 04 8 1.4 12 17
20418D-16-05 | M16x1.5 6 05 10 2.1 14 19
20418D-18-06 | M18x 1.5 8 06 12 1.8 1% 22
20418D-22-08 | M22x1.5 11 08 5 3 19 27
20418D-26-10 | M26x 1.5 13 10 18 2.1 27 32
20418D-30-12 M30 x 2 16 12 22 3.8 | 30 36
20418D-36-16 M36 x 2 22 16 28 45 | 36 41
20418D-45-16W| M45x2 22 16 35 4 41 50
20418D-45-20W | M45x2 28 20 35 4 41 50
20418D-52-24W| M52 x2 35 24 42 4 50 60
ZHEJIANG HUACHENG HYDRAULIC MECHINERY CO..LTD. ZHEJIANG HUACHENG HYDRAULIC MECHINERY CO.,LTD.

105 106



H Reusable Hose Fitting

C
A
il

- ;h“\
B >

52/

|EI_|| = >
- “§1

H Reusable Hose Fitting

BSP FEMALE 60° CONE
22618D 22618D-W
HOSE BORE DIMENSIONS

PART NO. THREAD E DASH A C o1 S0
22618D-04-04 G1/4"x19 04 26 5.5 14 19
22618D-06-05 G3/8"x19 05 29.1 6.3 ¥ 22
22618D-06-06 G3/8"x 19 06 30 6.3 17 22
22618D-08-08 G1/2"x14 08 35 7.5 19 27
22618D-10-10 G5/8"x 14 10 35.5 9.5 22 30
22618D-12-12 G3/4"x14 12 38.5 10.9 27 32
22618D-16-16 G1"x11 16 37 11.7 32 41
22618D-20-20W G1.1/4"x 11 20 41.5 11 41 50

== e
\%& !
ORFS FEMALE FLAT DOUBLE HEX
24218D 24218D-W
HOSE BORE DIMENSIONS
PART NO. THREAD E
DASH C S1 S2
24218D-04-04 9/16" x 18 04 8.5 14 19
24218D-04-05 9/16"x 18 05 8.5 14 19
24218D-06-06 11/16"x 16 06 10 17 22
24218D-08-08 13/16"x 16 08 11 19 27
24218D-10-10 1"x 14 10 13.5 24 30
24218D-12-12 1.3/16"x 12 12 15 30 36
24218D-16-16 171650 16 15 36 41
24218D-20-20W 1.11118" x 12 20 15 41 50
24218D-24-24W 2"x12 24 16 50 60

JIC FEMALE 74° CONE SEAT
26718D 26718D-W  SAE J514
HOSE BORE DIMENSIONS
PART NO. THREAD E o - S ~ ~
26718D-04-04 7/16" % 20 04 22 9 14 15
26718D-05-05 1134 % 20 05 25.4 95 14 17
26718D-06-06 9/16"x 18 06 24 .5 10.5 17 19
26718D-08-08 3/4"x 16 08 A4 LA T 22 24
26718D-10-10 7/8"x 14 10 34 13 27 27
26718D-12-12 1.1/16"x 12 2 37 15 32 32
26718D-16-16 1.5/16"x 12 16 33.5 16 38 41
26718D-20-20W 1.5/8"x 12 20 41.5 i3 41 50
26718D-24-24W 1.7/8"x12 24 43 20 46 55
26718D-32-32W 2.1/2"x 12 b 45.5 2o 65 Tl
A
o W N
i SAE FLANGE 3000PSI
HOSE BORE DIMENSIONS
PARTIND. | FLANGE Sics DN DASH S A C

87318D-08-08 1/2" 11 08 22 54 30.2
87318D-12-12 3/4" 16 12 T 55 38.1
87318D-16-16 1" 22 16 32 55 44 .4
87318D-20-20 1.1/4" 28 20 41 58 50.8
87318D-24-24 1. 472" 35 24 46 70 60.3
87318D-32-32 i 46 32 60 T2 71.4

ZHEJIANG HUACHENG HYDRAULIC MECHINERY CO.,LTD.

ZHEJIANG HUACHENG HYDRAULIC MECHINERY CO. LTD.

107

108




H Reusable Hose Fitting

87398D

90° SAE FLANGE 3000PSI

H Reusable Hose Fitting

00518

SAE 100 R HOSE FERRULE
DETACHABLE FERRULE

HOSE BORE DIMENSIONS
PART NO. DASH 3 S
00518-04 04 28 10
00518-05 05 30.5 19
00518-06 06 33 22
00518-08 08 42 24
00518-10 10 45.5 30
00518-12 1 53.5 32
00518-16 16 42 36
00518-20 20 44.5 46
00518-24 24 47 50
00518-32 32 57 65

HOSE BORE DIMENSIONS

PARTING S|S0 e DASH A G H L | st
87398D-08-08 1/2" 12 08 53 30.2 24 47 6.73 27
87398D-12-10 3/4" 16 10 66.5 | 38.1 32 525 [N 673 32
87398D-12-12 3/4" 20 12 79.5 | 381 32 62 6.73 32
87398D-16-12 ilis 20 12 79.5 | 44.4 38 62 8 32
87398D-16-16 L 25 16 86.5 | 44.4 38 67.5 8 41
87398D-20-16 1.1/4" 25 16 86.5 | 50.8 43 Bt 8 41
87398D-20-20 1.1/4" 32 20 100.5( 50.8 43 78.5 8 50
87398D-24-20 iicli/Zs 32 20 100.5( 60.3 50 80.5 8 50
87398D-24-24 1.1/2" 40 24 108 60.3 50 94 8 55
87398D-32-24 25 40 24 108 71.4 62 94 9.53 55
87398D-32-32 2" 50 32 128.8( 71.4 62 114.3 | 9.53 70

87698D
90° SAE FLANGE 6000PSI
HOSE BORE DIMENSIONS

EETIO | = = DASH A g H L | st
87698D-08-08 1/2" 12 08 53 31.7 24 48 7.75 27
87698D-12-10 3/4" 16 10 66.5 | 41.3 32 56.5 | 8.76 32
87698D-12-12 3/4" 20 12 79.5 | 41.3 32 66 8.76 32
87698D-16-12 1" 20 12 79.5 | 47.6 38 69 9.53 32
87698D-16-16 1" 25 16 86.5 | 47.6 38 74.5 | 9.53 41
87698D-20-16 1.1/4" 25 16 86.5 54 44 78.5 110.29| 41
87698D-20-20 1.1/4" 32 20 100.5 54 44 89.5 110.29| 50
87698D-24-20 11 /2" 32 20 100.5 | 63.5 51 945 |12.57| 50
87698D-24-24 T:1/2" 40 24 108 63.5 51 108 | 12.57| 55
87698D-32-24 2 40 24 108 79.4 67 116NN 2.57 (55
87698D-32-32 2" 50 32 128.8( 79.4 67 136.3(12.57| 70

ZHEJIANG HUACHENG HYDRAULIC MECHINERY CO.,LTD.

ZHEJIANG HUACHENG HYDRAULIC MECHINERY CO. LTD.

109

110




H Plug-in Hose Fitting

H Plug-in Hose Fitting

A
.
ool 1] 12610
BSP MALE 60° CONE SEAT
Y S1
HOSE BORE DIMENSIONS
PART NO. THREAD E DN DASH A C S1
12610-04-04 G1/4"X19 6 04 20 12 14
12610-06-06 G3/8"X19 10 06 22 13.6 17
12610-08-08 G1i1/2"X14 12 08 26.5 16 22
12610-10-10 G5/8"X14 16 10 27.5 17.56 24
12610-12-12 G3/4"X14 20 12 29.9 18.5 27
A
C
G 12610A
BSP MALE 60° CONE SEAT
HOSE BORE DIMENSIONS
PART NO. THREAD E DN DASH 7 1 o1 q
12610A-04-04 G1/4"X19 6 04 20 38 19 4.3
12610A-06-06 G3/8"X19 10 06 24 45.5 22 7.5
12610A-08-08 G1/2"X14 12 08 28.5 54 27 9.9
12610A-12-12 G3/4"X14 20 12 32 69.5 32 15.5
F 13010-SP
BSPT MALE
E S1
DIMENSIONS
PART NO. THREAD E —

N DN DASH A C st
13010-02-04SP R1/8"X28 6 04 17.7 10 12
13010-04-04SP R1/4"X19 6 04 20.5 14.5 14
13010-04-06SP R1/4"X19 10 06 22 14.5 17
13010-06-06SP R3/8"X19 10 06 23.5 15 19
13010-08-08SP R1/2"X14 12 08 30.5 20 22
13010-12-12SP R3/4"X14 20 12 29.4 20 27

A
S
MZ/ e i |
L_[HPHT—“IEI 15610
LA NPT MALE
HOSE BORE DIMENSIONS

PART NO. THREAD E DN DASH A C 31
15610-02-04 Z1/8"X27 6 04 16.5 10.5 12
15610-04-04 Z21/4"X18 6 04 21.1 1= 14
15610-04-06 Z1/4"X18 10 06 22.6 15 14
15610-06-06 Z3/8"X18 10 06 22.6 16 19
15610-06-08 Z3/8"X18 12 08 22.6 16 19
15610-08-08 Z1/2"X14 12 08 29 19.5 22
15610-08-10 Z1/2"X14 16 10 29 19.5 22
15610-12-12 Z23/4"X14 20 | 30.7 19.5 27

C
@ ] 16710
B JIC MALE 74° CONE
HOSE BORE DIMENSIONS

PART NO. THREAD E DN DASH A C S
16710-04-04 7/16"X20 6 04 22 14 12
16710-06-04 9/16"X18 6 04 22 14.1 17
16710-06-06 9/16"X18 10 06 22 14.1 17
16710-08-06 3/4"X16 10 06 272 167 22
16710-08-08 3/4"X16 12 08 27.2 16.7 22
16710-10-10 7/8"X14 16 10 30 19.3 24
16710-10-12 7/8"X14 20 12 29.4 19.3 24
16710-12-08 1.1/16"X12 12 08 34.5 21.9 27
16710-12-10 1.1/16"X12 16 10 34 21.9 27
16710-12-12 1.1/16"X12 20 12 33.4 21.9 27

ZHEJIANG HUACHENG HYDRAULIC MECHINERY CO.,LTD.

ZHEJIANG HUACHENG HYDRAULIC MECHINERY CO. LTD.

111

112




Plug-in Hose Fitting

H Plug-in Hose Fitting

A A
C AN %
= L [
>4 17810 bl 26710
LA SAE MALE 90° CONE % s JIC FEMALE 74° CONE SEAT
'S1
HOSE BORE DIMENSIONS HOSE BORE DIMENSIONS
PART NO. THREAD E o e = = PART NO. THREAD E — = - - =
17810-04-04 7/16"X20 6 04 21 12 26710-04-04 7/16"X20 6 04 12,2 9 15
17810-06-06 5/8"X18 10 06 24.5 17 26710-05-04 1/2"X20 6 04 12.2 95 17
17810-08-08 3/4"'X16 12 08 29.5 22 26710-06-06 9/16"X18 10 06 125 10.5 19
17810-10-10 7/8"'X14 16 10 32.5 24 26710-08-06 3/4"X16 10 06 125 11 24
17810-12-12 1.1/16"X14 20 12 36.8 30 26710-08-08 3/4"X16 12 08 14.7 11 24
26710-10-08 7/8"X14 12 08 15.2 13 27
26710-10-10 7/8"X14 16 10 15.7 13 g}
L. A _ 26710-12-12 1.1/16"X12 20 12 17.4 15 32
26710-16-16 1.5/16"X12 25 16 18.6 16 41
v o
B> | T 22610
4 BSP FEMALE 60° CONE
HOSE BORE DIMENSIONS
PART NO. THREAD E = T = = ™ 27810 c
22610-04-04 G1/4"X19 6 04 19.5 5.5 19 SAE EEMALES0" CONE
22610-06-06 G3/8"X19 10 06 21.5 6.3 22
22610-08-08 G1/2"X14 12 08 24.5 7.5 5y HOSE BORE DIVMENSIONS
22610-12-12 G3/4"X14 20 12 29 10.9 32 PART NO. THREAD E DN DASH A C Y
27810-04-04 7/16"X20 6 04 5.8 9 15
27810-05-04 1/2"X20 6 04 13.7 9.5 17
27810-06-04 5/8"X18 6 04 13.7 113 o9
27810-06-06 5/8"X18 10 06 13.7 1.8 22
27810-08-06 3/4"X16 10 06 14.7 11 24
27810-08-08 3/4"X16 12 08 14.7 11 24
27810-10-08 7/8"X14 12 08 15.2 13 27
27810-12-12 | 1.1/16"X14 20 12 16.9 14.3 32

ZHEJIANG HUACHENG HYDRAULIC MECHINERY CO.,LTD.

ZHEJIANG HUACHENG HYDRAULIC MECHINERY CO. LTD.

113

114




H Plug-in Hose Fitting

22690K

90° BSP COMPACT FEMALE 60° CONE

H Rotary Hose Fitting

15611SW-S

NPT SHORT ROTARY MALE

AR B —_— HOSE BORE DIMENSIONS

; DN DASH A S2
15611SW-04-04S| Z1/4"x 18 6 04 279 19
15611SW-06-06S| Z3/8"x 18 10 06 27 22
15611SW-08-08S| Z1/2"x 14 12 08 30.9 27
15611SW-12-12S| Z3/4"x 14 20 12 39.4 32

HOSE BORE DIMENSIONS
PART NO. THREAD E DN DASH A C H S1 So
22690K-04-04 G1/4"X19 6 04 12 5:5 18.5 11 19
22690K-06-06 G3/8"X19 10 06 14 6.3 24 14 22
22690K-08-08 G1/2"X14 12 08 17 Tid 26.5 19 27
22690K-12-12 G3/4"X14 20 12 21.5 ] 10.9 33 27 32
S1
7
=
| £ 26790K
- f 90° JIC FEMALE 74° CONE SEAT
— 5%
O AET s HOSE BORE DIMENSIONS
' DN DASH A C H St S2
26790K-04-04 7/16"X20 6 04 g bt 7 4 9 18 11 17
26790K-06-04 9/16"X18 6 04 14.2 10.5 20.5 14 19
26790K-06-06 9/16"X18 10 06 15.5 10.5 21 16 19
26790K-08-06 3/4"X16 10 06 16 11 22.5 16 24
26790K-08-08 3/4"X16 12 08 157 11 22.5 19 24
26790K-10-10 7/8"X14 16 10 18.5 & 275 22 27
26790K-12-12 1.1/16"X12 20 12 215 15 30 27 32

ZHEJIANG HUACHENG HYDRAULIC MECHINERY CO.,LTD.

ZHEJIANG HUACHENG HYDRAULIC MECHINERY CO. LTD.

115

116




	1-实汇液压（改）_0001
	1-实汇液压（改）_0002
	1-实汇液压（改）_0003
	1-实汇液压（改）_0004
	1-实汇液压（改）_0005
	1-实汇液压（改）_0006
	1-实汇液压（改）_0007
	1-实汇液压（改）_0008
	1-实汇液压（改）_0009
	2-实汇液压（改）_0001
	2-实汇液压（改）_0002
	2-实汇液压（改）_0003
	2-实汇液压（改）_0004
	2-实汇液压（改）_0005
	2-实汇液压（改）_0006
	2-实汇液压（改）_0007
	2-实汇液压（改）_0008
	2-实汇液压（改）_0009
	2-实汇液压（改）_0010
	2-实汇液压（改）_0011
	2-实汇液压（改）_0012
	2-实汇液压（改）_0013
	2-实汇液压（改）_0014
	2-实汇液压（改）_0015
	2-实汇液压（改）_0016
	2-实汇液压（改）_0017
	2-实汇液压（改）_0018
	2-实汇液压（改）_0019
	2-实汇液压（改）_0020
	2-实汇液压（改）_0021
	2-实汇液压（改）_0022
	2-实汇液压（改）_0023
	2-实汇液压（改）_0024
	2-实汇液压（改）_0025
	2-实汇液压（改）_0026
	2-实汇液压（改）_0027
	2-实汇液压（改）_0028
	2-实汇液压（改）_0029
	2-实汇液压（改）_0030
	2-实汇液压（改）_0031
	2-实汇液压（改）_0032
	2-实汇液压（改）_0033
	2-实汇液压（改）_0034
	2-实汇液压（改）_0035
	2-实汇液压（改）_0036
	2-实汇液压（改）_0037
	2-实汇液压（改）_0038
	2-实汇液压（改）_0039
	2-实汇液压（改）_0040
	2-实汇液压（改）_0041
	2-实汇液压（改）_0042
	2-实汇液压（改）_0043
	2-实汇液压（改）_0044
	2-实汇液压（改）_0045
	2-实汇液压（改）_0046
	2-实汇液压（改）_0047
	2-实汇液压（改）_0048
	2-实汇液压（改）_0049
	2-实汇液压（改）_0050
	2-实汇液压（改）_0051
	2-实汇液压（改）_0052
	2-实汇液压（改）_0053
	2-实汇液压（改）_0054

